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'����� �������� 
 

�765LF4\ > %FD4F5L>>\ ?D>F5=< GF<F4\4 =4 6<6>F=G ED54<=G E5 D44< =4 >E=>6G �4?G>5 > 

<7D44< %FD4F5L>5 ?D>F5=5 GF<F4\4 �7<5=4 < 4>?G=4 �D>EF>D=>7 ??4=4 ?>4DGG\4 ?>E55=5 

=4<5=5 <=DD4EFDG>FGD=>7 >>D<4>D4 4GF>-?GF4 �-761, 45>=<F4 �>\4F5 3 �D5]<=4 =4 

6<6>F=G ED54<=G (>%?G655=< 7?4E=<> $%=, 5D. 132/22), �4>>=4 > EFD4F5L>>\ ?D>F5=< 

GF<F4\4 =4 6<6>F=G ED54<=G (>%?G655=< 7?4E=<> $%=, 5D. 135/2004 < 88/2010) < 4DG7<E 

D5?564=F=<E ?D>?<E4 >>\< D57G?<LG ?D54<5F=G <4F5D<\G. 

 

�765LF4\ > %FD4F5L>>\ ?D>F5=< G<=< 45> 4>>G<5=F4F<\5 >>\4 E5 ?D<?465 G7 �7<5=5 < 

4>?G=5 �D>EF>D=>7 ??4=4 ?>4DGG\4 ?>E55=5 =4<5=5 <=DD4EFDG>FGD=>7 >>D<4>D4 4GF>-?GF4 �-

761 45>=<F4 �>\4F5 3 �D5]<=4, II D474 (G 44]5< F5>EFG �������-4), < E44D6< 

<45=F<D<>4F<\G, >?<E < ?D>F5=G <>7G_<E 7=4G4\=<E GF<F4\4 =4 6<6>F=G ED54<=G 75>7 

D54?<74F<\5 ??4=4, >4> < 64D<\4=F5 D47<4FD4=5 < GE6>\5=5 =4 >E=>6G F<]564 < ?D>EF>D=>7 

>5GE64F4 �������-4. 

 

&<] %FD4F5L>5 ?D>F5=5 GF<F4\4 \5 >EF64D<64^5 ?D<=F<?4 >4D6<6>7 D476>\4 < 74LF<F5 

6<6>F=5 ED54<=5 G D4=>\ D47< <7D445 ??4=>64 < ?D>7D4<4 =4 >E=>6G >D<F<G>>7 E47?54464^4 

D5L5^4 ?D54?>65=<E �������-4. 

 

�765LF4\ > %FD4F5L>>\ ?D>F5=< E5 D44< ?4D4?5?=> E4 <7D44>< �4FDF4 ??4=4, G E>?44G E4 

EFD4F5L><<, ??4=E><< < 4DG7<< 4>>G<5=F<<4 6<L57 E<\5D4DE<\E>>7 =<6>4, <<L]5^5< 

=44?56=<E >D74=4 < >D74=<74F<\4 < �765LF4\5< E4 D4=>7 \46=>7 G6<44.  

�4 <7D44G �������-4 EG >>D<L_5=5 EFG4<\5 < 5?45>D4F< E4 D57G?F4F<<4 <EFD46<64^4 

6<6>F=5 ED54<=5 >546]5=<E G D4=<\5< ?5D<>4G 74 <7D44G ?D54<5F=>7 4>>G<5=F4. 
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I ������� �%���� %&$�&�,�� �$�&��� '&�&��� 

I/1 �$����� %��$���� � &�
��� �������-4 � ����%� %� �$'���    

 ����%��� ���'���&��� 

I/1.1 �$���� �%��� 

�7D44< �7<5=4 < 4>?G=4 �D>EF>D=>7 ??4=4 ?>4DGG\4 ?>E55=5 =4<5=5 <=DD4EFDG>FGD=>7 

>>D<4>D4 4GF>?GF4 �-761, 45>=<F4 �>\4F5 3 �D5]<=4 (>%?G655=< 7?4E=<> $%=, 5D. 10/20), E5 

?D<EFG?4 G E>?44G E4 �4?G>>< > <7D44< �7<5=4 < 4>?G=4 �D>EF>D=>7 ??4=4 ?>4DGG\4 

?>E55=5 =4<5=5 <=DD4EFDG>FGD=>7 >>D<4>D4 4GF>-?GF4 �-761, 45>=<F4 �>\4F5 3 

�D5]<=4 (>%?G655=< 7?4E=<> $%<, 5D. 144/22). ' =46545=>\ �4?GF< =46545=< EG D47?>7< 

74 <7<5=G < 4>?G=G ??4=E>>7 4>>G<5=F4, G E>?44G E4 G?4=>< 46.EF.1. < 5. �4>>=4 > 

??4=<D4^G < <77D44^<. 

�7<5=5 < 4>?G=5 �D>EF>D=>7 ??4=4 ?>4DGG\4 ?>E55=5 =4<5=5 <=DD4EFDG>FGD=>7 

>>D<4>D4 4GF>?GF4 �-761, 45>=<F4 �>\4F5 3 �D5]<=4 <7D4VG\G E5 G E>?44G E4: 

- �4>>=>< > ??4=<D4^G < <77D44^< (>%?G655=< 7?4E=<> $%=, 5D. 72/09, 81/09 - <E?D., 

64/10 - >4?G>4 '%, 24/11, 121/12, 42/13 - >4?G>4 '%, 50/13 - >4?G>4 '%, 98/13 - >4?G>4 

'%, 132/14, 145/14, 83/18, 31/19, 37/19 - 4D. 74>>=, 9/20, 52/21 < 62/23) < �D46<?=<>>< 

> E44D6<=<, =4G<=G < ?>EFG?>G <7D445 4>>G<5=4F4 ?D>EF>D=>7 < GD54=<EF<G>>7 

??4=<D4^4 (>%?G655=< 7?4E=<> $%=, 5D. 32/19); 

- �D46<?=<>>< > E44D6<=<, =4G<=G < ?>EFG?>G <7D445 4>>G<5=4F4 ?D>EF>D=>7 < 

GD54=<EF<G>>7 ??4=<D4^4 (>%?G655=< 7?4E=<> $%=, 5D. 32/19), >>\<< \5 >4D5V5=4 

E44D6<=4 < ?D>F54GD4 <7D445 ?D>EF>D=>7 ??4=4 ?>4DGG\4 ?>E55=5 =4<5=5; 

- �D46<?=<>>< > E44D6<=< < =4G<=G 6>V5^4 < >4D6464^4 &5=FD4?=>7 D57<EFD4 

??4=E><E 4>>G<5=4F4, �=D>D<4F<>=>7 E<EF5<4 > EF4^G G ?D>EF>DG < ?>>4?=>7 

<=D>D<4F<>=>7 E<EF5<4 < 4<7<F4?=>< D>D<4FG 4>EF46]4^4 ??4=E><E 4>>G<5=4F4 

(>%?G655=< 7?4E=<> $%=, 5D. 33/15), >>\<< E5 5?<65 ?D>?<EG\5 E44D6<=4 < =4G<= 

6>V5^4 < >4D6464^4 &5=FD4?=>7 D57<EFD4 ??4=E><E 4>>G<5=4F4, �=D>D<4F<>=>7 

E<EF5<4 > EF4^G G ?D>EF>DG < ?>>4?=>7 <=D>D<4F<>=>7 E<EF5<4 ??4=E><E 

4>>G<5=4F4, >4> < 4<7<F4?=<E D>D<4F4 4>EF46]4^4 ??4=E><E 4>>G<5=4F4. 

 

'E?>6< < E<5D=<F5 ??4=E><E 4>>G<5=4F4 6<L57 D544 < D476>\=<E EFD4F57<\4 74 <7D44G 

�������-4 E44D64=< EG G: 

1. �4>>=G > �D>EF>D=>< ??4=G $5?G5?<>5 %D5<\5 >4 2010. 4> 2020. 7>4<=5 (>%?G655=< 

7?4E=<> $%=, 5D. 88/10), >>\<< \5 GF6DV5=> 44 E5 <5VG EFD4F5L><< ?D<>D<F5F<<4 

=46>45 < 4>F<6=>EF< =4 ?>EF>\5_5< 4D646=>< ?GFG I D544 (>>D<4>DG 4GF>?GF4 �-761) 

�>\4F5 3 �DGL564F 3 �D4]56> 3 '4G4> < 44]5 �>6574 3 '6<F5 3 �>FD><4= (7D4=<F4 E4 

�>E=>< < %5DF57>6<=><) (�-761, �-5); 

2. 'D545< > GF6DV<64^G $57<>=4?=>7 ?D>EF>D=>7 ??4=4 74 ?>4DGG\5 �?4F<5>DE>>7 < 

�>D46<G>>7 G?D46=>7 >>DG74 (>%?G655=< 7?4E=<> $%=, 5D. 1/13), G >>\>\ EG ?D546<V5=5 

4>F<6=>EF< =4 D476>\G E4>5D4_4\=5 <=DD4EFDG>FGD5, < F> =4: 4D646=>< ?GFG I D544 

(<77D44^4 4GF>?GF4 �-763) 45> DGF5 4(SEETO): �5>7D44 3 '4G4> 3 �>6574 3 �D<]5 3 

�64^<F4 3 %\5=<F4 (�G74 ?>]4=4) 3 �>]4D5 (7D4=<F4 E4 &D=>< �>D><) < 4D646=>< 

?GFG I D544 (>>D<4>DG 4GF>?GF4, �-761) �>\4F5 3 �DGL564F 3 �D4]56> 3 '4G4> 3 �>6574 

3 '6<F5 3 �>FD><4= (7D4=<F4 E4 �>E=>< < %5DF57>6<=><) (�-761, �-5); =46>4< E5 44 

_5 ?>F5=F<\4?=< >>D<4>D< 4GF>?GF564 �-761 (74?44=><>D46E><) < �-763 (�5>7D44 3 

�G6=< �44D4=), >>\< E5 G>DLF4\G >>4 �D5]<=5 < �>6575 ?>65_4F< E4>5D4_4\=G 

4>EFG?=>EF ?>4DGG\4 < ?>5>]L4F< 6575 E4 EGE54=<< 4D6464<4 < D57<>=<<4; 
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3. 'D545< > GF6DV<64^G $57<>=4?=>7 ?D>EF>D=>7 ??4=4 74 ?>4DGG\5 ,G<44<\E>>7, 

�><>D46E>>7, $4L>>7 < $4E<=E>>7 G?D46=>7 >>DG74 (>%?G655=< 7?4E=<> $%=, 5D. 

39/14), G >>\>\ E5 <5VG ?D<>D<F5F=<< D5L5^<<4, G >>6<DG <=DD4EFDG>FGD=<E E<EF5<4, 

=46>4< 44 _5 E5 >4D6<6< D476>\ 4DG<E>>7 E4>5D4_4\4, >4> =4\74EFG?]5=<\57 6<44 

E4>5D4_4\4 =4 ??4=E>>< ?>4DGG\G, 74E=<64F< =4 ?D<=F<?<<4 �D>EF>D=>7 ??4=4 

$5?G5?<>5 %D5<\5, <5VG >>\<<4 \5 ?D546<V5=4 < <7D444 ?D>\5>F=5 4>>G<5=F4F<\5 < 

?>G5F4> D54?<74F<\5 >>D<4>D4 4GF>-?GF4 �-761, �>\4F5 3 �DGL564F 3 �D4]56> 3 

�D5]<=4; 

4. 'D545< > GF6DV<64^G �D>EF>D=>7 ??4=4 ?>4DGG\4 ?>E55=5 =4<5=5 <=DD4EFDG>FGD=>7 

>>D<4>D4 4GF>?GF4 �-761, 45>=<F4 �>\4F5 3 �D5]<=4. 

 

������� E5 4>=>E< D47=> < E44D6< 45F4]=G D47D44G. �7D44>< �7<5=4 < 4>?G=4 

�D>EF>D=>7 ??4=4, EF6>D<_5 E5 >47>64D4\G_< ??4=E>< >E=>6 G E<<E?G 4<D5>F=>7 

E?D>6>V5^4 <74464^5< ?>>4F<\E><E GE?>64 G E>?44G E4 74>>=><. �7<5=5 < 4>?G=5 

�D>EF>D=>7 ??4=4 _5 E5 E?D>6>4<F< ?>>4F<\E><< GE?>6<<4 < ?> ?>FD55< >47>64D4\G_<< 

4>>G<5=F<<4 ?D>EF>D=>7 < GD54=<EF<G>>7 ??4=<D4^4. 

 

I/1.2 ����� � &�
 ��$��� �������-4 

�7<5=5 < 4>?G=5 �����-4 5<_5 74E=>64=5 =4 ??4=E>>\, EFG4<\E>>\, F5E=<G>>\ < 4DG7>\ 

4>>G<5=F4F<\<, D57G?F4F<<4 4>E444L^<E <EFD46<64^4, 6465_<< 4>>G<5=F<<4 G 

$5?G5?<F< %D5<\<, >4> < =4 4>E444L^5< E?D>6>V5^G �D>EF>D=>7 ??4=4 ?>4DGG\4 

?>E55=5 =4<5=5 <=DD4EFDG>FGD=>7 >>D<4>D4 4GF>?GF4 �-761, 45>=<F4 �>\4F5 3 �D5]<=4. 

�D>EF>D=< ??4= ?>4DGG\4 ?>E55=5 =4<5=5 (�����) ?>FD55=> \5 <7<5=<F< < 4>?G=<F< G F<]G 

D54?<74F<\5 ??4=E><E D5L5^4 74 >5\5>F5 4GF>?GF4 =4 45?>6<<4 FD4E5 =4 >>\<<4 \5 4>L?> 

4> <7<5=4 G F>>G D47D445 F5E=<G>5 4>>G<5=F4F<\5 < <77D44^5, >4> < 74 >>>?=< ?D>EF>D 

>>\< \5 =5>?E>44= D44< >EF64D5^4 DG=>F<>=4?=5 F5?<=5 G>]GGG\G_< ?D<?47>V464^5 

F5E=<G><E D5L5^4 E<4D>F5E=<G>>7 GD5V5^4 <>DD>?>L><< < 75>?>L><< GE?>6<<4 =4 

F5D5=G. 

 

�7<5=5 < 4>?G=5 �����-4 <=DD4EFDG>FGD=>7 >>D<4>D4 4GF>-?GF4 �-761 45>=<F4 �>\4F5 3 

�D5]<=4, II D474 >5GE64F4\G: 

�) �7<5=5 < 4>?G=5 �����-4 74 >5\5>F5 4GF>?GF4 

÷ �5=<65?<E4=4 D4E>DE=<F4 >�D5]<=4= 

÷ �5=<65?<E4=4 D4E>DE=<F4 >�D54= 

÷ �5=<65?<E4=4 D4E>DE=<F4 >�D^4G>4 54^4= 

÷ �5=<65?<E4=4 D4E>DE=<F4 >&DEF5=<>= 

÷ �>EF ?D5>> �4?44=5 �>D465 3 >�>\E<^5= 

÷ �>44F=< >4=4?< 74 E<EF5< 4D5=46=<E <E?GEF4 4GF>-?GF4 

÷ �D>E5> >4=4?4 74 D5>G %?4F<=G 

÷ �>EF ?D5>> D5>5 �4?44=4 �>D464 >>4 �DG4\564F4 

÷ �5=<65?<E4=4 D4E>DE=<F4 >�4FD74= 

�) �7<5=5 < 4>?G=5 �����-4 74 E<4D>F5E=<G>> GD5V5^5 
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�) �7<5=5 < 4>?G=5 �����-4 74 >5\5>F5 4GF>?GF4 

÷ �5=<65?<E4=4 D4E>DE=<F4 >�D5]<=4= - ?>EF>\5_4 

�7<5=4<4 < 4>?G=4<4 �D>EF>D=>7 ??4=a FD554 ?D546<45F< ?D5>5?<>>64^5 ?>EF>\5_57 

D5L5^4 G>DLF4\4 4D646=>7 ?GF4 IA D544 5D. 2 (�-763) < ??4=<D4=>7 4D646=>7 ?GF4 IA 

D544 5D.5 (�-761) < G><44^5 ?>EF>\5_5 6575 ?GF4 IA D544 5D.2 E4 4D646=<< ?GF5< IIA 

D544 5D. 22. 

÷ �5=<65?<E4=4 D4E>DE=<F4 >�D54= 

�?4=E>>< 4>>G<5=F4F<\>< < �45\=<< ?D>\5>F><, G 7>=< 45=<65?<E4=>7 G>DLF4\4 

?D<>]GG5=>7 ?GF4 =4 45=<65?<E4=G D4E>DE=<FG >�D54= E4 65?57=<G>>< ?DG7>< 

%F4?4_ 3 �D4]56> 3 �>6574 < ?>>4?=<< ?GF5<, ?D546<V5= \5 ?>46>6^4>. &D5=GF=> 

D5L5^5 =<\5 D4F<>=4?=>, \5D ?D546<V4 456<\4F<\G ?GF4 >>\4 ?D>?47< <E?>4 ?DG75 < 

464 ?GF4, F5 74EF564 <77D44^G 4G5>><E GE5>4 >>> 500 m 4G6<=5 < 7 m 4G5<=5, >4>> 

5< E5 =<65?5F4 ?GF4 E?GEF<?4 =4 74EF564=G >>FG 75>7 ?D>?474 >D>7 ?>46>6^4>. 

÷ �5=<65?<E4=4 D4E>DE=<F4 >�D^4G>4 54^4= 

�?4=E>>< 4>>G<5=F4F<\>< < �45\=<< ?D>\5>F>< ?D546<V5= \5 =446>6^4> G 7>=< 

45=<65?<E4=5 D4E>DE=<F5 >�D^4G>4 54^4=. $56<7<>=4 >><<E<\4 74 EFDGG=G >>=FD>?G 

F5E=<G>5 4>>G<5=F4F<\5 \5 G E6>< �765LF4\G =465?4 44 D5L5^5 45=<65?<E4=5 

D4E>DE=<F5 =<\5 <76>4]<6>, < 44 \5 ?>FD55=>, G 44]>\ D47D44< F5E=<G>5 

4>>G<5=F4F<\5, ?D5<E?<F4F< <>7G_=>EF <7<5=5 D5L5^4 ?GF=>7 >5\5>F4 =446>6^4>4 

G ?>46>6^4>, G<<5 5< E5 >557554<?> 5>>=><E>< < F5E=<G>< ?>6>]=<\5 D5L5^5 

?D54<5F=5 45=<65?<E4=5 D4E>DE=<F5 

÷ �5=<65?<E4=4 D4E>DE=<F4 >&DEF5=<>= 

�5=<65?<E4=4 D4E>DE=<F4 >&DEF5=<>= E5 ?>657G\5 E4 ?>EF>\5_>< ?GF=>< <D56>< ?D5>> 

E4>5D4_4\=<F5 >>\4 E5 45?>< ?D5>?4?4 E4 G?<F>< $44=<G>4 < ?>657G\5 =4 G?<FG 

�^57<^5 �<?<F5 < %65F>7 %465 (�� IIa188) ?D5>> FD>>D4>5 D4E>DE=<F5. �465_< ??4= 

< �45\=< ?D>\5>4F =<EG 4> >D4\4 GE47?4L5=< G 45?G 657=5 E4>5D4_4\=<F5. &4>>V5, 

<5D>< D56<7<>=5 >><<E<\5, =4?>65=> \5 44 E5 D47<>FD< =4G<= ?>657<64^4 

?>>4?=<E E44D64\4 =4 5D<>4E4= =4G<=. 

÷ �>EF ?D5>> �4?44=5 �>D465 3 >�>\E<^5= 

' >>6<DG D54?<74F<\5 ?D>\5>F4 <77D44^5 4GF>?GF4 �-761, ?D>\5>F>64=4 \5 456<\4F<\4 

?GF4 =4 km 101+644 4GF>?GF4. �4>> 5< E5 ><>7G_<> ?D<EFG? E5?G �>\E<^5, ?>FD55=4 \5 

<77D44^4 =>6>7 <>EF4 ?D5>> �4?44=5 �>D465. 

÷ �>44F=< >4=4?< 74 E<EF5< 4D5=46=<E <E?GEF4 4GF>?GF4 

�D5<4 ??4=E>>\ 4>>G<5=F4F<\< < �45\=>< ?D>\5>FG, 4D5=46=< <E?GEF< E4 5G4G_57 

4GF>?GF4, =4 ?>\54<=<< 45>=<F4<4, ?D546<V5=< EG >D>7 G?>\=4 ?>]4. �5>7 

75>F5E=<G><E >4D4>F5D<EF<>4 F?4, =4>>= 45F4]=5 4=4?<75, D56<4<D4=> \5 F5E=<G>> 

D5L5^5. �>44F=< 4D5=46=< >4=4?< EG ?>FD55=< 44 6>4G <7 E5?4D4F>D4 E?D>654G 4> 

=4\5?<657 D5F<?<\5=F4. 

÷ �D>E5> >4=4?4 74 D5>G %?4F<=G 

' >>6<DG D54?<74F<\5 ?D>\5>F4 <77D44^5 4GF>?GF4 �-761, ?D546<V5= \5 4>44F=> 

?D>E5> >4=4?4 74 D5>G %?4F<=G. 

�4 ?>F57G >4 EF. km 61+880 4> EF. km 62+260, ?D<D>4=< <54=44D D5>5 %?4F<=5 

?D<5?<6464 E5 FDG?G �GF>?GF4 =4 >>> 15 m. �45\=<< ?D>\5>F>< >64 ?>>4F<\4 =<\5 

>5D4V5=4, <5VGF<<, \46<?4 E5 ?>FD554 44 E5 =4 ?D54<5F=>\ ?>>4F<\< <76DL< 

D57G?<E4^5 >>D<F4 G7 >5?474^5 >4>> 5< E5 E?D5G<?4 5D>7<\4 >>D<F4 < 44]4 

?D>7D5E<\4 <54=4D4 >4 FDG?G �GF>?GF4. 'E6>\5=> \5 >>D<F> >4 >4<5=4 G 55F>=G 

455]<=5 0.3 m, L<D<=5 G 4=G 2 m, 4G5<=5 1.5 m E4 ?44>< EFD4=4 1:1.5, G ?44G >4 

0.1%. 
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÷ �>EF ?D5>> D5>5 �4?44=4 �>D464 >>4 �DG4\564F4 

�4 ?>>4?=>< ?GFG <7<5VG E5?4 �DG4\564F4 < �DL<=4F4, =4 F5D<F>D<\< �D444 '4G4>, 

=4?47< E5 <>EF ?D5>> D5>5 �4?44=4 �>D464, >>\< ?>657G\5 4D646=< ?GF I� D544 5D. 22 

< 4D646=< ?GF II� D544 5D. 179. �4>5D5=<< <45\=<< ?D>\5>F><, G 7>=< ?D54<5F=>7 

<>EF4, ?D546<V5=< EG D44>6< =4 E<4D>F5E=<G>>< GD5V5^G D5>5 �4?44=4 �>D464, =4 

km 95+800 4GF>?GF4 (r.km125+557). �<4\G_< G 6<4G 44 \5 ?D54<5F=< <>EF, GE?54 

5G\<G=E ?>??464, =5446=> EDGL5= < 44 \5 E4>5D4_4\ ?D5>> ^574 FD5=GF=> 

>5GEF46]5=, =5>?E>4=4 \5 D5>>=EFDG>F<\4 <EF>7 </<?< <77D44^4 =>6>7 <>EF4. 

÷ �5=<65?<E4=4 D4E>DE=<F4 >�4FD74= 

' 7>=< ?5F]5 �4FD74, ??4=<D4= \5 5G4G_< G>DLF4\ 4GF>-?GFE><E ?D464F4 4D646=>7 

?GF4 I� D544 5D>\ 5 < ??4=<D4=>7 4GF>-?GFE>>7 >>D<4>D4 �4F>G<=4 3 �D47G\564F 3 

�=<_, 4D646=>7 ?GF4 I� D544 5D>\ 15. �>657<64^5 ??4=<D4=<E ?GF=<E ?D464F4 

>EF64D<_5 E5 45=<65?<E4=>< D4E>DE=<F>< >>\4 \5 45D<=<E4=4 < ?D5G75F4 <7 

�D>EF>D=>7 ??4=4 ?>4DGG\4 ?>E55=5 =4<5=5 <=DD4EFDG>FGD=>7 >>D<4>D4 5D75 

E4>5D4_4\=<F5 I� D544 >4 �D47G\56F4 4> 6575 E4 4D646=<< ?GF5< IA D544 �5 (�-761), 

(>%?G655=< 7?4E=<> $5?G5?<>5 %D5<\5=, 5D. 46/2023). 

�) �7<5=5 < 4>?G=5 �����-4 74 E<4D>F5E=<G>> GD5V5^5 

' �D>EF>D=>< ??4=G ?>4DGG\4 ?>E55=5 =4<5=5 <=DD4EFDG>FGD=>7 >>D<4>D4 4GF>?GF4 �-

761, 45>=<F4 �>\4F5 3 �D5]<=4 (>%?G655=< 7?4E=<> $%=, 5D. 144/22), =<EG ?D5F<7<D4=5 

?>>4F<\5 ?>74\<<LF4 < >4?474?<LF4 <4F5D<\4?4. �>74\<<LF4 < >4?474?<LF4 <4F5D<\4?4 

FD5F<D4=4 EG =4 >4D5V5=< =4G<= G F5>EFG4?=>< 45?G =4?><5=>< 44 _5 E5 F5E=<G>>< 

4>>G<5=F4F<\>< >4D54<F< ^<E>65 ?>>4F<\5 < >EF4?< F5E=<G>< ?4D4<5FD<, 4 44 _5 \46=< 

<=F5D5E 74 ^<E>6G 5>E?D>?D<\4F<\G 5<F< GF6DV5= G E>?44G E4 �4>>=>< > GF6DV<64^G 

\46=>7 <=F5D5E4 < ?>E55=<< ?>EFG?F<<4 D44< D54?<74F<\5 ?D>\5>F4 <77D44^5 

<=DD4EFDG>FGD=>7 >>D<4>D4 4GF>?GF4 E-761, 45>=<F4 �>\4F5 3 �D5]<=4. ' 7D4D<G><< 

?D<?>7<<4, ?>74\<<LF4 < >4?474?<LF4 =<EG ?D<>474=4. �4<<5, 5G4G_< >>D<4>D 4GF>?GF4 

E-761, 45>=<F4 �>\4F5 3 �D5]<=4 =4\65_<< 45?>< ?D>?47< 4>?<=>< �4?44=5 �>D465. 

&D4E4 ??4=<D4=>7 4GF>?GF4 E5 7>F>6> F5?>< 4G6<=>< =4?47< G 7>=< >>\4 \5 <7?>65=4 

??46]5^G 65?<><E 6>44 �4?44=5 �>D465, 4 =4 65?<>>\ 4G6<=< 4<D5>F=> >>=F4>F<D4 E4 

D5G=<< F>>>< (=4 <5EF<<4 G>DLF4^4 < G 7>=4<4 745 \5 FD4E4 4GF>?GF4 5?<7G D5G=>7 

>>D<F4). �5\5>F< E<4D>F5E=<G>>7 GD5V5^4 �4?44=5 �>D465 74G7<<4\G 6<L5 >4 100 km 

F>>4 �4?44=5 �>D465 < <77D44^4 >6<E >5\5>4F4 E5 6DL< G GE?>6<<4 <=F5D4>F<\5 E4 

D44>6<<4 =4 <77D44^< 4GF>?GF4, >4> < G >><??5>E=<< 5>>?>L><< < 4DGLF65=<< 

GE?>6<<4. 

�4 <77D44^G >�>D46E>>7 >>D<4>D4= (4GF>?GF, >5\5>F< E<4D>F5E=<G>>7 GD5V5^4 < 4DG7>) 

?>FD55=5 EG 65?<>5 >>?<G<=5 ?5E>>6<F>-L]G=>>6<F>7 <4F5D<\4?4 >>\5 E5 <>D4\G 

>557554<F< <7 >47>64D4\G_<E ?>74\<<LF4 (=5>>?<>> 45E5F<=4 <<?<>=4 >G5=<E <5F4D4), 

4 F4>>V5 _5 E5 \46<F< < 7=4G4\=4 >>?<G<=4 6<L>4 <4F5D<\4?4 <7 <E>>?4 >>\5 FD554 

>4?>6<F< =4 ?D<6D5<5=4 < FD4\=4 >4?474?<LF4. �4>>= 746DL5F>4 5>E??>4F4F<\5 

?D54<5F=<E ?>74\<<LF4 < FD4\=<E >4?474?<LF4, ?>FD55=> \5 GD54<F< (D5>G?F<6<E4F< <?< 

4>44F=> <77D44<F<) ?D>EF>D5 ?>74\<<LF4 < >4?474?<LF4 G E>?44G E4 =>6>< =4<5=><. 

�>74\<<LF4 < >4?474?<LF4 <4F5D<\4?4 E5 75=5D4?=> =4?475 G ??46=>\ 7>=< �4?44=5 

�>D465, >4=>E=> G 7>=< G >>\>\ �46=> 6>4>?D<6D54=> ?D54G75_5 >%D5<\46>45= <7 

�5>7D444 G?D46]4 6>4=<< 75<]<LF5< < 6>4=<< >5\5>F<<4 G \46=>\ E6>\<=<, 4 G E>?44G E4 

�4>>=>< > 6>44<4. �E<< F>74, GE6>\5= \5 EF46 >>\< \5 ?D><74L4> <7 %FG4<\5 > ?D>F5=< 

GF<F4\4 =4 6<6>F=G ED54<=G < 4DGLF6> (�SIA) 44 E5 =4\<4^5 <>7G_5 <5^4 ?D<D>4=> 

EF4^5 �4?44=5 �>D465 G7 >�>D46E>< >>D<4>D=, >4=>E=> 44 E5 7>=4<4 ?D>E5G5=<E 

<54=44D4 < >>>?=>7 ?D>EF>D4 <>D4 ?>E65F<F< >47>64D4\G_4 ?46^4 >55755V5^5< 

4>5D>7 EF4^4 6>44 < 6<6>F=5 ED54<=5 (=4\65_< 5D>\ ?D>E5G5=<E <54=44D4 FD554 
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744D64F< G >5?<>G 6>4=<E F5?4 E4 E?>5>4=>< 6>45=>< ?>6DL<=><), < 44 E5 =>6> 

>>D<F> (?>?D5G=< ?D5E5>, ?>4G6=< ?44, <4F5D<\4? >4 >>74 E5 7D44< D57G?4F<\4) 

D>D<<D4 F4>> 44 LF> 6<L5 ?<G< =4 ?>EF>\5_5 >>D<F>, ?D< G5<G FD554 E4=<D4F< F5D5= 

>>\< \5 4564EF<D4= GE?54 =5GD5V5=5 5>E??>4F4F<\5 ?5E>4 < L]G=>4 =4 �4?44=>\ �>D46<. 

�D>EF>D=< ??4= E5 >4=>E< =4 ?>>4F<\5 74 5>E??>4F4F<\G ?5E>>6<F>-L]G=>>6<F>7 

<4F5D<\4?4 < ?>>4F<\5 74 >4?474^5 <4F5D<\4?4, G>]GGG\G_< < >>>?=< ?D>EF>D >>\< \5 

=5>?E>44= D44< >EF64D5^4 DG=>F<>=4?=5 F5?<=5 < 744>6>]5^4 74EF564 >>\< ?D><EF<GG 

<7 %FG4<\5 > ?D>F5=< GF<F4\4 =4 6<6>F=G ED54<=G < 4DGLF6> (>>>?=< ?D>EF>D E5 >4=>E< 

=4 <=F5D4>F<\G 4>64F>D<\4 =4 ?>>4F<\4<4 ?>74\<<LF4 =4>>= 5>E??>4F4F<\5 < D5>5 

�4?44=5 �>D465, GD5V5^5 ?D>E5G5=<E <54=44D4 < F5D5=4 >>\< \5 4564EF<D4= 

5>E??>4F4F<\>< L]G=>4 < 4D.). �EF<G5 E5 44 45?>6< ?D>\5>F>64=<E >5\5>4F4 

E<4D>F5E=<G>>7 GD5V5^4 <7?475 <7 >5GE64F4 74 4<D5>F=> E?D>6>V5^5 �����-4, LF> \5 

?>E?54<F4 ?D<?47>V464^4 F5E=<G><E D5L5^4 E<4D>F5E=<G>>7 GD5V5^4 74EF56<<4 >>\< 

?D><EF<GG <7 �SIA, >4> < <>DD>?>L><< < 75>?>L><< GE?>6<<4 >>\< EG GEF4=>6]5=< 

<EFD46=<< D44>6<<4 =4 F5D5=G, LF> \5 E65 45F4]=> 4=4?<7<D4=> =4 E<4D>?>L><< < 2� 

E<4D4G?<G><< <>45?<<4. %47?4E=> F><5, ?D>EF>D=< >5GE64F �7<5=4 < 4>?G=4 

�D>EF>D=>7 ??4=4 E5 ?D5>?4?4 E4 ?D>EF>D>< =4 >><5 E5 =4?475 45?>6< >5\5>4F4 

E<4D>F5E=<G>>7 GD5V5^4 >>\< <7?475 <7 >5GE64F4 74 4<D5>F=> E?D>6>V5^5 ?>EF>\5_57 

�����-4. 

%<4D>F5E=<G>> GD5V5^5 F5D5=4 G >?<E4=>< ?D>EF>D=>< >5GE64FG ?>4D47G<564 <77D44^G 

6<L5 6>4=<E >5\5>4F4 74 GD5V5^5, >>D<L_5^5 < 74LF<FG >4 LF5F=>7 45\EF64 6>44 < 

D5>G?F<64F<\G F5D5=4, 4 >>\< EG, G E>?44G E4 �4>>=>< > 6>44<4, 7D4V56<=E>< < 4DG7< >5\5>F< 

< G<=5 F5E=<G>G, >4=>E=> F5E=>?>L>G F5?<=G < E?G65 74 >546]4^5 6>4=5 45?4F=>EF<. ' F>< 

E<<E?G, <>7G_4 =4<5=4 >6<E 6>4=<E >5\5>4F4 \5 GD5V5^5 6>4>F>>4, 74LF<F4 >4 ?>??464, 

>>D<L_5^5 6>44 < 4D. �>4=< >5\5>F< <>7G <<4F< < 4DG75 ?D4F5_5 =4<5=5 557 =4DGL464^4 

?D<>D<F5F=<E =4<5=4 G DG=>F<\< 6>4=5 45?4F=>EF<. 

�>4=< >5\5>F< 74 GD5V5^5, >>D<L_5^5 < 74LF<FG >4 LF5F=>7 45\EF64 6>44 < 

D5>G?F<64F<\G F5D5=4 E5 =4?475 =4 E5>F>D<<4 < E5>F<\4<4 45D<=<E4=<< G �7<5=4<4 < 

4>?G=4<4 �����-4 <=DD4EFDG>FGD=>7 >>D<4>D4 4GF>?GF4 �-761, 45>=<F4 �>\4F5 3 

�D5]<=4. 

 

%?<>4 1.  �4?44=4 �>D464 < ?>45?4 FD4E5 4GF>-?GF4 �-761 =4 E5>F>D5 < E5>F<\5 
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÷ %5>F>D 1: �>\4F5 3 �>L56< (�DGL564F) (km 0 3 km 27+600 ?> FD4E< 4GF>-?GF4), D5G=4 

45>=<F4 1 (km 0+000 3 km 22+500): 

- %5>F<\4 1 (km 0+000 3 km 8+830), D5G=4 ?>445>=<F4 1 (km 0+000 3 km 2+000 

�4?44=5 �>D465 + 45>=<F5 �5?<>5 �>D465 < �G6=5 �>D465), >4 ?5F]5 �>\4F5 4> 

<>EF4 ?D5>> �G6=5 �>D465; 

- %5>F<\4 2 (km 8+830 3 km 16+722), D5G=4 ?>445>=<F4 2 (km 2+000 3 km 11+000), >4 

<>EF4 ?D5>> �G6=5 �>D465 4> �4>D5L4=4; 

- %5>F<\4 3 (km 16+722 3 km 27+600), D5G=4 ?>445>=<F4 3 (km 11+000 3 km 22+500) 

>4 �4>D5L4=4 4> �>L564. 

÷ %5>F>D 2: �>L56< (�DGL564F) 3 �4D4=< (km 27+600 3 km 81+476,861 ?> FD4E< 4GF>-

?GF4), D5G=4 45>=<F4 2 (km 22+500 3 km 100+750): 

- %5>F<\4 4 (km 27+600 3 km 41+528,24), D5G=4 ?>445>=<F4 4 (km 22+500 3 km 

46+150); 

- %5>F<\4 5 (km 41+528,24 3 km 56+073,87), D5G=4 ?>445>=<F4 5 (km 46+150 3 km 

62+400) >4 �5465V5 4> �D^4G>5 �4^5; 

- %5>F<\4 6 (km 56+073,87 3 km 67+680,41), D5G=4 ?>445>=<F4 6 (km 62+400 3 km 

80+400) >4 �D^4G>5 �4^5 4> �D55; 

- %5>F<\4 7 (km 67+680,41 3 km 81+476,86), D5G=4 ?>445>=<F4 7 (km 80+400 3 km 

100+750) >4 �D55 4> �4D4=4. 

÷ %5>F>D 3: �4D4=< 3 �D5]<=4 (km 79+000 3 km 109+663,8); $5G=4 45>=<F4 3 

(km 100+750 3 km 138+400): 

- %5>F<\4 8 (km 79+000 3 km 97+000), D5G=4 ?>445>=<F4 8 (km 100+750 3 km 

127+150) >4 �4D4=4 4> �DG4\564F4; 

- %5>F<\4 9 (km 97+000 3 km 109+663,8), D5G=4 ?>445>=<F4 9 (km 127+150 3 km 

138+400) >4 �DG4\564F4 4> �D5]<=5. 

 

I/1.3 ���% �$���&� ����%��� ���$''�� 

�?LF5 <=D>D<4F<\5 > ?D>\5>FG >�>D46E>< >>D<4>D= (�GF>?GF �-761) 

�D>\5>4F <77D44^5 <=DD4EFDG>FGD=>7 >>D<4>D4 4GF>-?GF4 �-761, 45>=<F4 �>\4F5 3 

�DGL564F 3 �4D4=< 3 �D5]<=4 ('4G4>), E4 D57G?4F<\>< D5>5 �4?44=5 �>D465 < ?D<F>>4 < 

<77D44^>< F5?5>><G=<>4F<>=5 <=DD4EFDG>FGD5 4G6 >>D<4>D4 4GF>-?GF4 \5 ?D>\5>4F >4 

7=4G4\4 74 $5?G5?<>G %D5<\G (�4>>= > GF6DV<64^G \46=>7 <=F5D5E4 < ?>E55=<< 

?>EFG?F<<4 D44< D54?<74F<\5 ?D>\5>F4 <77D44^5 <=DD4EFDG>FGD=>7 >>D<4>D4 4GF>-?GF4 E-

761, �5>=<F4 �>\4F5 3 �D5]<=4 (>%?G655=< 7?4E=<> $%=, 5D. 49 >4 8. \G?4 2019). 

�D5<4 'D545< > GF6DV<64^G �D>EF>D=>7 ??4=4 ?>4DGG\4 ?>E55=5 =4<5=5 

<=DD4EFDG>FGD=>7 >>D<4>D4 4GF>-?GF4 �-761, 45>=<F4 �>\4F5 3 �D5]<=4 (>%?G655=< 

7?4E=<> $%=, 5D. 10 >4 6. D55DG4D4 2020.), GF6DVG\G E5 >E=>65 >D74=<74F<\5, >>D<L_5^4, 

GD5V5^4 < 74LF<F5 ?>4DGG\4 <=DD4EFDG>FGD=>7 >>D<4>D4 4GF>?GF4 �-761, 45>=<F4 

�>\4F5 3 �D5]<=4 =4 45?>6<<4 F5D<F>D<\4 7D44>64: �D4]564, �DGL56F4 < '4G>4, >4> < 

>?LF<=4: �4D64D<=, �D^4G>4 �4^4, &DEF5=<> < �<_564F. 

�G4G_< >>D<4>D 4GF>-?GF4 �-761 >4 �>\4F4 4> �D5]<=5 =4\65_<< 45?>< ?D>?47< 

4>?<=>< �4?44=5 �>D465, 4 <4^<< 45?>< < �G6=5 < �5?<>5 �>D465. 

�D5<4 �����-G, D54?<74F<\>< 4GF>-?GF4 �-761 G5?46<_5 E5 =54>EF4F4> 6574 <7<5VG 

4D646=<E <47<EFD4?=<E ?GF=<E ?D464F4: �>D<4>D4 10 < �54DE>5 <47<EFD4?5. 

$54?<74F<\4 4GF>-?GF4 �-761 =4 F5D<F>D<\< ?D54<5F=<E >?LF<=4 <<4_5 7=4G4\=5 GF<F4\5 =4 
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5?<65 < 44]5 >>DG65^5 ?> ?<F4^G D56<<4 >>D<L_5^4 ?D>EF>D4, 45<>7D4DE><E 

>D5F4^4 < GF<F4\4 =4 ?D<6D54=< D476>\. 

,<D< 7=4G4\ 4GF>?GFE>>7 >>D<4>D4 >7?544 E5 G ?>657<64^G L<D57 GF<F4\=>7 ?>4DGG\4, F\. 

&GDE>5, �G74DE>5, %D5<\5, �>E=5 < %5DF57>6<=5 < %D64FE>5, >4> < �>D<4>D4 10 (%4?75GD7 

3 �47D55 3 �5>7D44 3 �<L 3 %>>?]5 3 %>?G=), E4 ??4=<D4=<< >>D<4>D>< �-763 �5>7D44 3 

�G6=< �44D4=, F\. �44D4=E><< ?D<>54]5< < ?G>>< �4D, >4> 7=4G4\=<< D>5=>-

FD4=E?>DF=<< F5=FD><. 

�G6<=4 4GF>-?GF4 >4 �>\4F4 4> �D5]<=5 \5 >>> 110 km, 4>> 4G6<=4 F>>4 �4?44=5 �>D465 

=4 >6>< ?>F57G <7=>E< >>> 138 km. �GF>-?GF E-761 \5 ?>45]5= =4 3 E5>F>D4 < 9 E5>F<\4. 

�7<5=5 < 4>?G=5 �D>EF>D=>7 ??4=4 3 4DG74 D474 

�7<5=5 < 4>?G=5 �D>EF>D=>7 ??4=4 >5GE64F4\G 45?>65 F5D<F>D<\4 7D44>64 �D4]564, 

�DGL56F4 < '4G>4, F5 >?LF<=4 �4D64D<=, �D^4G>4 �4^4, &DEF5=<> < �<_564F. 

 

%?<>4 2.  �>?>64\ ??4=E>>7 ?>4DGG\4 

 

�7<5=5 < 4>?G=5 �D>EF>D=>7 ??4=4 3 4DG74 D474 >5GE64F4\G E?545_5 >4F4EF4DE>5 

?4DF5?5: 

- =4 ?>4DGG\G \54<=<F5 ?>>4?=5 E4<>G?D465 >?LF<=5 �<_564F: �.�. �D75=<F4, �.�. 

�D44 %F4?4_, �.�. %F4?4_, �.�. �GG<=4, �.�. �<_564F < �.�. �>\4F5; 

- =4 ?>4DGG\G \54<=<F5 ?>>4?=5 E4<>G?D465 >?LF<=5 �4D64D<=: �.�. �>L^4=5, �.�. 

�4E>4D5, �.�. �4D64D<= (%5?>); 

- =4 ?>4DGG\G \54<=<F5 ?>>4?=5 E4<>G?D465 7D444 �DGL56F4: �.�. �>^GE, �.�. �5?4 

�>44, �.�. �G>]<=, �.�. �?>5>45D, �.�. �4G>>64F, �.�. �4E<>4, �.�. '<F?G>, �.�. 

�5?5]564F, �.�. �4657, �.�. �474D<F4, �.�. ,4=4F, �.�. �<6>]5, �.�. �54<=4, �.�. 

�4>D5L4=5; 

- =4 ?>4DGG\G \54<=<F5 ?>>4?=5 E4<>G?D465 >?LF<=5 &DEF5=<>: �.�. '7]4D56>, �.�. 

�>7=4, �.�. �D45>64F, �.�. �D^46>D, �.�. �E4>=<F4, �.�. &DEF5=<>, �.�. �>744^5, �.�. 
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'4<D<, �.�. �5465V4, �.�. �_4F<, �.�. �>D^< $<5=<>, �.�. �>^< $<5=<>, �.�. 

�>G5>>6<=4, �.�. �>?4L, �.�. �5?<>4 �D5=>64, �.�. %F4D< &DEF5=<>, �.�. %5?<LF5, 

�.�. �D5E=> �>]5, �.�. %F>?4^4; 

- =4 ?>4DGG\G \54<=<F5 ?>>4?=5 E4<>G?D465 >?LF<=5 �D^4G>4 �4^4: �.�. �D4=5L<, 

�.�. �>4G=46F<, �.�. �D4G4F, �.�. �>6> %5?>, �.�. �D^4G>4 �4^4 �.�. $GV<=F<, �.�. 

,FG?4F; 

- =4 ?>4DGG\G \54<=<F5 ?>>4?=5 E4<>G?D465 7D444 �D4]564: �.�. �5D64, �.�. �4?E>> 

�>]5, �.�. &65F>5, �.�. �DE4_, �.�. �<?>G4\, �.�. �4D4=<, �.�. �>?>6<_<, �.�. 

�??4=<_<, �.�. �D4<F4, �.�. %<DG4, �.�. �D4]56>, �.�. �<F4=>64F, �.�. $4F<=4, �.�. 

�4>?>?4G4, �.�. 'G>>\564F, �.�. �D54, �.�. %FG54?; 

- =4 ?>4DGG\G \54<=<F5 ?>>4?=5 E4<>G?D465 7D444 '4G>4: �.�. $4>>64, �.�. 
G5<_, �.�. 

�D5]<=4, �.�. �>^56<_<, �.�. �4?G74 (
G5<_E>4), �.�. �4?G74 (&D=46E>4), �.�. 

�>\E<^5, �.�. %F4=G<_<, �.�. �4?4, �.�. �>^4 �>D56=<F4, �.�. �45?4_5, �.�. 

�DG4\56F<, �.�. �G><_<, �.�. �4FD74, �.�. �DL<=F<, �.�. �>D<G4=<. �.�. %>>>?<_<. 

 

I/1.4 ����� �� ������� ��,�� $��� 

�D>EF>D=< ??4= $5?G5?<>5 %D5<\5 >4 2010. 4> 2020. 7>4<=5 

(>%?G655=< 7?4E=<> $%=, 5D. 88/10) 

�D>EF>D=< ??4= $5?G5?<>5 %D5<\5 (G 44]5< F5>EFG: ��$%), >4> EFD4F5L>< 4>>G<5=F, 

45D<=<E4> \5 6<7<\G, F<]565, >D74=<74F<\G ?D>EF>D4 < ??4=E>4 D5L5^4 >>\4 EG 

>54657G\G_4 G ?D>F5EG <<??5<5=F4F<\5 �?4=4. 

%47?4E=> 6<7<\< 4G7>D>G=>7 ?D>EF>D=>7 D476>\4, $5?G5?<>4 %D5<\4 5< FD554?> 44 5G45 

>F5D<F>D<\4?=> GF6DV5=4 < D57<>=4?=> GD46=>F565=4, >4D6<6>7 5>>=><E>>7 D4EF4 < 

>>=>GD5=F=4, E>F<\4?=> >>E5D5=F=4 < EF45<?=4, <=DD4EFDG>FGD=> >?D5<]5=4 < 

E4>5D4_4\=> ?D<EFG?4G=4, >GG64=>7 < 74LF<_5=>7 ?D<D>4=>7 < >G?FGD=>7 =4E?5V4, 

>64?<F5F=5 6<6>F=5 ED54<=5 < DG=>F<>=4?=> <=F57D<E4=4 G >>DG65^5=. 

%4 EF4=>6<LF4 ����� <=DD4EFDG>FGD=>7 >>D<4>D4 �-761, <=>7< 5?5<5=F< 7?>54?=5 

6<7<\5 >47>64D4\G ?D>EF>D=>< D476>\G ??4=E>>7 ?>4DGG\4 < ^57>6>7 

GF<F4\=>7/7D46<F4F<>=>7 ?>4DGG\4 3 ?>E55=> >>\< E5 >4=>E5 =4 >4D6<6< 5>>=><E>< D4EF 

< >>=>GD5=F=>EF, ?>65_4^5 ?D<EFG?4G=>EF< < DG=>F<>=4?=> <=F57D<E4^5 G >>DG65^5. 

�5VG >E=>6=<< ?D<=F<?<<4 ?D>EF>D=>7 D476>\4 $5?G5?<>5 %D5<\5 EG: 

1) >4D6<6>EF, >4> 75=5D4?=< ?D<=F<? >>\< <>D4 5<F< ?D<<5^5= >>4 E6<E 4>F<6=>EF< G 

?D>EF>DG %D5<\5; 

2) F5D<F>D<\4?=4 >>E57<\4, >4> D57G?F4F GD46=>F565=>7 E>F<>-5>>=><E>>7 D57<>=4?=>7 

D476>\4; 

3) \4G4^5 >>=>GD5=F=>EF<, LF> ?>4D47G<564 44]< D476>\ <5FD>?>?<F5=E><E ?>4DGG\4 < 

<EF>6D5<5=> \4G4^5 < DG=>F<>=4?=> ?D>D<?<E4^5 E?45> D476<\5=<E D57<>=4, 

?>E55=> DGD4?=<E < <=4GEFD<\E><E; 

4) ?>?<F5=FD<G=< F5D<F>D<\4?=< D476>\, E4 =47?4L5=>< G?>7>< 7D44>64 < 

DG=>F<>=4?=<E GD54=<E ?>4DGG\4, >4> < \4G4^5 6574 =4 D5?4F<\< E5?>-7D44; 

5) DG=>F<>=4?=4 E?5F<\4?<74F<\4, ?>LFG\G_< >><?4D4F<6=5 ?D54=>EF< G ?>7?54G 

D476>\=<E ?>F5=F<\4?4 D57<>=4?=<E F5?<=4; 

6) D>D<<D4^5 < \4G4^5 <D564 7D44>64 < =4E5]4 (>?4EF5D<) >>\< <>7G 44 >5575545 

D476>\ >><??5<5=F4D=<E DG=>F<\4; 

7) G=4?D5V5^5 E4>5D4_4\=5 4>EFG?=>EF< >4> 4><<=4=F4= D4>F>D <E>>D<L_5^4 

F5D<F>D<\4?=<E ?>F5=F<\4?4 < GD46=>F565=>7 D476>\4; 

8) EFD<>F=> ?>LF>64^5 74LF<F5 \46=>7 <=F5D5E4, \46=<E 4>54D4 < \46=>7 ?D>EF>D4 < 4D. 
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�>?475_< >4 EF4^4 =4\646=<\<E D4>F>D4 ?D>EF>D=>7 D476>\4, >4> < 4G7>D>G=5 6<7<\5 < 

F<]564, E6< =4?D54 =46545=< ?D<=F<?< ?D54EF46]4\G >E=>6G ?D>EF>D=>7 D476>\4 

����� <=DD4EFDG>FGD=>7 >>D<4>D4 3 >4=>E=> ??4=E>>7 < GF<F4\=>7/7D46<F4F<>=>7 

?>4DGG\4, 4 ?>E55=> G=4?D5V5^5 E4>5D4_4\=5 ?D<EFG?4G=>EF<, ?>LF> =4\65_< 45> 

?>4DGG\4 <<4 <E?>4?D>E5G=G 4>EFG?=>EF ($4L><, �>D46<G>< < �?4F<5>DE>< G?D46=< 

>>DG7<). 

�G7>D>G=4 6<7<\4 ?D>EF>D=>7 D476>\4 $5?G5?<>5 %D5<\5 GE?>6]5=4 \5 >EF64D5^5< 

E?545_<E >E=>6=<E F<]564: 

1. GD46=>F565= D57<>=4?=< D476>\ (G=4?D5V5^5 F5D<F>D<\4?=5 >>E57<\5); 

2. ?>5>]L4^5 D57<>=4?=5 >>=>GD5=F=>EF< < ?D<EFG?4G=>EF<; 

3. ?D>EF>D=>-DG=>F<>=4?=4 <=F57D<E4=>EF G >>DG65^5; 

4. >4D6<64 GD5V5=4 6<6>F=4 ED54<=4; 

5. 74LF<_5=4 < GD5V5=4 ?D<D>4=4 < >G?FGD=4 54LF<=4. 

�46545=< >E=>6=< F<]56<, G=4?D5V5^5 F5D<F>D<\4?=5 >>E57<\5, ?>5>]L4^5 

>>=>GD5=F=>EF< < ?D<EFG?4G=>EF<, 4 ?>E55=> ?D>EF>D=>-DG=>F<>=4?=4 <=F57D<E4=>EF EG 

E4 EF4=>6<LF4 D476>\4 ??4=E>>7 < GF<F4\=>7/7D46<F4F<>=>7 ?>4DGG\4 =4\646=<\< F<]56<. 

�77D44^4 <=DD4EFDG>FGD=>7 >>D<4>D4 �-761 ?D54EF46]4 D54?4= D4>F>D 74 >EF64D5^5 

>6<E F<]564. 

$476>\ <D565 =4E5]4 G ��$% < ̂ 57>6 GF<F4\ =4 �7<5=5 < 4>?G=5 �D>EF>D=>7 ??4=4 

�E=>6=< F<] \5 44 ?D>EF>D=>-DG=>F<>=4?=< D476>\ $5?G5?<>5 %D5<\5 5G45 74E=>64= =4 

<>45?G DG=>F<>=4?=<E GD54=<E ?>4DGG\4 >>\4 _5 5<F< <=EFDG<5=F< GD46=>F565=>7 <?< 

?>4=>L]<6> =5GD46=>F565=>7 ?D>EF>D=>7 D476>\4 $5?G5?<>5 %D5<\5. 

�>?475_< >4 ?>EF>\5_57 EF4^4 G <D56< =4E5]4, 45D<=<E4=<E DG=>F<>=4?=<E GD54=<E 

?>4DGG\4 ($'�) < ?>FD554 5G4G_57 >4D6<6>7 < F5D<F>D<\4?=> E><>75=>7 (GD46=>F565=>7) 

D476>\4, �D>EF>D=<< ??4=>< $5?G5?<>5 %D5<\5 \5 2010. 7>4<=5 45D<=<E4=4 

DG=>F<>=4?=>-E<\5D4DE<\E>4 EFDG>FGD4 =4E5]4. ' ?><5=GF>\ EFDG>FGD< =4E5]4 '4G4>, 

�DGL564F < �D4]56> ?D54EF46]4\G F5=FD5 =4F<>=4?=>7 7=4G4\4. 

�4 2020. 7>4<=G \5 ?D5F?>EF46]5=4 <EF4 >4F57>D<74F<\4 DG=>F<>=4?=<E GD54=<E 

?>4DGG\4, =4 >E=>6G >>\5 _5 ?>4DGG\4 7D44>64 '4G>4, �D4]564 < �DGL56F4 F4>>V5 5<F< 

F5=FD< >4 =4F<>=4?=>7 7=4G4\4, E F<< 44 _5 5D>\ >?LF<=4 G E4EF46G $'�-4 5<F< G65_4=. 

$476>\ ?><5=GF<E 7D44>64 _5 75>7 E6>\5 E?5F<D<G=5 ?>>4F<\5 (5?<7<=4 �>D<4>D4 10) 

G=GF4D <D565 =4E5]4 <?< D57<>=4?=<E E?5F<D<G=>EF< 5<F< ?>4D6464= ?>E55=<< 

?>4EF<F4\=<< <5D4<4. 

$476>\ ?>]>?D<6D545 G ��$%-G < ^57>6 GF<F4\ =4 �7<5=5 < 4>?G=5 �D>EF>D=>7 ??4=4 

�>?47<LF5 74 G=4?D5V<64^5 ?D>EF>D=5 4<EFD<5GF<\5 < >D74=<74F<\5 ?>]>?D<6D54=5 

?D><76>4^5 G ��$% ?D54EF46]4?> \5 GF6DV<64^5 6>45_<E 7D4=4 FD6<L=5 ?D><76>4^5. 

�>?<F<>4 44]57 ?D>EF>D=> 4<D5D5=F<D4=>7 GE<5D464^4 D476>\4 < G=4?D5V<64^4 

?>]>?D<6D54=5 ?D><76>4^5 74 ?D54<5F=> ??4=E>> ?>4DGG\5 \5 ?D><76>4^4 

FD44<F<>=4?=<E ?D><76>44 ?>7=4F>7 75>7D4DE>>7 ?>D5>?4 < 6<E>>5 5<>?>L>5 6D54=>EF< 74 

FD6<L=5 =<L5, ?4D4?5?=> E4 4>F<6=>EF<<4 =4 >4D6<6>< G?D46]4^G < 74LF<F< 

?D<D>4=<E D5EGDE4 < D476>\G ?>>4?=<E ?D5D4V<64G><E >4?4F<F5F4 < 4DG7<E ?D4F5_<E 

45?4F=>EF<, ?D5 E6574 DGD4?=>7 FGD<7<4. 
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$476>\ <=4GEFD<\5 G ��$%-G < ^57>6 GF<F4\ =4 �7<5=5 < 4>?G=5 �D>EF>D=>7 ??4=4 

�?46=< 5?5<5=F< ?D>EF>D=5 >D74=<74F<\5 < EFDG>FGD5 <=4GEFD<\5 G %D5<\< EG: 

1. %FD4F5L>5 D476>\=5 7>=5 (D476<\5=>, <5FD>?>?E>>, =5D476<\5=>, 45?D5E<D4=>, 

?>7D4=<G=> ?>4DGG\5); 

2. $476>\=< >>D<4>D< 0 < 7, >>D<4>D< <47<EFD4?=>7 < D57<>=4?=>7 7=4G4\4; < 

3. �=4GEFD<\E>< F5=FD<-<5FD>?>?E>4 ?>4DGG\4 < 7D44>6< >>\< >5GE64F4\G: 4) EFD4F5L>5 

?>>4F<\5 74 74?>L]464^5; 5) ?>EF>\5_5 < ?D5D5D<D4=5 <=4GEFD<\E>5 ?>>4F<\5; 6) 

5D4G=D<?4 < 7D<=D<?4 ?>>4F<\5. 

' ?D>EF>D=>\ EFDG>FGD< <=4GEFD<\5 6>45_G G?>7G <<4_5 < 44]5 ?>EF>\5_< ?D<6D54=>-

<=4GEFD<\E>< 7D44E>< F5=FD< < D476>\=< >>D<4>D<, <5VG >>\<<4 \5 < 74?44=>-<>D46E>< 

>>D<4>D �-761. �E=>6=< ?>>4F<>=< <>45?< <=4GEFD<\5 G D476>\=<< 7>=4<4, 

>>D<4>D<<4 < GD54=<< F5=FD<<4 EG: <=4GEFD<\E>5 7>=5, <=4GEFD<\E>< < F5E=>?>L>< 

?4D>>6< (hi-tech 47?><5D4F<\5 < >><??5>E<), E?>5>4=5 7>=5 (%�), 5<7=<E <=>G54F>D<, 

>?4EF5D< <4?<E < ED54^<E ?D54G75_4 (�%�) (G D57<\4<4, >>D<4>D<<4, 7D44>6<<4), 7>=5 

D476>\4 G7 45D>4D><5, ?>7<EF<G>< ?4D>>6<, F5D<<=4?<, ?D<6D54=5, <5L>6<F5, ?GG>5 

7>=5, < E?. 

�4 ??4=E>>< ?>4DGG\G >>D<4>D4 4GF>?GF4 EG ??4=<D4=5 <=4GEFD<\E>5 7>=5 (��) < 

<=4GEFD<\E>< ?4D>>6< (��) G �D4]56G, �DGL56FG, '4G>G, &DEF5=<>G, �4D64D<=G < 

�<_56FG, 4 =4 GF<F4\=>< ?>4DGG\G G '6<FG < �>6>< �474DG. 

$476>\ FGD<7<4 G ��$% < ^57>6 GF<F4\ =4 �7<5=5 < 4>?G=5 �D>EF>D=>7 ??4=4 

�4 $5?G5?<>G %D5<\G EG D5?564=F=< E?545_< 6<4>6< FGD<7<4/FGD<EF<G>< ?D><76>4<: 

1) 7D44E>< FGD<74< (?>E?>6=<, 7D44E>< >4<>D<, <4=<D5EF4F<>=<); 2) 74D46EF65=< 

FGD<74< (54^E><, >?<<4FE><); 3) ??4=<=E>< FGD<74< (=4 6<E>><<, ED54^<< < =<E><< 

??4=<=4<4); 4) FGD<74< =4 6>44<4 (=4GF<G><, ?D<>54?=<); 5) FD4=7<F=< FGD<74< (>DG6=4 

?GF>64^4/FGD5/?GF56< >4 45EF<=4F<\4<4: =4F<>=4?=<E ?4D>>64, D<<E><E ?4?4F4 < 

E?><5=<>4, ED54^>65>>6=<E <4=4EF<D4, ?>>4?<F5F4 >64?<F5F=<E 6<=4 < 4D., < F<]=4 

FD4=7<F=4 ?GF>64^4); 6) FGD<74< ?>E55=<E <=F5D5E4 (D5>D54F<6=5 4>F<6=>EF<, E?>DFE>>-

464=FGD<EF<G>5 4>F<6=>EF<); 7) DGD4?=< FGD<74< (47D>FGD<74<, >><5<=>64=< E5>E>< 

FGD<74<). 

�4 ?>4DGG\G �D>EF>D=>7 ??4=4 <45=F<D<>>64=5 EG: (1) >><?4D4F<6=5 ?D54=>EF< 

??4=E>>7 ?>4DGG\4, (2) 74F<<, ?>F5=F<\4?< 74 44]< D476>\ 54^E>>7 FGD<7<4 (�D^4G>4 < 

�4F4DGL>4 54^4 EG E6DEF4=5 G 54^5 >>\5 _5 ?5DE?5>F<6=> <<4F< <5VG=4D>4=< 7=4G4\, 4 

�>D^4 &D5?G4 < �>7GF>64G>4 54^4 3 =4F<>=4?=< 7=4G4\) < (3) <>7G_=>EF< <=F5=7<6<D4^4 

FD4=7<F=>7 FGD<7<4 (>>D<4>D 4GF>?GF4 �-761 ?D54EF46]4 E5>G=44D=< 3 =4F<>=4?=< 

?D464F), E?>DFE>>-D5>D54F<6=>7 FGD<7<4 (G >>6<DG GF<F4\=>7 ?>4DGG\4 ?GF=>7 ?D46F4 

=4?475 E5 < 5<F<>?<EF<G>< >>D<4>D< >Eurovelo=) < DGD4?=>7 FGD<7<4. 

�EF> F4>>, G G65< < L<D5< ?>4DGG\G GF<F4\4 65_ \5 D476<\5= ??4=<=E>< FGD<74< 

(�4EFD554F, �>?4>=<>, <F4.). �444 \5 G ?<F4^G D476>\ 7D44E>>7 FGD<7<4, >4 7D44E><E 

FGD<EF<G><E F5=F4D4 E4<> \5 �D4]56> E6DEF4=> G 7D44>65 >4 =4F<>=4?=>7 7=4G4\4. 

$476>\ E4>5D4_4\4 G ��$% < ^57>6 GF<F4\ =4 �7<5=5 < 4>?G=5 �D>EF>D=>7 ??4=4 

' >>=F5?F<\< D476>\4 E4>5D4_4\4 < FD4=E?>DF4 %D5<\4 \5 E47?544=4 >4> 65?<>< 

E4>5D4_4\=< < FD4=E?>DF=< F5=F4D, 4 G=GF4D ^5 =5>>?<>> 65_<E GD54=<E F5=F4D4 EG 

=>E<>F< ?D<<4D=<E DG=>F<\4 (�5>7D44 56D>?E>< ���� F5=F4D, �>6< %44, �D47G\564F < 

�<L F5=FD< <5VG=4D>4=>7 7=4G4\4, 46445E5F F5=F4D4 =4F<>=4?=>7 7=4G4\4, <5VG >>\<<4 

EG '4G4>, �D4]56>, �DGL564F, ?>F>< '6<F5 < �>6< �474D, >4> < 464 F5=FD4 D57<>=4?=>7 

7=4G4\4). 
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�<F=G >><?>=5=FG F5D<F>D<\4?=5 >>E57<\5 G<=< E4>5D4_4\=4 ?D<EFG?4G=>EF. �F5=4 

D57<>=4?=5 ?D<EFG?4G=>EF< G �����-4 4>=5F4 \5 =4 >E=>6G >><5<=4F<\5 G5F<D< 

<=4<>4F>D4: 1) �>F5=F<\4?=4 ?D<EFG?4G=>EF ?GF=<< E4>5D4_4\5<, 2) �>F5=F<\4?=4 

?D<EFG?4G=>EF 65?57=<G><< E4>5D4_4\5<, 3) �D5<5 ?D<EFG?4 FD6<LFG, >4=>E=>, 

F5=FD<<4 DG=>F<>=4?=<E ?>4DGG\4 < 4) �D5<5 ?D<EFG?4 4> =4\5?<6<E D57<>=4?=<E 

F5=F4D4. 

�4 >E=>6G >><5<=>64=<E <=4<>4F>D4, 4 >5?4EF< G 74E64FG �?4=4 EG E<EF5<4F<7>64=5 G 

E?545_5 D4=7>65 D57<>=4?=5 ?D<EFG?4G=>EF<: 

- �7=44 ?D>E5>4: $4E<=E>4 

- �E?>4 ?D>E5>4: �?4F<5>DE>4, �>D46<G>4, $4L>4 

�77D44^>< 4GF>?GF4 <>65 E5 >G5><64F< 7=4G4\=<\5 ?>5>]L4^5 3 >4 4 <=4<>4F>D4 

D57<>=4?=5 ?D<EFG?4G=>EF<, LF> _5 E5 >4D47<F< =4 65_< EF5?5= ?D>EF>D=5 

>>E5D5=F=>EF< L<D57 ?>4DGG\4 GF<F4\4. 

%4 EF4=>6<LF4 ����� <=DD4EFDG>FGD=>7 >>D<4>D4 �GF>?GF4 �-761, G ��$% G 

?D<>D<F5F=5 4>F<6=>EF< 4> 2014. 7>4<=5 E6DEF4=4 \5 D5E45<?<F4F<\4 45>=<F4 4D646=>7 

?GF4 I D544 5D. 5, �>\4F5 3 �DGL564F 3 �D4]56> 3 '4G4>, 4 G ?D<>D<F5F5 4> 2021. 7>4<=5, 

4>F<6=>EF< =4 4GF>?GFE>>< ?D46FG �>\4F5 3 �DGL564F 3 �D4]56> 3 '4G4> - �>6574 - 

'6<F5 - �>FD><4= (�-761, �-5). 

�4>> =<\5 5<?4 G6DLF5=4 G ?D<>D<F5F5 D476>\4 6474GE>??>6=5 <=DD4EFDG>FGD5 4> 2014. 

7>4<=5, D5>>=EFDG>F<\4 45D>4D><4 G �4V56F<<4 < ^57>6> >E?>E>5]464^5 74 F<6<?=< 

E4>5D4_4\, 4 F<<5 < ?D><5=4 6>\=5 =4<5=5 G <5L>6<FG 74 6>\=>-F<6<?=< E4>5D4_4\, G 

>><5<=4F<\< E4 4GF>?GF5< 65><4 _5 4>?D<=5F< G=4?D5V5^G >?LF5 ?D<EFG?4G=>EF< 

?>4DGG\4 �����-4 (=4 <5VG=4D>4=>< =<6>G, \5D _5 E5 EF6>D<F< <>7G_=>EF< 74 5<F=> 

E>D4_5^5 6D5<5=4 ?D<EFG?4 56D>?E><< F5=FD<<4). 

�>=F5?F<\4 D476>\4 <G?F<<>44?=>7 FD4=E?>DF4 >5GE64F4 4>F<6=>EF< =4 D>D<<D4^G 

<D565 ?>7<EF<G><E F5=F4D4 3 =4F<>=4?=>7 < ?>>4?=>7 7=4G4\4 >>\< _5 E5 D476<\4F< G 

7D46<F4F<>=<< 7>=4<4 D57<>=4?=<E < ?D<6D54=<E F5=F4D4. 

�4 ??4=E>>< < GF<F4\=>< ?>4DGG\G �GF>?GF4 �-761 ?D546<V5=> \5 44 E5 ?>7<EF<G>< 

F5=FD< D>D<<D4\G G '4G>G < �D4]56G (??4=E>> ?>4DGG\5) < G '6<FG (G65 GF<F4\=> 

?>4DGG\5). �D>F5^5=> \5 44 >6< F5=FD< <>7G 44 74?>E?5 <7<5VG 500 < 1000 D44=<>4. 

�D54GE?>6 GE?5L=5 <=F57D4F<\5 F5D<F>D<\5 $5?G5?<>5 %D5<\5 < ^5=5 ?>6574=>EF<, >4>> 

75>7D4DE>< F4>> < 4DGLF65=>-5>>=><E><, 5<_5 D476<\5=4 <D564 FD4=E?>DF=<E E<EF5<4. 

%F5?5= ?>F5=F<\4?=5 ?D<EFG?4G=>EF< ?> >5?4EF<<4, >4> E>G? G5F<D< <=4<>4F>D4 

(>><5<=>64=< <=4<>4F>D) G 75<D=>< D4=7<D4^G ?>7<F<>=<D4> \5 $4E<=E>< G?D46=< 

>>DG7 <7=44 ?D>E5>4, 4>> EG $4L>< < �>D46<G>< G?D46=< >>DG7 <E?>4 ?D>E5>4. 

' >>6<DG EFD4F5L><E ?D<>D<F5F4 D476>\4 ?GF=5 <D565 =46>45 E5 4>F<6=>EF< =4: 

- 4D646=>< ?GFG I D544, (<77D44^4 �GF>?GF4, �-763) 45> DGF5 4 (SEETO): �5>7D44 3 '4G4> 

3 �>6574 3 �D<]5 3 �64^<F4 3 %\5=<F4 (�G74 ?>]4=4) 3 �>]4D5 (7D4=<F4 E4 &D=>< 

�>D><); < 

- ?>EF>\5_5< 4D646=>< ?GFG I D544 (>>D<4>DG �GF>?GF4 �-761) �>\4F5 3 �DGL564F 3 

�D4]56> 3 '4G4> < 44]5 �>6574 3 '6<F5 3 �>FD><4= (7D4=<F4 E4 �>E=>< < 

%5DF57>6<=><) (�-761, �-5). 

- >>D<4>DG 4D646=>7 ?GF4 I D544, (4GF>?GFE>< >>D<4>D) �4F>G<=4 3 �D47G\564F 3 �=<_ 3 

6574 E4 4GF>?GFE><< ?D46F5< �D4]56> 3 '4G4> (�-761, �-5); < 

- 746DL5F>G <77D44^5 >5<?47=<F4: �DGL564F, �D4]56> < '6<F5. 

�>D<4>D< 4D646=<E ?GF564 I < II D544 E5 744D6464\G < GG64\G < G =4D54=>< ?5D<>4G. 
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% >57<D>< 44 EG 65_ D>D<<D4=< < 44 ?D54EF46]4\G >E=>6=5 =>E<>F5 E4>5D4_4\4, 

F56<LF5 \5 =4 ^<E>6>< G=4?D5V5^G (D5E45<?<F4F<\4, 4>7D44^4 =5<77D4V5=<E ?GF=<E 

?D464F4 < 4>?G=4 ?>EF>\5_<E, 6574=<E 74 =>65 GE?>65 < EFD4F5L>4 >?D545]5^4 D476>\4). 

�E=>6=< F<] D476>\4 65?57=<G>5 <=DD4EFDG>FGD5 \5: 44 E5 445>64F=<< <5D4<4 < G 

D47G<=>< 6D5<5=E>>< ?5D<>4G ?>EF<7=5 F4>46 =<6> EF4^4 <=DD4EFDG>FGD5, >>\4 _5, G7 

<>45D=<74F<\G 6>7=<E ED54EF464, ><>7G_<F< 44 E5 ?>5>]L4 >64?<F5F < 5D7<=4 

65?57=<G>>7 E4>5D4_4\4 =4 =4F<>=4?=>\ <D56<, 4 44 �� >�5?57=<F5 %D5<\5= =<6>>< 

GE?G75 ?D<6G>G ?GF=<>5 < D>5G < GE?5L=> ?>E?G\G, <<4\G_< G 6<4G \46=G < >><5DF<\4?=G 

DG=>F<\G. 

�>D<4>D< E6<E ?>EF>\5_<E < D4=<\5 G><=GF<E ?DG74 E5 744D6464\G E4 F<]5< >5=>65 G7 

?D5FE>4=> GF6DV5=G >?D4644=>EF. �?4=<D4 E5 D56<F4?<74F<\4 < <>45D=<74F<\4 

(D5E?5>F<6=> 5?5>FD<D<>4F<\4) \54=>>>?>E5G=5 ?DG75 %F4?4_ 3 �D4]56> 3 �>6574, E4 

<77D44^>< >4?4F<F5F4 74 ?>657<64^5 7=4G4\=<E >>D<E=<>4 65?57=<G><E GE?G74 < 

4>7D44^4 =>65 45>=<F5 �?445=>64F 3 �D4=V5?>64F 3 &>?>?4 3 �>D^< �<?4=>64F 3 

'4G4>. 

&4>>V5 EG ?D546<V5=< D44>6< =4 ?GF=<G><< EF4=<F4<4 >>\5 _5 E5 >?D5<4F< >4> F5=FD< 

<=F57D<E4=< G GD54=> >>DG65^5, E4 ?>E?>6=<<, >><5DF<\4?=<<, >G?FGD=<< < 4DG7<< 

E44D64\<<4, >>\< ?D4F5 E4>5D4_4\ <?< EG <=4<D5>F=> 6574=< 74 ?D>F>> ?GF=<>4 < 

<7<5LF4^5 F5D5F=>7 E4>5D4_4\4 <764= F5=FD4?=<E 7>=4 65?<><E 7D44>64. 

�?4=>< E5 ?D546<V4 ?D><5=4 =4<5=5 6>\=>7 45D>4D><4 G �D4]56G G <5L>6<F<. 

�5D>4D>< G '6<FG \5 45D<=<E4= >4> ?>F5=F<\4?=< D57<>=4?=< 45D>4D><. %?>DFE>< 

45D>4D><< G �D4]56G < &DEF5=<>G EG 45D<=<E4=< >4> ?5F5?<LF4 >>\4 E5 <>7G G>]GG<F< G 

<D56G D57<>=4?=5 ?>=G45. 

�4 ?>>4F<\5 <=F5D<>44?=<E F5D<<=4?4 < ?>7<EF<G><E F5=F4D4 ?D54?>65=< EG '6<F5, 

'4G4> < �D4]56>. 

�?4=>< E5 75=5D4?=> ?D546<V4 <7D444 >47>64D4\G_5 EFG4<\5 >>\>< _5 E5 45D<=<E4F< 

5<F<>?<EF<G>5 DGF5 =4 G<F46>< ?>4DGG\G $5?G5?<>5 %D5<\5 (>E=>6=<< ?D46F5< E565D-\G7 

< 5>G=<< 6574<4) < E<EF5< F5=F4D4 D476>\4 5<F<>?<7<4 G F<]G >EF64D<64^4 

<5VG4D646=5 E4D44^5 (DGF5 6 < 11 EuroVelo 3 56D>?E>4 <D564 5<F<>?<EF<G><E DGF4), G7 

F> 7D44>6< _5 >557554<F< GE?>65 74 >D5F4^5 5<F<>4?4 =4 E6>\>\ F5D<F>D<\<. 

�5\5>F< 6>4>?D<6D54=5 <=DD4EFDG>FGD5 G ��$%-G < ^57>6 GF<F4\ =4 �7<5=5 < 4>?G=5 

�D>EF>D=>7 ??4=4 

�4E5]4 E4 ?>4DGG\4 �?4=4 E5 6>4>< E=454564\G <7 �4?44=><>D46E>>-D746E>>7, $4E<=E>>-

?><>D46E>>7 < 45?>< <7 �54DE>>-LG<44<\E>>7 E<EF5<4. 

�E=>6=< F<] \5 >?F<<<74F<\4 <=F57D4?=<E 6>4>?D<6D54=<E E<EF5<4 =4 \54<=EF65=>< 

6>4>?D<6D54=>< ?D>EF>DG $5?G5?<>5 %D5<\5 < GE>?4V<64^5 ^<E>6>7 D476>\4 E4 

F<]56<<4 >GG64^4 6<6>F=5 ED54<=5 < 4DG7<E >>D<E=<>4 ?D>EF>D4. 

' DG=>F<>=4?=>< < G?D46]4G>>< ?>7?54G E5 =4 ??4=E>>< ?>4DGG\G <7464\4 

�4?44=><>D46E>< D5G=< E<EF5<, E4 >]GG=<< 6<L5=4<5=E><< >5\5>F<<4. 
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$5G=< E<EF5<< 74 GD5V5^5, >>D<L_5^5 < 74LF<FG 6>44 

$5G=< E<EF5<< 
�]GG=5 ?>EF>\5_5 

4>G<G?4F<\5 < >5\5>F< 

�]GG=5 =>65 4>G<G?4F<\5, 

>5\5>F< < <5D5 

�4?44=><>D46E>< 

�47<6>45, �DG64, �5?<\5, 

�DGFF<, �4F?464, �5VG6DL\5; 

%6D4G>>6> (G <77D44^<) 

$<54D<_5 + �54DE>4 >4E>444, $>75, 

�5?<>4 �D?>64G4, %>D4?56, 

%FG45=<F4, �>?4F=<F4, �>L=<F4, 

4>6>4 <7 '6F4 G �5?<>< $746 

%FD4F5L>< ?D<>D<F5F< G >5?4EF< D476>\4 6>4>?D<6D54=5 <=DD4EFDG>FGD5 EG: 

- 6>4>E=454564^5: L<D5^5 $4E<=E>>7 E<EF5<4 >4 �4D4_<=G; 

- 74LF<F4 6>44: D54?<74F<\4 ?>EFD>\5^4 74 ?D5G<L_464^5 >F?44=<E 6>44 G =4E5]<<4 E4 

=4\65_<< GF<F4\<<4 =4 <76>D<LF4 <?< =4 G7D>65=5 6>4>F>>5: �D4]56>, �DGL564F. 

$476>\ 5=5D75FE>5 <=DD4EFDG>FGD5 G ��$%-G < ^57>6 GF<F4\ =4 �7<5=5 < 4>?G=5 

�D>EF>D=>7 ??4=4 

�=5D75FE>4 <=DD4EFDG>FGD4 

�E=>6=< F<] D476>\4 5=5D75FE>5 <=DD4EFDG>FGD5 \5 4>F<6=> GG5L_5 $5?G5?<>5 %D5<\5 G 

??4=<D4^G < <77D44^< EFD4F5L>5 3 D57<>=4?=5 < ?4=56D>?E>5 5=5D75FE>5 

<=DD4EFDG>FGD5 74 ?D5=>E 5?5>FD<G=5 5=5D7<\5 < FD4=E?>DF =4DF5 < 74E4 <7 =>6<E 

<76>D4 E=454564^4, G>]GGG\G_< < GD75=F=G 7D44^G ?>475<=>7 E>?44<LF4 74E4 G 

$5?G5?<F< %D5<\<, E65 G F<]G ?>G744=>7 < E<7GD=>7 E=454564^4 ?>FD>L4G4 G $5?G5?<F< 

%D5<\<. 

%<5D=<F5 74LF<F5 6<6>F=5 ED54<=5, ?D<D>4=<E < >G?FGD=<E 4>54D4 

�E=>6=< F<] je 74LF<F4 < G=4?D5V5^5 6<6>F=5 ED54<=5 >4> >E=>64 GD46=>F565=>7 

D476>\4, >>D<L_5^4 < GD5V5^4 ?D>EF>D4 3 74GEF46]4^5 44]5 457D444F<\5, 

?D565=F<6=4 74LF<F4 >4 E6<E ??4=<D4=<E 4>F<6=>EF< >>\5 <>7G G7D>7<F< ?>EF>\5_< 

>64?<F5F ?D<D>4=5 < 6<6>F=5 ED54<=5, G7 E4=4F<\G < D56<F4?<74F<\G G7D>65=<E 

?>4DGG\4. 

�?4=E>> ?>4DGG\5 ?D<?444 =4\65_<< 45?>< ?>4DGG\<<4 >64?<F5F=5 6<6>F=5 ED54<=5 

(LG<E>4 ?>4DGG\4, ?>]>?D<6D54=5 6>_4DE>5 < 6<=>7D444DE>5 7>=5, ?<6445 < ?4L^4F<, 

6>4>F>F< II >?4E5, ?>6=4 < D<5>?>6=4 ?>4DGG\4) E4 ?D5>6?4VG\G_<< ?>7<F<6=<< 

GF<F4\<<4 =4 G>65>4, 6<6< E65F < >64?<F5F 6<6>F4. �4 >64 ?>4DGG\4 FD554 >557554<F< 

D5L5^4 >>\<<4 E5 5?<<<=<LG <?< G<4^G\G ?>EF>\5_< <76>D< =574F<6=<E GF<F4\4. �4^< 

45?>6< ??4=E>>7 ?>4DGG\4 ?D<?444\G ?>4DGG\<<4 G7D>65=5 6<6>F=5 ED54<=5 (?>4DGG\4 

5>E??>4F4F<\5 <<=5D4?=<E E<D>6<=4, 4D646=< ?GF56< II D544, 6>4>F>>>6< III >?4E5). �4 

>64 ?>4DGG\4 FD554 E?D5G<F< 44]G 457D444F<\G < >557554<F< ?>5>]L4^5 ?>EF>\5_57 

EF4^4. 'D54=4 ?>4DGG\4 �DGL56F4, �D4]564 < '4G>4 ?D<?444\G ?>4DGG\<<4 7474V5=5 < 

457D44<D4=5 6<6>F=5 ED54<=5 E4 =574F<6=<< GF<F4\<<4 =4 5<]=< < 6<6>F<^E>< E65F < 

>64?<F5F 6<6>F4. �4 >6G >4F57>D<\G FD554 >557554<F< F4>64 D5L5^4 < >?D545]5^4 

>>\<<4 E5 E?D5G464 44]4 457D444F<\4 < G<4^G\G 5D5>F< >7D4=<G464^4 D476>\4. 

' >5?4EF< G?D46]4^4 >F?44>< >E=>6=< F<] \5 D476<\4^5 >4D6<6>7 E<EF5<4 D44< 

E<4^5^4 7474V5^4 6<6>F=5 ED54<=5 < 457D444F<\5 ?D>EF>D4. �4 ??4=E>>< ?>4DGG\G 

D57<>=4?=< F5=FD< 74 G?D46]4^5 >><G=4?=<< >F?44>< (>5GE64F4 E4>G?]4^5 

>><G=4?=>7 >F?444, D57<>=4?=G 45?>=<\G 74 =4\<4^5 20 7>4<=4, E5?4D4F<\G 

D5F<>?45<?=>7 >F?444, FD4=ED5D EF4=<FG < ?>EFD>\5^5 74 >><?>EF<D4^5) ?D546<V5=< EG 

=4 ?>4DGG\G �D444 �D4]564 < �D444 �DGL56F4. ,<D5 ?>4DGG\5 '4G>4 < �GG4=4 \5 

?D546<V5=> 74 <77D44^G D57<>=4?=>7 E>?44<LF4 >?4E=>7 >F?444. 
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�<>4<65D7<F5F, 74LF<F4 < >4D6<6> >>D<L_5^5 ?D<D>4=>7, >G?FGD=>7 =4E?5V4 < 

?D545?4 

' >5?4EF< 74LF<F5 < >4D6<6>7 >>D<L_5^4 ?D<D>4=>7 =4E?5V4, >E=>6=< F<] \5: >GG64^5 < 

G=4?D5V5^5 5<>?>L>5 D47=>6DE=>EF<, 6D54=>EF< 75>=4E?5V4 < ?D545?4 < D476>\ \46=<E 

DG=>F<\4 74LF<_5=<E ?>4DGG\4. �4 >E=>6G ?D5FE>4=<E <EFD46<64^4 < 64?>D<74F<\5, 

5<_5 45D<=<E4= EF4FGE, ?D>EF>D=< >5GE64F < D56<<< 74LF<F5 74 ?>4DGG\5 �>\E<^E><E 

??4=<=4 < %F4?4_>5 >?<EGD5 �G6=5 �>D465. 

' >5?4EF< 74LF<F5 >G?FGD=<E 4>54D4, >E=>6=< F<] \5 44 E5 >G?FGD=> =4E?5V5 

4DF<>G?<L5 >4> D476>\=< D5EGDE, 74LF<F<, GD54< < >>D<EF< =4 =4G<= >>\< _5 4>?D<=5F< 

GE?>EF46]4^G D57<>=4?=>7 < ?>>4?=>7 <45=F<F5F4 G E>?44G E4 56D>?E><< EF4=44D4<<4 

74LF<F5. �D>7 ??4=E>> ?>4DGG\5, ?D>F56G E5 <5VG=4D>4=5 >G?FGD=5 EF475, >4> < >G?FGD=> 

?>4DGG\5 >>\5 >5GE64F4 L<D< 4>?<=E>< ?>\4E D5>5 �4?44=5 �>D465. 

�E=>6< F<]56< 74LF<F5, GD5V5^4 < D476>\4 ?D545?4 $5?G5?<>5 %D5<\5 EG D47=>6DE=<, 

6<E>>> >64?<F5F=< < 445>64F=> >>D<L_5=< ?D545?< < D<7<G>< GD5V5=4, 74 6<6>F < 

5>D464> ?D<\4F=4 DGD4?=4 < GD54=4 =4E5]4 < 7D44>6<, D476<\5=>7 <45=F<F5F4 

74E=>64=>7 =4 ?>LF>64^G < 4D<D<4F<\< ?D<D>4=<E < >G?FGD=<E 6D54=>EF<. 

' >5?4EF< ?D<D>4=<E =5?>7>44 < F5E=>?>L><E G45E4, >E=>6=< F<] \5 ^<E>6> 

<=F57D4?=> G?D46]4^5 >4> >E=>64 74 >55755V5^5 GE?>64 74 5D<>4E4= ?D>EF>D=< D476>\, 

>GG64^5 ]G4E><E 6<6>F4 < <4F5D<\4?=<E 4>54D4. ' F>< E<<E?G, =5>?E>4=> \5 EF6>D<F< 

4>5D> >D74=<7>64=5 < >?D5<]5=5 E?G655 >>\5 _5 <>_< 44 GE?5L=> D445 =4 ?D565=F<\< 

>6<E >4F4EFD>D4, >4> < =4 >45D4=< < >F>?4^4^G ?>E?54<F4, G>>?<>> E5 \465. �4^4 

?>4DGG\4 74E64_5=4 EG ?D>F5E<<4 5>EF5E<6=5 5D>7<\5, 4 4>?<=E>< ?>\4E �4?44=5 �>D465 

?D54EF46]4 ?>F5=F<\4?=> ?>??46=> ?>4DGG\5. 

* 

%<5D=<F5 <7 $57<>=4?=>7 ?D>EF>D=>7 ??4=4 �?4F<5>DE>>7 < �>D46<G>>7 G?D46=>7 

>>DG74 (>%?G655=< 7?4E=<> $%=, 5D. 1/13) 

�D>EF>D=< ??4= >5GE64F4 F5?5 F5D<F>D<\5 7D44a '6<Fa < >?LF<=4 �D<]5, �4\<=4 �4LF4, 

�>E\5D<_, �>64 �4D>L, �>6574, �D<5>\, �D<\5?>]5, %\5=<F4 < '4\5F<=4 =4 ?>4DGG\G 

�?4F<5>DE>>7 >>DG74 (6.148 km2), 7D444 '4G>4 < >?LF<=4 �>D^< �<?4=>64F, �64^<F4 < 

�GG4=< =4 ?>4DGG\G �>D46<G>>7 >>DG74 (3.036 km2). 

�D<D>4=< D5EGDE< 

�>4DGG\5 >>\5 >5GE64F4 D5G=G 4>?<=G �4?44=5 �>D465 (>?LF<=4 '4G4>) ?D<?444 D5\>=G 

4><<=4=F=> D4F4DE>>-?>6DF4DE>5 ?D><76>4^5 < <5L>6<F>7 EF>G4DEF64. 

%F4=>6=<LF6>, <D564 =4E5]4 

' F<]G D476>\4 >>E5D5=F=5 ?D>EF>D=>-DG=>F<\E>5 >D74=<74F<\5, =4 547< ?D<D>4=>-

5>>?>L><E, 45<>7D4DE><E, E>F<\4?=>-5>>=><E><E < 4DG7<E >4D4>F5D<EF<>4 ^57>6>7 

75>?D>EF>D4 ?D546<V4 E5 6<L5EF5?5=4 E<\5D4DE<\4 F5=F4D4 G <D56< =4E5]4 G >>\>\ 

'6<F5 < '4G4> >4> D57<>=4?=< F5=FD< ?D<?444\G ?D6>\ E<\5D4DE<\E>>\ D46=<. 

�D<6D544 

�D44 '4G4>, 74\54=> E4 '6<F5<, ?D54EF46]4 D57<>=4?=< ?>?<DG=>F<>=4?=< ?D<6D54=> 

<=4GEFD<\E>< F5=F4D ED54^5 65?<G<=5. 

�?D545]5^4 >4D6<6>7 D476>j4 ?D<6D545 EG: 7D4V56<=4DEF6>, E6< 6<4>6< E4>5D4_4\4 

(?>E55=> D476>\ 6474GL=>7 E4>5D4_4\4), FD4=E?>DF=5 GE?G75, E5D6<E < >4D6464^5 
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6>7<?4; ?>F5=F<\4?=4 ?>>4F<\4 D57<>=4?=>7 <=F5D<>44?=>7 F5D<<=4?4 < ?>7<EF<G>>7 

F5=FD4 G '6<FG < '4G>G. 

&GD<EF<G>< ?D>EF>D ??4=E>>7 ?>4DGG\4 ?D<?444 �>D46<G>>-�D474G56E>>< D5\>=G E4 

�>?<\>< < >4> F4>46 ?D<?444 45?G FGD<EF<G>>7 >?4EF5D4 >%D54<L=4 < �4?44=4 %D5<\4=. 

%4>5D4_4\ 

�>>E=<FG 4DG<E><E 6574 =4 ?>4DGG\G >?LF<=5 '4G4> G<=<: 

- �� I D544 5D. 5: 7D. $5?G5?<>5 %D?E>5 (�4D4<LF5) 3 �D5<=4 3 '6<F5 3 �>6574 3 '4G4> 

3 �D4]56> 3&DEF5=<> 3 �DGL564F 3 �>\4F5 3 �4D4_<= 3 �4\5G4D 3 7D. �G74DE>5, G 4G6<=< 

>4 >>> 133,8 km (km: 497+535 3 km: 631+326) >>\< ?D54EF46]4 657G E4 56D>?E><< 

�>D<4>D>< 10; 

- �� I D544 5D. 22: 7D. �� �>\6>4<=4 3 �5>7D44 3 �474D564F 3 
<7 3 �. �<?4=>64F 3 

'4G4> 3 �D4]56> 3 $4L>4 3 �>6< �474D 3 $<54D<_<, G 4G6<=< >4 >>> 55,7 km (km: 

305+981 3 km: 361+694), E4 45>=<F>< >4 19,38 km G ?D5>?>?G E4 �� 5D. 5; < 

- �� I D544 5D. 23: �4?< �>64D564F 3 �?445=>64F 3 &>?>?4 3 �D47G\564F 3 �DG4\56F<, 

G 4G6<=< >4 >>> 8,1 km (km: 105+893 3 km: 113+981). �4 <=DD4EFDG>FGD5 65?57=<G>>7 

E4>5D4_4\4 74EFG?]5=4 \5: 

- D57<>=4?=4 \54=>>>?>E5G=4 65?57=<G>4 ?DG74 %F4?4_ 3 �D4]56> 3 �>6574, G 4G6<=< 

>4 49,3 km. �DG74 \5 5?5>FD<D<F<D4=4 =4 45>=<F< >4 �>6575 4> �D4]564. �>4 

%F4?4_4 E5 E?4\4 E4 ?DG7>< �5>7D44 3 �<L (�>D<4>D 10); 

�?4=<D4 E5 ?>5>]L4^5 E4>5D4_4\=5 4>EFG?=>EF<, ?>65_4^5 >4?4F<F5F4 < ?>5>]L4^5 

=<6>4 E4>5D4_4\=<E GE?G74 =4 ?GF=>\ <D56< >D>7 D56<F4?<74F<\G, D5>>=EFDG>F<\G < 

>4D6464^5 4D646=<E ?GF564. &4>>V5 \5 ?D546<V5=> < >><??5F<D4^5 ?GF=5 <D565, < F>: 

- D54?<74F<\4 74?44=><>D46E>>7 4GF>?GFE>>7 >>D<4>D4 �-761 �>\4F5 3 �DGL564F 3 

�D4]56> 3 '4G4> 3 �>6574 3 '6<F5 3 �>FD><4= (7D4=<F4 E4 $5?G5?<>>< %D?E>><); 

- <77D44^4 >5<?47=<F4 >>> '4G>4; 

- <77D44^4 =>6<E >?LF<=E><E ?D464F4 G F<]G 5>]57 <5VGE>5=>7 ?>657<64^4 

=4E5]4; 

- D56<F4?<74F<\4 < <>45D=<74F<\4 ?DG75 �>6574 3 �D4]56> 3 %F4?4_; 

- D5>>=EFDG>F<\4 < <>45D=<74F<\4 E?>DFE>>7 45D>4D><4 G �D5]<=<; 

- D54?<74F<\4 ?>7<EF<G><E F5=F4D4. 

�4 >5\5>4F4 =4<5^5=<E >546]4^G 6474GL=>7 E4>5D4_4\4 ?>EF>\< 6>\=< 45D>4D>< G 

�D5]<=<. 

�>4>?D<6D544 

�>4DGG\5 �?4=4 E5 6>4>< E=454564 ?D5>> 4>G<G?4F<\5 �5VG6DL\5 >>\4 ?D<?444 D5F< 

�4?44=4 �>D464. 

�=5D75F<>4 

�>4DGG\5 �D>EF>D=>7 ??4=4 >?D5<]5=> \5 5?5>FD>5=5D75FE>>< <D56>< < 

FD4D>EF4=<F4<4 =><<=4?=>7 =4?>=4 220 < 110 kV, < 4<EFD<5GF<6=>< <D56>< < 

FD4D>EF4=<F4<4 =4?>=4 35 < 10 kV, >>\< G =>D<4?=>< ?>7>=G >55755VG\G >64?<F5F=> 

=4?4\4^5 >>=7G<=>7 ?>4DGG\4. 

�4 ?>4DGG\G �?4=4 D476<\5=4 \5 <D564 74E>6>44 E4 >5\5>F<<4, < F>: D476>4=< 74E>6>4< 

=4 45>=<F4<4: �D5]<=4 3 �>6574, �D5]<=4 3 �>D^< �<?4=>64F, �D5]<=4 3 

��$%/�$% >�GG4=<= < �4]56E>> ?>]5 '6<F5; >4> < ��$% (>'4G4>=, >�D5]<=4=, >�>D^< 

�<?4=>64F=, >'6<F5= < ��$%/�$% >�GG4=<=). 
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�><G=4?=4 <=DD4EFDG>FGD4 

�D44>6< '6<F5 < '4G4>, >?LF<=5 �4\<=4 �4LF4, �>6574, �D<]5, '4\5F<=4, �>E\5D<_, 

�GG4=<, �64^<F4 EG 2005. 7>4<=5 74>]GG<?< D57<>=4?=< E?>D47G< > >E=<64^G, 

<77D44^< < >>D<L_5^G $57<>=4?=5 E4=<F4D=5 45?>=<\5 >�G5>>>= (7D44 '6<F5). 

* 

%<5D=<F5 <7 $57<>=4?=>7 ?D>EF>D=>7 ??4=4 74 ?>4DGG\5 ,G<44<\E>>7, 

�><>D46E>>7, $4L>>7 < $4E<=E>>7 G?D46=>7 >>DG74 

(>%?G655=< 7?4E=<> $%=, 5D. 39/14) 

$57<>=4?=4 >D74=<74F<\4 $5?G5?<>5 %D5<\5 E4 ?5F D57<>=4, ?>7<F<>=<D4 ??4=E>> 

?>4DGG\5 G $57<>= ,G<44<\4 < �4?44=4 %D5<\4, < G >>6<DG ^574 �D47G\564F, >4> F5=F4D 

D57<>=4, 4 G <EF> 6D5<5, E4 GD54=<< F5=FD<<4 4D646=>7 7=4G4\4 ('6<F5, '4G4>, 

�D4]56>, �DGL564F, �>D46E>> TD>7D4V5, �4\5G4D) D>D<<D4 ?>?D5G=5 6575 

(FD4=ED5D74?5 D476>\4), ?>EF46]5=5 G?D46=> =4 >><G<G= D476>\4 %D5<\5 

(65?<>><>D46E>G >E>6<=G). 

�?4=E>4 D5L5^4 <7 $57<>=4?=>7 ?D>EF>D=>7 ??4=4 74 ?>4DGG\5 ,G<44<\E>>7, 

�><>D46E>>7, $4L>>7 < $4E<=E>>7 G?D46=>7 >>DG74 (G 44]5< F5>EFG: $�� ,G<44<\E>>7, 

�><>D46E>>7, $4L>>7 < $4E<=E>>7 G?D46=>7 >>DG74) EG 45D<=<E4=4 =4 464 6D5<5=E>4 

=<6>4 < ?D5<4 EF5?5=G >54657=>EF<. �D6< ?5D<>4 4> 2015. 7>4<=5 74 ?D<>D<F5F=4 

??4=E>4 D5L5^4. �DG7< ?5D<>4 4> 2021. 7>4<=5 74 ??4=E>5 <45\5 74 >>\5 \5 >F5^5=> 44 

?>EF>\< <>7G_=>EF D54?<74F<\5 >4> EFD4F5L>4 >D<\5=F4F<\4 74 5G4G_=>EF. �>\54<=4 

??4=E>4 D5L5^4 >5GE64F4\G < ?5D<>4 <74 ??4=E>>7 E>D<7>=F4 (2021. 7>4<=5) GE?54 

E?>65=>EF< ^<E>65 D54?<74F<\5 < D44< 4>EF<74^4 ?D5F?>EF46]5=5 6<7<\5 ?D>EF>D=>7 

D476>\4 >6>7 D57<>=4. 

�<7<\5 < ?>F5=F<\4?< 

�<7<\4 ?D>EF>D=>7 D476>\4 ,G<44<\E>>7, �><>D46E>>7, $4L>>7 < $4E<=E>>7 G?D46=>7 

>>DG74, >4> 45?4 \54<=EF65=>7 $57<>=4 ,G<44<\5 < �4?44=5 %D5<\5 \5: 

$46=><5D4= D476>\, >>=>GD5=F4= < <=F57D<E4= E4 EGE54=<< DG=>F<>=4?=<< 

?>4DGG\<<4, �� �>E>6>< < �5F>E<\>< < $5?G5?<>>< &D=>< �>D><, <=DD4EFDG>FGD=> 

>?D5<]5=, 5=5D75FE>< 5D<>4E4= < 4FD4>F<64= 74 <=65EF<D4^5, G E>?44G E4 

5>>=><E><< <>7G_=>EF<<4 < ?D<=F<?<<4 >GG64^4 6<6>F=5 ED54<=5. 

�54=> >4 >E=>6=<E G?>D<LF4 �D>EF>D=>7 ??4=4 >4=>E< E5 =4 >GG64^5, D4F<>=4?=> 

>>D<L_5^5 < 74LF<FG ?D<D>4=<E D5EGDE4, =4D>G<F> 45D<F<F4D=<E < EFD4F5L>< 

7=4G4\=<E 74 D476>\ < >64?<F5F 6<6]5^4. '>G?4= 5<?4=E 6>4=<E D5EGDE4, >4> < ^<E>6 

?D>EF>D=< < 6D5<5=E>< D47<5LF4\ 74EF564 <7G75F=> ?46]<6> >>D<L_5^5 < G ?>F?G=>EF< 

>55755V5= E<EF5< 74LF<F5 >4 7474V5^4 < =5??4=E>>7 >>D<L_5^4 <76>D<LF4 ?>6DL<=E><E 

< ?>475<=<E 6>44. �=F5=7<6<D4_5 E5 E<4D>F5E=<G>5 4>F<6=>EF< =4 D57G?<E4^G 5G\<G=<E 

D5G=<E F>>>64, 74LF<F< >4 ?>??464, ?>5>]L4^G 6>4>E=454564^4 =4E5]5=<E ?>4DGG\4, 

D476>\G E<EF5<4 74 =46>4^464^5 < >46>4^464^5, >4> < E4=<F4D=>\ 74LF<F< G7D>65=<E 

<76>D<LF4 < E?<6>64. 

�4LF<F4 6<6>F=5 ED54<=5 

�E=>6=> ?>?47<LF5 ?D>EF>D=>7 D476>\4 74E=<64 E5 =4 >>=F5?FG GD46=>F565=>7, 

>4D6<6>7 D476>\4 ?>4DGG\4, ?D< G5<G E5 <4>E<<4?=4 ?46^4 ?>>?4^4 < >GG64^G 

?D<D>4=<E 5>74FEF464. ' F>< ?>7?54G, <EF<G5 E5 ?>FD554 74 GE?>EF46]4^5< 4>F<6=5 

?>?<F<>5 74LF<F5 6<6>F=5 ED54<=5 >>\4 >GG64^5< < G=4?D5V5^5< ?D<D>4=<E D5EGDE4 < 

6D54=>EF< =5 4>?D<=>E< E4<> ?>5>]L4^G G>G?=>7 >64?<F5F4 6<6]5^4, 65_ < 

E65>5GE64F=>< ?D<6D54=>-5>>=><E>>< D476>\G ?>4DGG\4. 
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* 

�76>4 <7 �D>EF>D=>7 ??4=4 ?>4DGG\4 ?>E55=5 =4<5=5 <=DD4EFDG>FGD=>7 >>D<4>D4 

4GF>?GF4 �-75, 45>=<F4 �5>7D44 3 �<L (>%?G655=< 7?4E=<> $%=, 5D. 69/03 < 121/14) 

�D>EF>D=<< ??4=>< EG >5GE64_5=5 F5?5 >4F4EF4DE>5 >?LF<=5 �>\4F5, �<_564F (64D>L), 

�<_564F < �?>G=<>. �4 G>G?4= D476>\ < <=F57D4F<\G ?D>EF>D4 %D5<\5, >4 7=4G4\4 \5 LF> E5 

>>D<4>D>< >EF64DG\G ?>6>]=<\5 6575 ED54<L^5 < \G7><EF>G=5 %D5<\5 E4 4DG7<< 

D57<>=<<4 %D5<\5: >E>6<=>< 74?44=5 < \G6=5 �>D465, ,G<44<\><, 74?44=>< < \G6=>< 

%D5<\><, &<<>G>>< �D4\<=>< < �>E>6><. ' 44=4L^>\ E<FG4F<\<, E4>5D4_4\=5 6575 

ED54<L^5 < \G7><EF>G=5 %D5<\5 E4 >6<< F5?<=4<4 EG =54>6>]=> 5D<>4E=5 < 

E4>5D4_4\=> G <765E=>< E<<E?G >E<4>=GF5=. �77D44^><, >?D5<4^5< < GD5V5^5< 

�=DD4EFDG>FGD=>7 >>D<4>D4, ?>5>]L4_5 E5 6575 �><>D46]4 E4 >EF4?<< 45?>6<<4 

%D5<\5 ?>4 GE?>6>< D5>>=EFDG>F<\5 < <77D44^5: >>D<4>D4 <5VG=4D>4=>7 ?D46F4 �-70, 

>4=>E=> �19 �5>7D44 3 �DL4F 3 7D4=<F4 E4 $G<G=<\><; 6574=>7 <=DD4EFDG>FGD=>7 

>>D<4>D4 4GF>?GF4 �4F>G<=4 3 �D47G\564F 3 74?44=><>D46E>< ?D464F; 

74?44=><>D46E>>7 >>D<4>D4 56D>?E>>7 ?GF4 �-761 >4=>E=> �-5 �>\4F5 3 �DGL564F 3 

�D4]56> 3 '4G4> 74 657<64^5 E4 5G4G_<< 4GF>?GF5< �5>7D44 3 �G6=< �44D4=; F<<>G>>7 

>>D<4>D4 �5D44? II (�D4E>6>) 3 �<L; >>D<4>D4 �-75 �<L 3 7D4=<F4 $5?G5?<>5 %565D=5 

�4>54>=<\5; < >>D<4>D4 �-80 �<L 3 �<<<FD>67D44. %4>5D4_4\=> ?>657<64^5 ?>4DGG\4 

�D>EF>D=>7 ??4=4 E4 >EF4?<< 45?>6<<4 %D5<\5 <<4 ??4=E>G <45\G 44 %D5<\4, ?>D54 

D476>\=5 7>=5 �>6< %44 3 �5>7D44, %<545D56> =4 �G=46G, �47>4<=4, �G?D<\4, �4D4_<=, 

�?5>E<=4F, �<L D476<\4 ?D<6D54=> < E4>5D4_4\=> 7=4G4\=G 7>=G: G ?>\4EG >4 �5>7D444 

4> $G<G=E>5 7D4=<F5; G F<<>G>>< �>4G=46]G (�?44>6> 3 �D4E>6>) >4> 5?<6G &D=>< 

<>DG (�EF>G=>\ �6D>?<); 4G6 ?5?5=<G>5 >E>6<=5 D476>\4 (�4F>G<=4 3 �D47G\564F 3 

�D4]56>); 4G6 �G6=5 �>D465 (�5E>>64F 3 �D4^5) E4 >D4>>< >4 �<D>FG; 4G6 �4?44=5 

�>D465 (�DGL564F 3 &DEF5=<> 3 �D4]56> 3 '4G4>); < 4G6 &<<>>4 (�57>F<= 3 �4\5G4D 3 

�^46564F). 

' >>6<DG >E=>6=5 <D565 56D>?E><E (�) ?GF564, ??4=<D4=< <47<EFD4?=< ?GF=< ?D46F< 

><>7G_<_5 ?>657<64^5 4GF>?GF4 �-75 ?D5>>: 

- ?D46F4 �5>7D44 3 7D4=<F4 $G<G=<\5 (�-70) E4 �EF>G=>< �6D>?><; 

- 74?44=>-<>D46E>>7 ?D46F4 (�-761) E4 ED54<L^>< < 74?44=>< %D5<\>< < ?D46F5< 

�5>7D44 3 �G6=< �44D4= (�-763) E4 &D=>< �>D><; 

- ?D46F4 �<L 3 �D<LF<=4 3 �5_ 3 '4>>D (7D4=<F4 &D=5 �>D5) E4 �>E>6><, �5F>E<\>< < 

&D=>< �>D><; < 

- 4GF>?GF4 �-70 (�5>7D44 3 �47D55) E4 75<]4<4 74?44=5 �6D>?5. 

$476>\ ?GF=5 <D565 <<4 ?D<>D<F5F G 6<4G <77D44^5, D5>>=EFDG>F<\5 < >4D6464^4 

>>D<4>D4 <47<EFD4?=<E < D57<>=4?=<E ?GF564 >4 7=4G4\4 74 D476>\ ?>4DGG\4 ED54<L^5 

%D5<\5 < F> <77D44^4 =>65 FD4E5 <47<EFD4?=>7 ?GF4 �-5 >4 �>\4F4 ?D5<4 �DGL56FG, E4 

?D<>D<F5F>< <77D44^5 >5<?47=<F5 >>> �>\4F4. 

' F<]G D5>>=EFDG>F<\5 < <>45D=<74F<\5 <47<EFD4?=5 ?DG75 �5>7D44 3 �<L ?D546<V5=> 

\5 44 E5 <7<5VG EF4=<F4 >�5?<>4 �?4=4= < >�<_564F= 744D6< ?>EF>\5_< >>D<4>D < 

D5>>=EFDG<L5 46>>>?>E5G=4 ?DG74, G<<5 _5 5<F< ><>7G_5=5 5D7<=5 >4 120 3 160 km/h, 

G7 <77D44^G 4DG7>7 >>?>E5>4 G 4G6<=< >4 2 km < =>6>7 <>EF4 ?D5>> D5>5 �5?<>5 �>D465 

G �G?D<\<. &4>>V5 E5 ??4=<D4 <77D44^4 45>=<F5 46>>>?>E5G=5 ?DG75 G 4G6<=< >4 19 km 

E4 45?>< G FG=5?<<4 >4 �<_56F4 4> �G=<E4. 
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* 

�76>4 <7 �D>EF>D=>7 ??4=4 ?>4DGG\4 ?>E55=5 =4<5=5 <=DD4EFDG>FGD=>7 >>D<4>D4 

�5>7D44 3 �G6=< �44D4= (>%?G655=< 7?4E=<> $%=, 5D. 37/06 < 31/10) 

�D>EF>=< ??4= >5GE64F4 ?>4DGG\5 <47<EFD4?=>7 <=DD4EFDG>FGD=>7 >>D<4>D4 GF6DV5=>7 

�D>EF>=<< ??4=>< $5?G5?<>5 %D5<\5 >><5 ?D<?444 7D44 '4G4> (>4F4EF4DE>5 >?LF<=5 

�D<E?>=<F4, �D5]<=4, %>>>?<_<, $4>>64, �D4=<_<, 
G5<_, &D5GL4=<, �D<\56>D < 

�4>>6D4_5). 

�GF>?GF �-763 _5 E5 =4 F5D<F>D<\< ����� <=DD4EFDG>FGD=>7 >>D<4>D4 �-761 �>\4F5 3 

�D5]<=4 >E?4^4F< < ?>657<64F< <D56G E4>5D4_4\=<F4 $% < &D=5 �>D5. 

' >>6<DG FD4E5 4GF>?GF4 >>\< G?47< G ����� <=DD4EFDG>FGD=>7 >>D<4>D4 �>\4F5 3 

�D5]<=4 E5 =4?47< �5>=<F4 �D5]<=4 3 &D5GL4=<. % F<< G 657<, ??4=<D4=4 \5 <77D44^4 

?5F]5 �D5]<=4 G DG=>F<\< ?>657<64^4 7>=5 >>> =4E5]4 '4G4>, 4D646=<E ?GF564 5D>\ 5 

< 22 E4 ??4=<D4=<< 4GF>?GF5< �-763. 

* 

�76>4 <7 �D>EF>D=>7 ??4=4 ?>4DGG\4 ?>E55=5 =4<5=5 <=DD4EFDG>FGD=>7 >>D<4>D4 

5D75 E4>5D4_4\=<F5 I� D544 >4 �D47G\56F4 4> 6575 E4 4D646=<< ?GF5< IA D544 �5 (�-

761) (>%?G655=< 7?4E=<> $%î, 5D. 46/2023) 

%4>5D4_4\=> ?>657<64^5 ?>4DGG\4 �D>EF>D=>7 ??4=4 E4 >EF4?<< 45?>6<<4 %D5<\5 74E=<64 

E5 =4 ??4=E>>\ >>=F5?F<\< �D>EF>D=>7 ??4=4 $5?G5?<>5 %D5<\5 < EFD4F5L>>< ?D<>D<F5FG 

\4G4^4 6574 < ?>657<64^4 �>D<4>D4 X (4GF>?GF �-75), ?>ED54=> < �>D<4>D4 VII (D5>4 �G=46), 

E4 F76. >�>D46E><< >>D<4>D><î, >4=>E=> 4GF>?GFE><< ?D46F5< �5 (�-761). 

�77D44^4, >?D5<4^5 < GD5V5^5 <=DD4EFDG>FGD=>7 >>D<4>D4 <=4<D5>F=> _5 4>?D<=5F< 

\4G4^G E4>5D4_4\=<E, ?D<6D54=<E < 4DG7<E DG=>F<\4 7D44>64 �D47G\56F4, '4G>4 < �D4]564 < 

65_57 5D>\4 >EF4?<E 7D44>64 < >?LF<=4, 4 F<<5 < >EF64D<64^G F<]564 �D>EF>D=>7 ??4=4 

$5?G5?<>5 %D5<\5 < G>G?=5 EFD4F57<\5 D476>\4 %D5<\5. �D74 E4>5D4_4\=<F4 _5 ?D54EF46]4F< 

45> ?D<<4D=>7 ?>\4E4 D476>\4, >4 65?<>><>D46E>>7 ?>\4E4 (>>D<4>D4 X), >4 

74?44=><>D46E>>< ?>\4EG, < ><>7G_<_5 5>]5 ?>7<F<>=<D4^5 �D47G\56F4, >4> < ?D>EF>D=G 

<=F57D4F<\G 6<L5 ?D<<4D=<E < E5>G=44D=<E ?>\4E564 D476>\4. 

�?4=<D4=4 FD4E4 �D75 E4>5D4_4\=<F5 G>G?=5 4G6<=5 36 km ?>G<^5 >4 ??4=<D4=5 ?5F]5 

(45=<65?<E4=5 D4E>DE=<F5) >�D47>5D4_4î (>5<?47=<F4 7D444 �D47G\56F4), ?DG64 E5 >4 

74?44G < \G7>74?44G >5<?475_< ?>4DGG\5 6>4>4>G<G?4F<\5 >�DG64î, G>DLF4 E5 E4 ?>EF>\5_<< 

4D646=<< ?GF5< II� D544 5D>\ 380 (??4=<D4=4 ?5F]4 >�=<_î), G>DLF4 E5 E4 ?>EF>\5_<< 

4D646=<< ?GF5< I� D544 5D>\ 46 (??4=<D4=4 ?5F]4 >�G<54D56> �D4>î), G>DLF4 E5 E4 

?>EF>\5_<< 4D646=<< ?GF5< I� D544 5D>\ 22 (??4=<D4=4 ?5F]4 >�DG4\56F<î) < 44]5 >4 \G7G 

E?4\4 ?5F]>< >�4FD74î E4 4D646=<< ?GF5< IA D544 �5 (�-761). 

�4 ?>4DGG\G �D>EF>D=>7 ??4=4, 74 G<F46G FD4EG �D75 E4>5D4_4\=<F5, ??4=<D4 E5 < ?D>\5>FG\5 

FD4E4 ?GF4 74 D4GG=E>G 5D7<=G >4 100 km/h. 

* 

�76>4 <7 �7<5=4 < 4>?G=4 �D>EF>D=>7 ??4=4 ?>4DGG\4 ?>E55=5 =4<5=5 

<=DD4EFDG>FGD=>7 >>D<4>D4 4GF>?GF4 �-761, 45>=<F4 �>\4F5 3 �D5]<=4 / ?D64 D474 

(>%?G655=< 7?4E=<> $%î, 5D>\ 22/2024) 

�D64 D474 �7<5=4 < 4>?G=4 �?4=4 E5 >4=>E< =4 E?545_5 <7<5=5 : 

1) �5=<65?<E4=4 D4E>DE=<F4 >�>\4F5= 3 ?>EF>\5_4 

�?4=<D4=> D5L5^5 45=<65?<E4=5 D4E>DE=<F5 >�>\4F5= \5 45=<65?<E4=4 D4E>DE=<F4 F<?4 

FD>G74>, >>\5 ?D54EF46]4 =4\6<L< DG=>F<>=4?=< =<6> D4E>DE=<F5 74 <5VGE>5=> 
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?>657<64^5 464 4GF>?GF=4 ?D46F4. $5>>=EFDG>F<\4 45=<65?<E4=5 D4E>DE=<F5 >�>\4F5= E5 

<76>4< G ?>EF>\5_5< ?>\4EG 4GF>?GF4 � 75, 45>=<F4 �5>7D44 3 �<L < >5GE64F4 =>65 

>4F4EF4DE>5 ?4DF5?5 < F> =4: F5D<F>D<\< �?LF<=5 �<_564F, �.�. �>\4F5; < F5D<F>D<\< 

�?LF<=5 �4D4_<=, �.�. �D5=>64F. 

2) �5=<65?<E4=4 D4E>DE=<F4 >�>L56<= 3 =>64 

�5=<65?<E4=4 D4E>DE=<F4 >�>L56<= \5 ??4=<D4=4 >4> 6574 4GF>?GF4 �-761 E4 ?>EF>\5_>< 

?GF=>< <D56><, >4=>E=> E4 4D646=<< ?GF5< I � D544 5D. 23. �?4=<D4=4 \5 D5>>=EFDG>F<\4 

4D646=>7 ?GF4 G 7>=< G>?4?4^4 =4 >DG6=G D4E>DE=<FG. �>64 45=<65?<E4=4 D4E>DE=<F4 

>5GE64F4 >4F4EF4DE>5 ?4DF5?5 < F> =4: F5D<F>D<\< 7D444 �DGL56F4, �.�. �G>]<=, �.�. 

�5?5]564F, �.�. �?>5>45D. 

3) �5L4G>< 6<E5_< <>EF >�4E>4D5= 

�5>7 D44>64 =4 E<4D>F5E=<G>>< GD5V5^G D5>5 �4?44=4 �>D464, =5>?E>4=> \5 DGL5^5 

?>EF>\5_57 ?5L4G>>7 6<E5_57 <>EF4, >>\< E5 =4?47< =4 F5D<F>D<\< >?LF<=5 �<_564F < 

�4D64D<= < ?>657G\5 E5?> �4E>4D5 < �D44 %F4?4_. �>6< ?5L4G>< <>EF E5 7D44< =4 <EF>< 

<5EFG < >5GE64F4 >4F4EF4DE>5 ?4DF5?5 < F> =4: F5D<F>D<\< �?LF<=5 �<_564F, �.�. �D44 

%F4?4_; < F5D<F>D<\< �?LF<=5 �4D64D<=, �.�. �4E>4D5. 

4) �5=<65?<E4=4 D4E>DE=<F4 >�4<<_>D4= 3 �446>6^4> >%<DG4= 

' 7>=< 45=<65?<E4=5 D4E>DE=<F5 >�4<<_>D4=, ?D54?>65=4 \5 <7<5=4 D5L5^4 ?D<EFG?4 

=4E5]G %<DG4. �64 <7<5=4 ?>4D47G<564 ?D>4G65F4> ??4=<D4=>7 <>EF4 ?D5>> 5G4G_57 

D5G=>7 >>D<F4 �4?44=5 �>D465, F4>> 44 E5 ?D5<>EF< 5G4G_< 4GF>-?GF < =4 F4\ =4G<= 

>557554< =4\>D4_4 6574 =4E5]4 %<DG4 E4 ?>4DGG\5< 7D444 �D4]564. �D<EFG?=> D5L5^5 74 

=4E5]5 %<DG4 >5GE64F4 =>65 >4F4EF4DE>5 ?4DF5?5 < F> =4 F5D<F>D<\< �D444 �D4]564 G 

45?>6<<4 �.�. %<DG4 < �.�. �D4]56>. 

 

I/1.5 ���% ��%&������ %&���, ��$�,���� �$�%&�$� � ��$���'��� 

�?4=E>> ?>4DGG\5 >5GE64F4 4>?<=E>5 45?>65 4G6 F>>4 �4?44=5 �>D465 >4 G4G4=E>5, 

?D5>> >D4]564G>5 < >DGL564G>5 >>F?<=5 4> 65?<>><>D46E>5 4>?<=5 G 7>=< �<_56F4, 

>4> < 5D56G]>4EF< >5>4 74?44=><>D46E>5 4>?<=5 =4 E565DG < \G7G. 

%4>5D4_4\=<F4 4GF>?GF4 �-761 45>=<F4 �>\4F5 3 �D5]<=4 ?D>?47< 4>?<=>< �4?44=5 

�>D465 < ?>657G\5 E64 65_4 =4E5]4 G D57<>=G: %F4?4_, �DGL564F, &DEF5=<>, �D^4G>G 

�4^G, �D4]56> < '4G4>. 

�4 >6>< ?>4DGG\G 6<E<=E>5 D47?<>5 F5D5=4 =<EG 65?<>5 < <7=>E5 >4 130 <=6 (7>=5 ?>D54 

�5?<>5 �>D465, =<76>4=> >4 �4D64D<=4) 4> 350 <=6, =4 >E=>6G G574 E5 E6DEF464 G F5D5= 

>>\< <<4 G<5D5=> D4LG?4^5= D5]5D. 

' 6>4>=>E=<< ED54<=4<4, D>D<<D4=5 EG 5D>\=5 4>G<G?4F<\5 ?>475<=<E 6>44 3 <744=<, 

D47?<G<F>7 EFDG>FGD4?=>7 F<?4 (75<\5=5 < D475<\5=5) < E<4D4G?<G=>7 <5E4=<7<4 

(E?>5>4=5, EG54DF5DE>5 < 4DF5DE>5. �4 ?D54<5F=>< ?>4DGG\G E5 <EF<GG 6D?> ?>6>]=< 

>?<<4FE>< GE?>6<, >4> < ?>EF>\4^5 7=4G4\=<E ?56<LF4 F5E=<G>>7 >4<5=4, L]G=>4 < 

?5E>4. �>65 E5 D5_< 44 ?>E<4FD4=> ?>4DGG\5 ?D54EF46]4 E<4D>75>?>L>< ?5DE?5>F<64= 

F5D5= 75>7 65?<>>7 5D>\4 ?>\464 F5D<4?=<E < F5D<><<=5D4?=<E 6>44. 

�>EF>\5_5 4>G<G?4F<\5 < 6>4=< >4?4F<F5F< ><>7G_464\G 4G7>D>G=> >55755V5^5 6>45 74 

?<_5 >4> < D?4L<D4^5 6>45. 

�D54<5F=< ?D>EF>D 75=5D4?=> ?D<?444 E5<7<<G>< 6D?> 4>F<6=>< ?>4DGG\G, F\. 45> \5 

%D54>75<=>-FD4=E47<\E>>7 E5<7<<G>>7 ?>\4E4 < =4?47< E5 G 7>=< 7° �CS-64. 
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�5><4 \5 ?>6>]4= 75>E4>5D4_4\=< ?>?>64\ < 4>5D4 E4>5D4_4\=4 4>EFG?=>EF >>\G 

?D54EF46]4\G 5?<7<=4 56D>?E>>7 E4>5D4_4\=>7 >>D<4>D4 3 ?GF=< >>D<4>D %, ??4=<D4=< 

�GF>?GF �-763, 65?57=<G>< >>D<4>D, ?>EF>\5_4 FD4=E?>DF=4 <D564 < <=DD4EFDG>FGD=< 

D5EGDE<, >E=>6=4 <=DD4EFDG>FGD4 6474GL=>7 E4>5D4_4\4, >4> < ?D<D>4=< ?D54GE?>6< 74 

>D74=<7>64^5 =5<>F>D=<E 6<4>64 E4>5D4_4\4. 

�G4G_< >>D<4>D 4GF>-?GF4 E-761, 45>=<F4 �>\4F5 3 �D5]<=5 =4\65_<< 45?>< ?D>?47< 

4>?<=>< �4?44=5 �>D465. �G6<=4 4GF>-?GF4 >4 �>\4F4 4> �D5]<=5 \5 >>> 110 km, 4>> 

4G6<=4 F>>4 �4?44=5 �>D465 =4 >6>< ?>F57G <7=>E< >>> 138 km. 

&D4E4 ??4=<D4=>7 4GF>-?GF4 E5 7>F>6> F5?>< 4G6<=>< =4?47< G 7>=< >>\4 \5 <7?>65=4 

??46]5^G 65?<><E 6>44 �4?44=5 �>D465, 4 =4 65?<>>\ 4G6<=< 4<D5>F=> >>=F4>F<D4 E4 

D5G=<< F>>>< (=4 <5EF<<4 G>DLF4^4 < G 7>=4<4 745 \5 FD4E4 4GF>-?GF4 5?<7G D5G=>7 

>>D<F4). 

%F4=>6=<LF6> E5 FD44<F<>=4?=> 546< ?>]>?D<6D54>< (>>> 12% EF4=>6=<LF64) LF> 

?D54EF46]4 >4?<G4= >E=>6 74 D476>\ ?>6DF4DEF64, 6>_4DEF64, 6<=>7D444DEF64 < 

>4D5V5=<E D4F4DE><E >G?FGD4. �>]>?D<6D54=> 75<]<LF5 G<=< 226.761 ha, 4>> LG<E>> 

75<]<LF5 ?>>D<64 148.854 ha < ?D5F56=> \5 ?<L_4DE>>7 >4D4>F5D4. 

$476<\5=4 \5 ?D5D4V<64G>4 <=4GEFD<\4, ?>E55=> <5F4?E>4, E5<<\E>4, ?D5ED4<55=4, 

7G<4DE>4, 4D6=>?D5D4V<64G>4, =4<5=E>4 < 4DG75. �D<EGF=< EG < 7=4G4\=< <=4GEFD<\E>< 

>4?4F<F5F< >>\< EG G7?46=>< <76>7=>7 >4D4>F5D4 (D45D<>4 7G<4 >&D4\4?=, $�� 4.4., 

E5<<\E>4 >%5=>5? �5D<<4=, >$G5<==, <5F4?E>< >><??5>E >14 >>F>54D=, <=4GEFD<\4 

E<4D4G?<G=<E GD5V4\4 >�D64 �5F>?5F>4=, ?D5ED4<55=4 >$G45>E=, >%?>5>44=, D45D<>4 

E?5F<\4?=5 ?D><76>4^5 <F4.). 

�D<EGF=> \5 ?>EF>\4^5 <=4GEFD<\E><E 7>=4 G 65_<< F5=FD<<4 ('4G4>, �D4]56>, 

�DGL564F, &DEF5=<>) < <4^<E D44=<E 7>=4 G >EF4?<< >?LF<=E><< F5=FD<<4 (�4D64D<= < 

�<_564F), >4> < G \54=>< 5D>\G =4E5]4 G 64=7D44E>>< ?>4DGG\G (�>\E<^5, �DG4\56F<, 


G5<_, �D5]<=4, �5D56, �>\4F5, $<54D5, �>^GE, �4>=<> < 4D.). 

�5><4 \5 D476<\5= 54^E>< FGD<74< 74E=>64= =4 >>D<L_5^G F5D<4?=<E < 

F5D<><<=5D4?=<E 6>44 (�D^4G>4, �4F4DGL>4, �6G4D, �>7GF>64G>4, �>D^4 &D5?G4, 

%?4F<=E>4, $<54DE>4). 

%4<> \544= 45> ?D<D>4=<E < >G?FGD=<E 6D54=>EF< G >>\5 E?444\G <4=4EF<D<, FD>65, 

4DE5>?>L>4 =4?47<LF4 < E?. \5 74LF<_5=. 

�>4DGG\5 \5 ?>>D<65=> D476>\=>< 4>>G<5=F4F<\>< G 6<4G ���-4 < ��$->64 >?LF<=4 < 

7D44>64. 

�>5D> \5 D476<\5=4 <=EF<FGF<>=4?=4 < EFDGG=4 <D564 >>\G G<=5 $57<>=4?=4 ?D<6D54=4 

>><>D4 G �DGL56FG < �D4]56G, $57<>=4?=< F5=F4D 74 D476>\ �%�, �=EF<FGF 74 >D<=> 

5<]5 G �DGL56FG, &5E=<G>< D4>G?F5F, EFDG>>6=4 G4DG65^4 <F4. 

�544= >4 ?D>5?5<4 ?D54EF46]4 =5??4=E>> 74G7<<4^5 ?>]>?D<6D54=>7 75<]<LF4 G 

=5?>]>?D<6D54=5 E6DE5, G7D>65=>EF 6<E>><< ?>475<=<< 6>44<4 >4> < 457D444F<\4 

75<]<LF4 E5<<\E><< 475=E<<4. 

�7D465=4 EG =5?>6>]=4 45<>7D4DE>4 >D5F4^4 G 6<4G ?D>F5E4 45?>?G?4F<\5 < EF4D5^4 

EF4=>6=<LF64 =4 E5>E>>< ?>4DGG\G. 

�D>5?5<< G D476>\G ?>]>?D<6D545 EG <7D465=< ?D5>> =54>EF4F>4 47D>5>>=><E>5 

D5\>=<74F<\5, =5D476<\5=>7 744DG74DEF64, =54>6>]=> E>?44<L=>7 ?D>EF>D4, GE<F^5=>EF 

?>]>?D<6D54=<E ?D><76>V4G4 >4> < =4?GLF5=4 ?>]>?D<6D54=4 75<]<LF4, 74EF4D5?4 

<5E4=<74F<\4 < 4D. 
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�D5>><5D=4 < =5??4=E>4 5>E??>4F4F<\4 LG<4 GE?>6<?4 \5 5D>7<\G 75<]<LF4. 

&>> D5>5 �4?44=5 �>D465 ?D54EF46]4 ?D<D>4=G 54D<\5DG. �474V<64^5 ?>6DL<=E><E < 

?>475<=<E 6>44, EF4D4 6>4>6>4=4 <D564 < 65?<>< 7G5<F<, =5<77D4V5=>EF 

>4=4?<74F<>=5 <D565 < ���� EF64D4\G >75<]=5 ?D>5?5<5 < >F56464\G E64>>4=56=> 

DG=>F<>=<E4^5 EF4=>6=<LF64. �5D476<\5=< E<EF5<< 74 >46>V5^5 4F<>ED5DE><E 6>44 < 

74LF<FG >4 ?5D<>4<G=<E ?>??464, 5G\<F4 < 5D>7<\5 4>44F=> >F56464\G E<FG4F<\G. 

�D<EGEF6> 5D>\=<E 5>>=><E><E ?D>5?5<4 < ?D>?444^5 7=4G4\=<E ?D<6D54=<E EG5\5>4F4, 

?>E55=> 65_<E GF<F4?< EG =4 =<6< EF5?5= 74?>E?5=>EF< < =4 ?>D4EF =574?>E?5=>EF<. 

�D?> G5EF> \5 <7D465=4 =5445>64F=4 >?D5<]5=>EF ?>EF>\5_<E <=4GEFD<\E><E ?>>4F<\4. 

�D>5?5<5 G D476>\G FGD<7<4 ?D54EF46]4\G =54>6>]=4 4>F<6=>EF FGD<EF<G><E D5EGDE4, 

74>EF4\4^5 G FGD<EF<G>>\ <=DD4EFDG>FGD<, =54>EF4F4> <5VG>?LF<=E>5 < <5VGD57<>=4?=5 

FGD<EF<G>5 E4D44^5 < E?. �5?>EF>\4^5 EF45<?=<E <76>D4 ?D<E>44, EF4^5 ?>EF>\5_5 

?GF=5 <=DD4EFDG>FGD5 >4> < =5<=F57D<E4=< 6<4>6< E4>5D4_4\4 G7 =54>6>]=> D476<\5=G 

<D56G 5<F<>?<EF<G><E < ?5L4G><E EF474 4>44F=> GF<GG =4 D476>\ FGD<7<4. 

 

I/1.6 ��&��&����� � ��$���'��� 

�>F5=F<\4?< 

�>EF>\< <>7G_=>EF ?>657<64^4 ?>]>?D<6D545 E4 4DG7<< 45?4F=>EF<<4 ?> <>45?G 

<G?F<DG=>F<>=4?=>7 D476>\4. 

�>EF>\< <>7G_=>EF >>D<L_5^4 4D6=5 <4E5 74 ?D><76>4^G 5=5D7<\5 < 7=4G4\=5 

<>7G_=>EF< 74 >>D<L_5^5 LG<E><E ??>4>64 < 74\5^5 ?5>>6<F>7 5<]4. 

�EF64DG\G E5 ?>6>]=< GE?>6< 74 >>D<L_5^5 <<=5D4?=<E D5EGDE4 < >>D<L_5^5 

F5D<4?=<E 6>44 >4> 5=5D75FE>>7 ?>F5=F<\4?4. 

&GD<EF<G>4 64?>D<74F<\4 7D44E><E < 54^E><E ?D>EF>D4, FGD<EF<G>>7 ?>F5=F<\4?4 

�4?44=5 < �5?<>5 �>D465 < ?>7<EF<G>4 ?>4DL>4 FGD<7<G ??4=<=E><E 7>=4 G >>DG65^G 

<>65 4>?D<=5F< D476>\G FGD<7<4. �D<D>4=< ?>F5=F<\4? 74 D476>\ D47?<G<F<E 6<4>64 

FGD<7<4 3 ??4=<=E>4 ?>4DGG\4 (�>G, �>\E<^E>5 ??4=<=5, �5]<=, %F>?>6<, �4EFD554F < 

4D.), \575DE>4 (�5VG6DL\5, �6G4DE>>->45?4DE>>, �4D<5=4F < 4D.), >GG64=4 DGD4?=4 

?>4DGG\4 G 65_<=< >?LF<=4 < 4D. < 4>F<6<D4^5 =>6<E ?>>4F<\4 74 D476>\ 54^E>>7 

FGD<7<4 (�4D64D<=, �DGL564F < 4D.), <=F5=7<6=<\5 >>D<L_5^5 ?>EF>\5_<E 54^4 

(�D^4G>5, �4F4DGL>5, �>7GF>64G>5, �6G4DE>5, �.&D5?G5, $<54DE>5), D?4L<D4^5 

<<=5D4?=<E 6>44 (�D4L\5), >4> < >>D<L_5^5 G 5=5D75FE>5 E6DE5 (�6G4D) 

'=4?D5V5^5 D476>\4 <=4GEFD<\5 E5 <>65 >EF64D<F< G7 ?><>_ <=4GEFD<\E><E 7>=4 < 

?4D>>64 =4 ??4=E>>< ?>4DGG\G (�D4]56>, �DGL564F, '4G4>, &DEF5=<>, �<_564F, 

�4D64D<=). �>7G_=>EF <77D44^5 ??4=<D4=<E ?>7<EF<G><E F5=F4D4 ('4G4> < �D4]56>), 

>4> < ?>EF>\4^5 >brown field= ?>>4F<\4 (�D4]56>, �DGL564F, '4G4>, �D^4G>4 �4^4, 

&DEF5=<>) ?>E55=> =5>444L^<E 6>\=<E, E>?44<L=<E < <=4GEFD<\E><E ?D>EF>D4. 

�>EF>\5 6D?> ?>6>]=< ?D<D>4=< GE?>6< 74 D476>\ 5<F<>?<EF<G>>7 E4>5D4_4\4 E4 

?>FD55=>< <=DD4EFDG>FGD><. 

�>4=< ?>F5=F<\4? 3 E<4D> (<54DE>< < 74?44=> <>D46E>< E<4D>?>F5=F<\4?) < <<=5D4?=< 

< F5D<><<=5D4?=< <76>D< (74 D476>\ 54^E>>7 FGD<7<4 < D?4L<D4^5), <77D44^4 =>6<E 

4>G<G?4F<\4, <>7G_=>EF L<D5^4 6>4>6>4=<E E<EF5<4 =4 E5>E>4 ?>4DGG\4 < 

6>4>D57G?4F<\4 (<5D5 < >5\5>F< G DG=>F<\< 74LF<F5 >4 65?<><E 6>44); 

�5?>>D5F=4 >G?FGD=4 4>5D4 3 <4=4EF<D< (%FG45=<F4, �<G4, �4?5=<_, 
G5>EF<^5 < 4D.), 

5D>\=5 FD>65, $<<E>5 F5D<5 <7 4. 65>4 < 4D.); 
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�?4EF5DE>> G4DG6<64^5 G D47?<G<F<< ?D><76>4=<< < GE?G6=<< >5?4EF<<4 (<=4GEFD<\4, 

?>]>?D<6D544, FGD<74<, 74D46EF6>) < =4 D47?<G<F<< =<6><<4 (>?LF<=5/7D44>6<, 

<5VG>?LF<=E>< < <5VGD57<>=4?=<). �>4EF<F4^5 =>6<E 4>F<6=>EF< < ?D54G75F=<LF64 

?>E55=> G: GE?G74<4 (E4>5D4_4\=<<, ?D><5F=<<, E>?44<L=<< < 4D.); FGD<7<G (=4D>G<F> 

FD4=7<F=><) < G7>EF<F5]EF6G; ?>]>?D<6D54< F\. ?D5D44< < ??4E<4=G ?>]>?D<6D54=<E 

?D><76>44 < 4D.; 

�>7G_=>EF< >F64D4^4 ?D5<4 =>6<< FD6<LF<<4 G EGE54=<< 4D6464<4 ?GF5< 

D54?<74F<\5 DG=>F<>=4?=5 ?GF=5 <D565 < ?>65_4^4 E?>]=>-FD7>6<=E>5 D47<5=5, 

<<4\G_< G 6<4G D>D<<D4=G FD46^G 74 ?>]>?D<6D54=>-?D5ED4<55=<<, 7G<4DE><<, 

?D><76>4<<4 =4<5=E>5 < >5>\5=5 <5F4?GD7<\5, < D4E?>?>6<65 ?D<D>4=5 D5EGDE5 < 

<77D4V5=5 >4?4F<F5F5. 

 

�7D4=<G5^4 

�474V5^5 75<]<LF4 < ?>475<=<E 6>44 >4 ?D5>><5D=5 < =5445>64F=5 G?>FD555 

E5<<\E><E ED54EF464 G ?>]>?D<6D54=>\ ?D><76>4^<. 

�5??4=E>> < =5D4F<>=4?=> >>D<L_5^5 LG<E><E D5EGDE4. 

�5>4 ?>F5=F<\4?=4 ?56<LF4 L]G=>4 < ?5E>4 E5 =4?475 G 7>=4<4 <77D44^5 ??4=<D4=>7 

4GF>?GF4. '7D>6464^5 6<6>F=5 ED54<=5 < 5>>E<EF5<4 =5??4=E>>< 5>E??>4F4F<\>< 

<<=5D4?=<E E<D>6<=4. �5?>6>]=< 5D5>F< 5>E??>4F4F<\5 <<=5D4?=<E E<D>6<=4 =4 

6<6>F=G ED54<=G < E4>5D4_4\=<F5, G7 >4EGEF6> >47>64D4\G_5 >><?5=74F<\5 < 

=5445>64F=4 D5>G?F<64F<\4 ?D>EF>D4. 

�>L5 EF4^5 6>4>6>4=5 <=DD4EFDG>FGD5 < E4=<F4F<\5 =4E5]4, =4EF464> 44]57 7474V5^4 

?>6DL<=E><E < ?>475<=<E 6>44, >4> < =54>EF4F4> ?D>\5>F=5 4>>G<5=F4F<\5 74 

D54?<74F<\G 6>4>6>4=<E, >4=4?<74F<>=<E < E<EF5<4 74 74LF<FG >4 65?<><E 6>44. 

�>?>64\ FD4E5 ??4=<D4=>7 4GF>?GF4 >>\< ?D5E5F4 4>E444L^5 F>>>65 >><G=<>4F<\4 

<7<5VG =4E5]4, D44=<E 7>=4 < ?>]>?D<6D54=<E ?>6DL<=4 < 4D. 

�G7 ?5D<>4 >4 <7D445 ?D>\5>F=5 4>>G<5=F4F<\5 4> D54?<74F<\5 <=DD4EFDG>FGD=<E 

>>D<4>D4. �5?<>4 D<=4=E<\E>4 ED54EF64 ?>FD55=4 74 D54?<74F<\G 4GF>?GFE>>7 >>D<4>D4 

>4> < LF5F=< GF<F4\< <>F>D=>7 E4>5D4_4\4 =4 6<6>F=G ED54<=G. 

 

I/1.7 &�
��� �����-4 

- 'E?>EF46]4^5 4G7>D>G=5 EFD4F57<\5 D476>\4 ?>4DGG\4 >D>7 >>\5 ?D>?47< 

<=DD4EFDG>FGD=< >>D<4>D, G E>?44G E4 D57<>=4?=<< < ?>>4?=<< D476>\=<< 

?>F5=F<\4?<<4; 

- 'F6DV<64^5 ??4=E><E D5L5^4 >>\<<4 E5 D575D6<L5 ?D>EF>D 74 <=DD4EFDG>FGD=< 

>>D<4>D, GF6DVG\5 ?>E554= D56<< 74LF<F5 >>D<4>D4 < >>=F4>F=<E ?>4DGG\4, 

>55755VG\G GE?>6< 74 G>DLF4^5 < ?D>?475; 

- �5D<=<E4^5 >4=>E4 E4 >EF4?<< =4<5=4<4 < <=DD4EFDG>FGD=<< E<EF5<<<4 G 

=5?>ED54=>< >>=F4>FG; 

- $G=>F<>=4?=< D47<5LF4\ < ??4=<D4^5 =>6<E >><?4F<5<?=<E =4<5=4 (E44D64\4); 

- 'F6DV<64^5 >?F<<4?=5 FD4E5 4GF>?GF4 � -761, 45>=<F4 �>\4F5 3 �D5]<=4 < 

>?F<<4?=5 E4>5D4_4\=5 <D565 E6<E \46=<E ?GF564 G >>DG65^G >>D<4>D4; 

- 'F6DV<64^5 ?>>4F<\5 45=<65?<E4=<E ?5F]< < 45=<65?<E4=<E G>DLF4^4 =4 

<=DD4EFDG>FGD=>< >>D<4>DG; 

- 'F6DV<64^5 ?>>4F<\4 DG=>F<>=4?=<E ?D4F5_<E E44D64\4 (5475 74 >4D6464^5 < 
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=4??4F4 ?GF4D<=5) =4 <=DD4EFDG>FGD=>< >>D<4>DG; 

- 'F6DV<64^5 ?>>4F<\4 ?D4F5_<E E44D64\4 74 ?>FD555 >>D<E=<>4 ?GF4 (?4D><D4?<LF4, 

>4<>D<LF4 < GE?G6=< F5=FD<) =4 <=DD4EFDG>FGD=>< >>D<4>DG; 

- 'F6DV<64^5 ?>?>64\4 >>D<4>D4 65?57=<G>5 ?DG75 G <=DD4EFDG>FGD=>< >>D<4>DG; 

- �5D<=<E4^5 6>4>?D<6D54=>7 D476>\4, 74LF<F4 < GD5V5^5 E?<6>64; 

- 'F6DV<64^5 ?>?>64\4 >>D<4>D4 5?5>FD>5=5D75FE>5 < F5?5>><G=<>4F<>=5 

<=DD4EFDG>FGD5 G >>D<4>DG; 

- 'F6DV<64^5 ?>?>64\4 F5D<>5=5D75FE>5 <=DD4EFDG>FGD5 G >>D<4>DG; 

- 'F6DV<64^5 ?>?>64\4 >>D<4>D4 <47<EFD4?=<E, D57<>=4?=<E < D476>4=<E 74E>6>44, 

=4DF>6>44 < ?D>4G>F>6>44 G <=DD4EFDG>FGD=>< >>D<4>DG; 

- �>4EF<F4^5 44]57 D476>\4 ?>EF>\5_<E =4E5]4, ?>5>]L4^5 E4>5D4_4\=5 ?>6574=>EF< 

>>\>< E5 >EF64DG\5 5>]4 >><G=<>4F<\4 E6<E =4E5]4 G <D56<; 

- �GG64^5 < G=4?D5V5^5 5>>?>L><E, >G?FGD>?>L><E < 4DG7<E 6D54=>EF< G =4E5]<<4; 

- �<>7G_464^5 >EF64D5^5 >4D6<6>7 D476>\4 ?>]>?D<6D54=5 ?D><76>4^5 G >>DG65^G 

>>D<4>D4 < <4>E<<4?=> >GG64^5 ?>EF>\5_57 >64?<F5F4 ?>]>?D<6D54=>7 75<]<LF4; 

- �4LF<F4 75<]<LF4 >4 <>7G_5 457D444F<\5 >F?44=<< 6>44<4; 

- 'E47?4L464^5 < D5L464^5 ?>F5=F<\4?=<E >>=D?<>4F4 6574=<E 74 ?D>?474> >>D<4>D4 

>D>7 LG<5 < LG<E>> 75<]<LF5; 

- $476>\ FGD<7<4 G >5GE64FG ?D>EF>D=>7 ??4=4 ?D<?47>4<F< ?>FD554<4 FGD<EF<G><E 

FD6<LF4 < ?>>4?=>7 EF4=>6=<LF64, 4?< < 74EF56<<4 >>\5 FD4=7<F =4 >>D<4>DG 

?>EF46]4 G ?>7?54G G4>5=>EF< < 557554=>EF< ?GF>64^4; 

- �557554<F< 74LF<FG >4 5G>5 =4 45?>6<<4 >>D<4>D4 >>\< ?D>?475 ?>D54 =4E5]4; 

- �<=<<<7<D4^5 < ?<<<F<D4^5 E6<E >5?<>4 5<<E<\5 ?>?GF4=4F4 6<6>F=5 ED54<=5 G F<]G 

>GG64^4 >64?<F5F4 G<=<?4F4 6<6>F=5 ED54<=5 (6>45, 6474GE4, 75<]<LF4, 5G>5); 

- �GG64^5 < GD5V5^5 ?D545?4 =4 ?>4DGG\G ?D>EF>D=>7 ??4=4; 

- �GG64^5 ?D<D>4=<E 5>>E<EF5<4; 

- �GG64^5 ?>EF>\5_57 5<>4<65D7<F5F4; 

- %<4D>F5E=<G>> < ?5\746=> GD5V5^5 E4 D5>G?F<64F<\>< ?D>EF>D4 ?>74\<<LF4 < 

>4?474?<LF4 <4F5D<\4?4 74 <77D44^G 4GF>-?GF4. 

 

I/1.8 �'������� �$��&� �����$��� ' ������' '���$����� ��'��� 

 ��$�,���� �$�%&�$� 

�E=>6=> >>=F5?F<\E>> >?D545]5^5 \5 D575D6<E4^5 ?D>EF>D4 74 >>D<4>D ??4=<D4=>7 

4GF>?GF4 G7 744>6>]5^5 >E=>6=<E ??4=E>>-F5E=<G><E 5?5<5=4F4, D4F<>=4?=<\5 

>>D<L_5^5 ?>EF>\5_<E >4?4F<F5F4, D5>>=EFDG>F<\4 < <77D44^4 >EF4?5 ?GF=5 

<=DD4EFDG>FGD5 G F<]G ?>5>]L4^4 ?>6574=>EF< ?D>EF>D4 E4 5?<6<< < 44]<< 

>>DG65^5< G7 64?>D<74F<\G ?>F5=F<\4?4 G657 < L<D57 GF<F4\=>7 ?>4DGG\4. 

$54?<74F<\4 4GF>?GFE>>7 >>D<4>D4 <<4_5 7=4G4\=5 GF<F4\5 =4 5?<65 < 44]5 >>DG65^5 

?> ?<F4^G D56<<4 >>D<L_5^4 ?D>EF>D4, 45<>7D4DE><E >D5F4^4 < GF<F4\4 =4 ?D<6D54=< 

D476>\. 

% >57<D>< =4 ??4=<D4=G <77D44^G 4GF>?GF4 4>?<=>< �4?44=5 �>D465 >4 �>\4F4 4> 

�D5]<=5, ?>D54 =5>?E>4=>7 >>=FD>?<E4=>7 ??4=E>>7 >>D<L_5^4 E444L^<E 

?>]>?D<6D54=<E ?>6DL<=4 74 ?>FD555 <77D44^5 4GF>?GF4 < ^<E>6>7 ?D5F64D4^4 G 
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7D4V56<=E>> 75<]<LF5, ><>7G_<_5 E5 =5 E4<> E46D5<5=4 < 4>5D4 E4>5D4_4\=4 6574 < 

4>EFG?=>EF ?>>4?=<E 74\54=<F4 G ??4=E>>< ?>4DGG\G, 65_ _5 E5 ?>5>]L4F< < 

?D<EFG?4G=>EF < ><>7G_<F< 5>]< GE?>6< ??4E<4=4 ?>]>?D<6D54=<E ?D><76>44 

?>>4?=<< 74\54=<F4<4 ??4=E>>7 ?>4DGG\4, 4?< < EGE54=<< 5D4E>>-??4=<=E><< 

>?LF<=4<4 G >>\<<4 EG ?>6>]=< GE?>6< 74 D476>\ ??4=<=E>>7 EF>G4DEF64, ?D><76>4^G 

5<]=<E >G?FGD4 FD44<F<>=4?=> 6574=<E 74 5D4E>>-??4=<=E>5 >D4\565. 

' >>DG65^G ??4=<D4=>7 4GF>?GF4, >4> < G G65< GF<F4\=>< ?>4DGG\G, G >>\<<4 \5 ?>7<F<64= 

GF<F4\ <77D44^5 4GF>?GF4 >E5F=<\<, <>7G_5 \5 >G5><64F< ?>D4EF 5D>\4 EF4=>6=<>4 G 

?5D<>4G 4> 2025. 7>4<=5, 4>> E5 G L<D5< GF<F4\=>< ?>4DGG\G >G5>G\5 E<4^5^5 5D>\4 

EF4=>6=<>4. 

�77D44^4 <=DD4EFDG>FGD=>7 >>D<4>D4 �-761 (�>\4F5 3 �D5]<=4) _5 G<=>7><5 GF<F4F< =4 

44]< D476>\ =<6>4 F5=F4D4 G >>6<DG <D565 =4E5]4. 'F<F4\ E5 >7?544 G 

G><44^G/?D5GE<5D464^G ?>\54<=<E ?>EF>\5_<E >><G=<>4F<\4 < GE?>EF46]4^G =>6<E, 

4?< < G E>D4_<64^G >4=>E=> ?D>4G6464^G 6D5<5=4 ?GF>64^4 <7<5VG =4E5]4. 

�>D<4>D 4GF>?GF4 _5 G7?46=>< <<4F< ?>7<F<64= GF<F4\ =4 DG=>F<>=<E4^5 =4E5]4, 

?>E55=> E4 ?565 EFD4=5 4GF>?GF4 7?544=> <7 ?D46F4 ?5F]5 �>\4F5. �>6574=>EF =4E5]4 _5 

E5, ?>D54 ?>EF>\5_<< ?GF56<<4, ><>7G_<F< < G E?GG4\G =4E5]4 >>\<<4 5< ??4=<D4=< 

4GF>?GF ?D5E5>4> 4>E444L^G ?GF=G 4>EFG?=>EF, < F> ?D5>> 45=<65?<E4=<E G>DL4F4\4 < 

?D>?GEF4. �5=<65?<E4=5 D4E>DE=<F5 EG ??4=<D4=5 G 5?<7<=< 7?46=<E F5=F4D4 < =< =4 

>>\< =4G<= =5_5 =574F<6=> GF<F4F< =4 DG=>F<>=<E4^5 <D565 =4E5]4, =<F< _5 GE?>6<F< 

?D5><4 >><G=<>4F<\4 <7<5VG =4E5]4. 

'=4?D5V5^5< E<EF5<4 FD4=E?>DF4 ]G4< < 4>54D4 >D>7 <77D44^G/G=4?D5V5^5 

<=DD4EFDG>FGD5, <<4 74 D57G?F4F D4EF ?D<6D545. �?46=< 5D5>F< F4>6>7 D4EF4 657G\G E5 74 

>D4F>>D>G=5 (F>>>< <77D44^5 >F64D4\G E5 =>64 D44=4 <5EF4) < 4G7>D>G=5 5D5>F5, >>\< 

=4EF4\G GE?54 4<D5>F=<E GLF544 75>7 5D<>4E=<\57 FD4=E?>DF4 ]G4< < 4>54D4. &> 44]5 

<<4 GF<F4\4 =4 5>>=><<\G >5<<4 (>D>7 L<D< ?D<EFG? FD6<LF<<4 ?D><76>44 < GE?G74 < 

D44=5 E=475, 5D<>4E=<\G ?>7<EF<>G (<E?>DG>4 D>54 =4 6D5<5 < E?.), >4> < =4 

4<65DE<D<>4F<\G ?D><76>44 < GE?G74. 

�E=>6=4 =4<5=4 ?D>EF>D4 >4D5V5=4 \5 6465_<< ?D>EF>D=<< ??4=>6<<4 \54<=<F4 

?>>4?=5 E4<>G?D465 =4 F5?>< ?>4DGG\G �D>EF>D=>7 ??4=4. ' >4=>EG =4 F>, <7<5=4 F<E 

??4=>64 < ^<E>6<E =4<5=4 G ?D>EF>DG _5 E5 >4=>E<F< <E>]GG<6> =4 ?>4DGG\5 ?>E55=5 

=4<5=5, >4=>E=> >>D<4>D4 ??4=<D4=>7 4GF>?GF4. 

C o57<D>< =4 GF<F4\ >>D<4>D4 ??4=<D4=>7 4GF>?GF4 =4 >>>?=> ?>4DGG\5, 565=FG4?=5 

<7<5=5 G =4<5=4<4 ?D>EF>D4 <>7G 44 E5 >4=>E5 =4 ?>65_4=G ?D<6D54=G 4>F<6=>EF, 

<77D44^G <?< D5>>=EFDG>F<\G >><G=<>4F<\4 =<657 =<6>4, ?>FD55G >55755V5^4 7>=4 

74LF<F5 45?>64 ?>EF>\5_<E < ??4=<D4=<E =4<5=4 >4 LF5F=>7 GF<F4\4 4GF>?GF4 < 75>7 

?>FD555 >55755V5^4 ?D<EFG?4 < =5E<5F4=>7 DG=>F<>=<E4^4 E4>5D4_4\4 G >>D<4>DG. 

$54?<74F<\>< �?4=4, >4=>E=> <77D44^>< 4GF>?GF4 < ?D4F5_<E >5\5>4F4 G >>D<4>DG, 

4>_< _5 4> ?>65_4^4 ?>6DL<=5 ?>4 7D4V56<=E><< 75<]<LF5<. ' >>6<DG 

?>]>?D<6D54=>7 75<]<LF4 4>_< _5 4> E<4^5^4 ?>6DL<=4 75>7 <77D44^5 4GF>?GF4. 

,G<E>> 75<]<LF5 _5 E5 < ?>D54 E<4^5^4 ?>FD55=>7 74 <77D44^G ??4=<D4=>7 4GF>?GF4, 

?>65_4F< =4 45?>6<<4 F5D5=4 G >>D<4>DG >>\< _5 5<F< ?>4 74LF<F=<< 75?5=<?><. ' 

>>6<DG 6>4=>7 75<]<LF4 75>7 ?>FD555 <77D44^5 < 74LF<F5 4GF>?GF4 < >>>?=<E F5D5=4 

7D44<_5 E5 =4E<?< < >EF4?< >5\5>F< 74 <5?<>D4F<\5 < 74LF<FG >4 ?>??464, >4> < >5\5>F< 

74 D57G?4F<\G D5G=<E F>>>64. 

�D>5?5<4F<>4 74G7<<4^4 ?>6DL<=4 =5>?E>4=<E 74 <77D44^G ?GF4 >4> < E6<E ?D4F5_<E 

E44D64\4 >>\< EG 7=4G4\=< 74 >EF64D<64^5 >><??5F=>7 ?D>7D4<4 <77D44^5 ?D54EF46]4 
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\544= >4 5<F=<E ?4D4<5F4D4 <5D>4464= 74 45D<=<E4^5 >4=>E4 ?GF4 < 6<6>F=5 ED54<=5, 

?>7>F>6> 75>7 G<^5=<F5 44 EG >5D44<65 ?>6DL<=5, ?<<<F<D4=5 G E<<E?G D4E?>?>6<6<E 

>>?<G<=4. ' ?D>F5EG 45D<=<E4^4 <>7G_<E GF<F4\4, ?>FD555 74 74G7<<4^5< ?>6DL<=4 E5 

<>D4\G E47?544F< < E4 5>>?>L>>7 EF4=>6<LF4 < ?D54G75F< >47>64D4\G_5 <5D5 G E<<E?G 

<>7G_<E E6>V5^4 GF<F4\4 =4 =4\<4^G <>7G_G <5DG. 

 

 

I/2 �����&�& ����&�� %$����� �� ���$''�' �����-4 

I/2.1 �$���� �����$$���,��%, �����,��% � %��$������,��% 

 ��$��&�$�%&��� &�$��� 

�?4=E>> ?>4DGG\5 �>D46E>>7 >>D<4>D4 >5GE64F4 4>?<=E>5 45?>65 4G6 F>>4 �4?44=5 

�>D465, >4 G4G4=E>5, ?D5>> >D4]564G>5 < >DGL564G>5 >>F?<=5 4> 65?<>><>D46E>5 4>?<=5 G 

7>=< �<_56F4, >4> < 5D56G]>4EF< >5>4 74?44=><>D46E>5 4>?<=5 =4 E565DG < \G7G. �D>EF<D5 

E5 <7<5VG 130 <=< (7>=4 ?>D54 �.�>D465, =<76>4=> >4 �4D64D<=4) < 1127 <=< (�DE �>G4, 

�D^4 \5?4 < �5>D<LF5). 

%<4D>75>?>L>< GE?>6< F5D5=4 4<>F<D4=< EG 75>?>L>>< 7D4V><, >4=>E=> ?<F>?>L><< 

E4EF46>< < ?>?>64\5< ?>\54<=<E G?4=>64 >><??5>E4 G E>?>?G F5D5=4. �4 >6>< ?>4DGG\G 

75>?>L>4 7D4V4 F5D5=4 \5 6D?> D47=>6DE=4 < E?>65=4. 

�5F4<>DD=5 EF5=5 =4\EF4D<\5 EG EF5=E>5 <4E5 =4 >6>< ?>4DGG\G. �77D4VG\G F5D5= ?> >5>4G 

�.�>D465, E565D=> >4 �DGL56F4. ' >>>?<=< &DEF5=<>4 =4?475 E5 D?<L=5 F6>D56<=5 4>^5 

>D545, G 6<4G GE?>\5=<E ?5LG4D4, ?4?>D4F4 < 7?<=4F4. ' 4>^5< 45?G >><??5>E4 \46]4\G E5 

>D5G^4F<. �4 ?D>EF>DG <EFD46<64^4 =4\6<L5 EG 74EFG?]5=5 E54<<5=F=5 F6>D56<=5 

?D54EF46]5=5 =5>75=<< < >64DF4D=<< =4E?474<4. 

' E46D5<5=<< D5G=<< >>D<F<<4 =4\74EFG?]5=<\5 EG 4?G6<\4?=5 =4E?475 455]<=5 >4 2-10 m, 

?D>E5G=> 6 m. 

�4 ?>E<4FD4=>< ?D>EF>DG =4\D4E?D>EFD4^5=<\5 EG 6>4>=>E=5 ED54<=5 <5VG7D=E>5 

?>D>7=>EF<, 4>> EG <4^5 74EFG?]5=5 6>4>=>E=5 ED54<=5 ?G>>F<=E>5 < ?G>>F<=E>>-

>465D=>7=5 ?>D>7=>EF<. 

' =46545=<< 6>4>=>E=<< ED54<=4<4 D>D<<D4=5 EG 5D>\=5 4>G<G?4F<\5 ?>475<=<E 6>44-

<744=<, D47?<G<F>7 EFDG>FGD=>7 F<?4 (75<\5=5 < D475<\5=5) < E<4D4G?<G>>7 <5E4=<7<4 

(E?>5>4=5, EG54DF5L>5 < 4DF5L>5). 

 

I/2.2 %�������,�� ��$��&�$�%&��� 

�D>EF>D >6>7 45?4 �4?>4=E>>7 ?>?G>EFD64 E?444 G E5<7<<G>< 6D?> 4>F<6=> ?>4DGG\5. �5> \5 

%D54>75<=>-FD4=E47<\E>>7 E5<7<<G>>7 ?>\4E4. 

�>4DGG\5 <EFD46<64^4, ?D5<4 >4DF4<4 E5<7<<G>5 D5\>=<74F<\5, ?D<?444 E?>65=<< 

F5D5=<<4 =4 >>\<<4 EG <>7G_< ?>FD5E< 7°, 8° < 9° �CS. 

 

I/2.3 %��$���,�� ��$��&�$�%&��� 

&>> �.�>D465 < D5G=4 4>?<=4 >4?<>G\G E5 <7D47<F<< 64D<\4F<\4<4 <>DD>?>L><E < 

75><>DD>?>L><E >4D4>F5D<EF<>4. %4 F>7 4E?5>F4 6>4>F>> E5 <>65 ?>45?<F< =4 6<L5 

45>=<F4. 

$5>4 �.�>D464 =4EF4\5 E?4\4^5< �>D46<F5 < �5F<^5 G �>65L>>\ >>F?<=<, >>4 E5?4 

�5?>E46<_4, =4 298 <=<. �<D5>F=<E ?D<F>>4 D5>5 <<4 ?D5>> EF>. 

�>EF>\< =5>>?<>> ?D<F>>4 �.�>D465 E4 ?>6DL<=>< E?<64 �E<>500 km2. &> EG �54D (7925km2), 

�>D46<F4 (1513 km2), �5F<^4, $4E<=4, '5<5D=<F4 < �DG64. 
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I/2.4 ����� 

�?LF4 >?<<4 ?>E<4FD4=>7 ?>4DGG\4 \5 G<5D5=>->>=F<=5=F4?=4. 

(�76>D: $%�� 2010-2020.) 

&5<?5D4FGD4 6474GE4 

�D4]56>: <4>E. 37,3°C, <<=.-14,1°C, ED54^4 12,5°C 

�DGL564F: <4>E. 37,4°C, <<=.-15,5°C, ED54^4 12,4°C 

�5FD>6< 

�D4]56>: =4\G5L_< ?D464F-<EF>G=< (178,6%0), =4\65_4 ED54^4 5D7<=4-E565D>-<EF<G=< (9,3 

km/G4E) 

�4446<=5 

�D>E5G=4 7>4<L^4 EG<4 ?4446<=4 \5 769 mm. �4\6<L5 ?4446<=4 <<4 G D55DG4DG (101 mm) < 

<4\G (101 mm), 4 =4\<4^5 G 467GEFG (49 mm). 

 

I/2.5 �����&�& ���$,��%��% ���� 

�=4?<7>< D57G?F4F4 >64?<F5F4 6>45 �.�>D465, =4 ?D>D<?G �D4]56>, >>=EF4F>64=> \5 44 

E?545_< ?4D4<5FD< >4EFG?4\G >4 ?D>?<E4=<E 7D4=<G=<E 6D54=>EF< (��) 7474VG\G_<E 

EG?EF4=F< 74 II >?4EG ?>6DL<=E><E 6>44: 6D54=>EF< EGE?5=4>64=<E <4F5D<\4 (III-V), G>G?4= 

47>F (III), =<FD<F< (III), G>G?=> 76>6V5 (III). �4 ?D<>D<F5F=<E < ?D<>D<F5F=<E E474D4=<E 

EG?EF4=F<, >4 �� >4EFG?4 >>=F5=FD4F<\4 =<>?4 (III-IV). 

$5>4?=5 >>?<D>D<=5 < G>G?=5 >>?<D>D<=5 54>F5D<\5 >47>64D4\G III >?4E< >64?<F5F4. 

 

I/2.6 �����&�& ����'%� 

' 7>=< GF<F4\4 ??4=<D4=5 E4>5D4_4\=<F5 =5 6DL5 E5 D54>6=4 <E?<F<64^4 >64?<F5F4 

>E=>6=<E G<=<?4F4 6<6>F=5 ED54<=5. �>>4F<\5 =4 >>\<<4 E5 6DL5 <E?<F<64^4 E5 =4?475 G 

7D44>6<<4 < =<EG D5?D575=F4F<6=5 74 ?>E<4FD4=> ?>4DGG\5. �5>7 F>74 _5 =4 >6>< <5EFG 5<F< 

?D<>474=< D57G?F4F< \54=>>D4F=<E <E?<F<64^4 >>\4 EG D4V5=4 4G6 ??4=<D4=5 FD4E5 

�>D46E>>7 >>D<4>D4 74 ?>FD555 <7D445 %FG4<\4 > ?D>F5=< GF<F4\4 =4 6<6>F=G ED54<=G < 

4DGLF6> ?D>\5>F4 �>D46E>>7 >>D<4>D4 (SEIA-ENKA, BECHTEL and 2U1K, 2020.). 

' >>6<DG 7>=5 GF<F4\4 (�ol), >>\4 \5 45D<=<E4=4 G ?D54<5F=>< <765LF4\G SEIA, EG ?>EF46]5=< 

?4E<6=< G7>D><64G< 74 NO2, SO2 < H2S, na 42 <5D=4 <5EF4. �EF>6D5<5=> 74 G7>D>>64^5 

E44D64\4 PM10 < PM10-PM2,5 EG ?>EF46]5=< G7>D><64G< =4 24 <5EF4. �5D5^5 \5 FD4\4?> 40 

44=4, LF> \5 G E>?44G E4 GE6>\5=<< F5E=<>4<4 547<D4=<< =4 EF4=44D4<<4 EU ISO/EC 

17025:2005. 

�>D54 ?>>4F<\5 4ED4?F=5 5475 \5 ?>EF46]5= G7>D><64G 74 F>?G5=, 5F<?55=75=. �->E<?5=, �-

�->E<?5= < 55=75=. 

�4 >E=>6G 4>5<\5=<E D57G?F4F4 \5 >>=EF4F>64=> 44 ?D>E5G=5 4=56=5 >>=F5=FD4F<\5 

<E?<F<64=<E ?4D4<5F4D4 =< =4 \54=>< <5D=>< <5EFG =5 ?D5?475 7D4=<G=5 6D54=>EF< 

GF6V5=5 'D545>< > GE?>6<<4 74 <>=<F>D<=7 < 74EF56<<4 >64?<F5F4 6474GE (>%?. 7?4E=<> $%=, 

5D. 11/10-20, 75/10-5 < 63/13-20). 

% >57<D>< 44 D57G?F4F< <5D5^4 74 <E?<F<64=5 ?4D4<5FD5 =5 ?D5?475 7D4=<G=5 6D54=>EF<, 

E65 <5D=5 ?>>4F<\5 4G6 F5?5 �>i, >4D5Ve=5 EG >4> >E5F]<6< D5F5?F>D< < G E>?44G E4 F<< \5 

<76DL5=4 ?D>F5=4 GF<F4\4 44F4 G �765LF4\G SEIA. 
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I/2.7 �'�� 

�7 %FG4<\4 ?D>F5=5 GF<F4\4 =4 6<6>F=G ED54<=G (%�') D4V5=5 74 E64>G ?>\54<=4G=G 45>=<FG 

�>D46E>>7 >>D<4>D4, <>7?> E5 <746>\<F< E?545_5: 

%5>F>D-1: >>=EF4F>64=> \5 44 EG EF4<55=< >5\5>F< ?>7>V5=< E4>5D4_4\=>< 5G>>< >>\G 

<747<64\G ?>EF>\5_< 4D646=< ?GF II� (�>D<4>D 11), 4D646=< ?GF II� < 6<L5 ?>>4?=<E ?GF564. 

�5?57=<G>< E4>5D4_4\ =4 ?<=<\< 5D>\ 55 \5 \>L \544= <76>D 7474V<64^4 5G>>< >>\< ?>74V4 

EF4=>6=<>5 G >>DG65^G. 

%5>F>D-2: G %�' E5 =5 <>7G =4_< >47>64D4\G_< ?>44F<. 

%5>F>D-3: ?D5<4 %�', ?>EF>\5_< <=DD4EFDG>FGD=< >5\5>F< EG >7=4G5=< >4> <76>D< FD5=GF=>7 

7474V5^4 5G>>< =4 EFG4<\E>>< ?>4DGG\G %�'-4, EF<< 44 =<EG 44F< ?>44F< > FD5=GF=>< 

7474V5^G 5G>><. �4>> \5 =46545=> G %�', =4>>= <77D44^5 %5>F<\5 8 < %5>F<\5 9 �>D46E>>7 

>>D<4>D4, 4><<=4=F4= <76>D 7474V5^4 5G>>< _5 5<F< E4>5D4_4\ =4 >>D<4>DG. 

�5>7 =54>6>]=>7 >5<<4 <=D>D<4F<\4 > 5GF< =4 ?>E<4FD4=>< ?D>EF>DG, 74 ?>FD555 <7D445 

SEIA GD4V5=4 EG 4>44F=4 <5D5^4 5>6<64?5=F=>7 =<6>4 5G>5 74 44= < =>_, =4 12 ?>>4F<\4. 

$57G?F4F< EG G?>D5V<64=< E4 WHO Noise Guideline, 745 EG 7D4=<G=5 6D54=>EF< Leq 55 74 44= < 

Leq 45 74 =>_ 74 EF4<55=G 7>=G, LF> \5 G E>?44G < E4 6D54=>EF<<4 45D<=<E4=<< ?D>?<E<<4 

$5?G5?<>5 %D5<\5 74 <EFG 7>=G. 

�4 >E=>6G <76DL5=<E <E?<F<64^4, =< =4 \54=>< <5D=>< <5EFG 6D54=>EF< =<EG ?D5?47<?5 

7D4=<G=5 6D54=>EF< 74 44= < =>_, 4?< EG =<6>< 5G>5 5<?< 5?<7G F<E 6D54=>EF<. 

�4\5?<64 =4E5]4 ?D54?>65=>\ FD4E< �>D46E>>7 >>D<4>D4 <45=F<D<>>64=4 EG >4> >E5F]<6< 

D5F5?F>D<, \5D _5 EF4=>6=<F< >>\< 6<65 G >6<< =4E5]<<4 =4\6<L5 5<F< ?>7>V5=< 6<E>><< 

=<6>>< 5G>5, E >57<D>< 44 EG D57G?F4F< <5D5^4 5<?< 5?<7G 7D4=<G=<E 6D54=>EF<. 

 

I/2.8 �����&�& ���
�,&� 

�E?<F<64^5 >64?<F5F4 75<]<LF4 \5 GD4V5=> G >>6<DG SEIA, <<4\G_< G 6<4G 44 G >>6<DG %�' G 

7>=< GF<F4\4 =<EG 6DL5=4 ?>E55=4 <EFD46<64^4. 

�>EF>\5_< >64?<F5F 75<]<LF4 �>i GF6DV5= \5 G7<<4^5< G7>D4>4, G7 ?>FD55=G >?D5<G < 

F5E=<G4D4, E4 75<]<LF4 =4 ?D54?>65=>\ FD4E< �>D<4>D4. �76DL5=> \5 G7>D>>64^5 

75<]<LF4 =4 16 D47?<G<F<E F4G4>4 74 %5>F>D-1, =4 28 D47?<G<F<E F4G4>4 74 %5>F>D-2 < =4 12 

D47?<G<F<E F4G4>4 74 %5>F>D-3, 4G6 ?D54?>65=5 FD4E5, >4>> 5< E5 GF6D4<?> ?>EF>\5_5 

7474V5^5 75<]<LF4 �>i. 

$57G?F4F< 4=4?<75 75<]<LF4 ?>>47G\G 44 EG 7D4=<G=< =<6>< 74 ?4D4<5FD5 As, Zn, Cd, Se, Cr, 

Pb < Ni ?D5>>D4G5=< =4 =5>>?<>> ?>>4F<\4 G >5?4EF< >>\4 \5 4=4?<7<D4=4. 

�>EF>\5_< ?<F5D4FGD=< ?>44F< G>47G\G =4 65?<>G ?>??46G >>\4 E5 4>7>4<?4 2014. >4> 7?46=< 

G7D>> >65 >>=F4<<=4F<\5. % 4DG75 EFD4=5, 45F4]=4 ?D>GG464^4 =4 L<D5< ?D>EF>DG ?>>47G\G 

44 EG >4D4>F5D<EF<>5 75<]<LF4 G7?46=>< E?<G=5 >=<<4 G 7>=< �4?44=5 �>D465. �6< =4?47< 

<<??<F<D4\G 44 EG <76>D< ?>?GF4=4F4 G 75<]<LFG <>7?< 5<F< E?<G=< >=<<4 <7 ?>??46=<E 

E54<<5=4F4 G >5?4EF< <EFD46<64^4. &>>>< 4G7>FD4\=<E ?>??46=<E 4>74V4\4 <4F5D<\4?< <7 

75>75=<E < 4=FD>?>75=<E <76>D4 E5 ?D5=>E5 ?>??46=<< F4?4E<<4 < 45?>=G\G G ?>??46]5=<< 

?>4DGG\<<4. %44D64\ < ?>D5>?> E44D64\4 Ni < Cr E5 <>65 FG<4G<F< 75>?>L><< 

>4D4>F5D<EF<>4<4 L<D57 ?D>EF>D4. Pb, Cd < Zn G 75<]<LFG < E54<<5=F<<4 <7 ?D>GG464=<E 

?>4E?<6>64 <>7G 44 ?>F<GG <7 F4G>4EF<E <76>D4 >4> LF> EG DG4=4 F5?4, ?><5L4=4 E4 

4=FD>?>75=<< 4<DG7=<< <76>D<<4 >4> LF> EG ?>]>?D<6D544, 4DG<E>< < 65?57=<G>< 

E4>5D4_4\ < <5F4?=4, E5<<\E>4 < F5>EF<?=4 <=4GEFD<\4 (>5\46<?< �D6<_ 5F 4l.(2009) < �=F<_-

�?445=>6<, 5F 4l.(2018)). $57G?F4F< 4=4?<75 ?D54EF46]4\G ?>EF>\5_5 EF4^5 ?D5 D54?<74F<\5 
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�>D<4>D4. �6< D57G?F4F< _5 5<F< >E=>64 74 ?D>F5=5 GF<F4\4 �>D46E>>7 >>D<4>D4 =4 

>64?<F5F 75<]<LF4 G F>>G 5>E??>4F4F<\5 <EF>7. 

�E5F]<6< D5F5?F>D< EG <45=F<D<>>64=< >4> E64 <5EF4 5G4G_<E E>?44<LF4 < >4?474?<LF4 

75<]<LF4 >>\5 \>L =<EG 45D<=<E4=4, >5?<6^4 =4E5]4 >>\4 _5 5<F< ?>4 GF<F4\5< F4?>6=<E 

<4F5D<\4, >4> < 6>45 D5>5 �4?44=4 �>D464 < ^5=<E ?D<F>>4. 

 

I/2.9 �������� ���� 

%<EF5<4FE>> <E?<F<64^5 >64?<F5F4 ?>475<=<E 6>44 G 7>=< >>D<4>D4 =<\5 6DL5=>. �>EF>\5 

D57G?F4F< <E?<F<64^4 6>45 <7 <=4<6<4G4?=<E 6>4=<E >5\5>4F4 >>\< G =4\65_5< 5D>\G 

E?GG4\564 =5 >47>64D4\G >64?<F5FG 6>45 74 ?<_5 ?D>?<E4=>< �D46<?=<>>< > E<7<\5=E>>\ 

<E?D46=>EF< 6>45 74 ?<_5 (>%?. ?<EF %$�=, 5D. 28/98 < 28/19), =4\G5L_5 G ?>7?54G 

<<>D>5<>?>L>>7 E44D64\4 < >>=F5=FD4F<\5 47>F=<E \54<^5^4. ' ?D<>54]G �.�>D465 E5 =5 

<>65 >G5><64F< ?>475<=4 6>44 4>5D>7 >64?<F5F4 75>7 5D>\=<E <76>D4 7474V5^4 

?>6DL<=E>>7 E?>\4 75<]5 >4> LF> \5: =5D57G?<E4=> E4>G?]4^5 < >46>V5^5 >F?44=<E 6>44, 

?>EF>\4^5 4<6]<E 45?>=<\4, >>D<L_5^5 VG5D<64 < ED54EF464 74 74LF<FG 5<]4 G 

?>]>?D<6D54< < E?. �4 >4D4>F5D<EF<>5 ?>475<=<E 6>44 4<D5>F=> GF<GG < ?>6DL<=E>5 6>45 

�.�>D465 < ?D<F>>4 G<\5 6>45 >4EFG?4\G >4 ?D>?<E4=5 II >?4E5. 

 

I/2.10 ��
�� � ����&��%�� %��& 

�>E<4FD4=> ?>4DGG\5 4G6 G<F46>7 >>D<4>D4 ?D<?444 ?D<>54]G �.�>D465 < ^5=<E ?D<F>>4. 

% >57<D>< 44 \5 75<]<LF5 G 7>=< >>D<4>D4 65><4 ??>4=>, 6D5<5=>< \5 4>L?> 4> =5EF4=>4 

4GF>EF>=<E 5>>E<EF5<4, >>\5 \5 74<5^5=> 4=FD>?>75=> <7<5^5=<< 5>>E<EF5<<<4, G7?46=>< 

>5D44<6<< ?>6DL<=4<4. %4<> =4 ?>\54<=<< 45?>6<<4 744D64?4 E5 4GF>EF>=4 6575F4F<\4 G 

>5?<>G LG<4D4>4 4?G6<\4?=>7 >4D4>F5D4. 

�D5<4 GE?>6<<4 �46>44 74 74LF<FG ?D<D>45 %D5<\5 >>D<4>D =5 ?D>?47< >D>7 F5D<F>D<\G 

74LF<_5=<E ?>4DGG\4 74 >>\5 \5 E?D>6545= <?< ?>>D5=GF ?>EFG?4> 74LF<F5, =<F< \5 >5GE64_5= 

5>>?>L>>< <D56><. 

�4\G5L_5 74EFG?]5=> 6<E>>> D4EF<^5 EG: 6D55, F>?>?5, ED4EF ?G6^4> < \4E5=. %4EF46 >6<E 

74\54=<F4 746<E< >4 =<6>4 ?>475<=<E 6>44 < 4G6<=5 744D6464^4 ??46=<E 6>44. 

' E?D4FG =<E>>7 D4EF<^4 ?D<EGF=< EG: �>D>>E?44 (Solanum dulcamara), ,4LG]<Fa 

(Calamagrostis epigeios), ,4L (Carex remota), �474<<\4 (Lycopus europaeus), %FDG?=<> 

(Scrophularia nodosa), ,G<E>4 �=V5?<F4 (Angelica sylvestris), %<5] (Humulus lupus) < 4D. 

�>\4E 65G^4 ?D<EGF4= \5 ?> >5>4G LG<4D4>4, G7 7D4=<F5 >5D44<6<E ?>6DL<=4 < ?>>4?=<E 

?GF564 >>\5 >>D<EF5 ?>]>?D<6D54=<F<. �4 >6<< <5EF<<4 =4\G5L_5 E5 \46]4\G 7?>7, E6<5, 

>G?<=4 < FD^<=4. 

�>D54 >54?4 D5>5 E5 =4?475 6?46=4 EF4=<LF4 =4EF4?4 GE?54 <54=4D<D4^4 F>>4 �.�>D465 G 

6<4G <DF64\4, 54D4, E<7D>D<?=<E ?<6444 < E?. �4 =46545=<< <5EF<<4 74EFG?]5=5 EG 5<]=5 

6DEF5 F<?<G=5 74 =46545=4 EF4=<LF4: 6>4>]G5 (Butomus umbellatus), 54DE>4 ?5DG=<>4 (Iris 

pseudocorus), <>G64D=< L4L (Carex acutiformis), FDE>4 (Phragmites australis), DG<5=<>4 

(Lychnis flos-aculi), D>7>7 (Typha) < 4D. 

�4\65_< 45> ?>6DL<=4 G 7>=< >>D<4>D4 ?D<?444 >5D44<6>< 75<]<LFG. �7D4=<G5=5 

?>6DL<=5 >>> D5>5 EG ?>4 >G>GDG7>< < ?>6D_5<, 4 =4 F5D4E4<4 EG ?L5=<F4 < 6>_^4F<. �4 

6>_4DE><E >G?FGD4 =4\74EFG?]5=<\5 EG \45G>5 < L]<64. 

' ?D<>54]G �.�>D465 < ?D<F>>4 <>7G E5 =4_< ?F<F5 G<\5 EF4=<LF5 \5 6574=> 74 6>4G: 4<6]4 

?4F>4 7?G64D4, >?>>>G<F4, ?<E>4, >G>46<F4, 65?<>< FD5EF5^4> (D<FE>< 4D>74), FD=>7?464 

FD464D>4 < LG<E>4 L]G>4. 
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�D<EGF=5 EG < 6DEF5 ?F<F4 G<\< \5 6<6>F 6574= 74 >5D44<65 ?>6DL<=5, >4=>E=> <5EF4 745 

<<4 E<F=<E 7?>44D4, <=E5>4F4 < 74>EF4F4>4 >4 ?>]>?D<6D54=5 ?D><76>4^5: \4EFD55 >E<G4D, 

\4EFD55 >>>>L4D, 74G4EF< <<L4D, >>54F, \4EFD55 <<L4D, ?>]E>4 5\4, E5>E>4 ?4EF4, ?>]E>4 

L564 FD65=44_, E?46G\, 65FDGL>4, ?D5?5?<F4, D474=, 7>?G5 7D<64L, 7D?<F4, >G>46<F4, 7G7GF>4, 

DGE< E6D4G4>, >D5\4, 45F?<_, E6D4>4, G46>4, 74G4>, E<64 6D4=4, 746D4=, FD=< >>E, 4D>74 ?564G < 

65?<>4 E5=<F4. 

' 6>45=<< 5>>E<EF5<<<4 �.�>D465 < ?D<F>>4<4, >4> < G >>>?=<< >4=4?<<4 =4?47< E5 6<L5 

6DEF4 D<54: 5>4>D>4, LFG>4, ?<\>D, ?<^4>, E><, >5G<74, 6<\G=, E>>54] < 4D. 

�>D54 D<>4 <>7G E5 =4_< < ?D54EF46=<F< 6>4>75<4F4 < 7<<7464F4: 6454 FD46^4G4, >D4EF4G4, 

54DE>4 >>D^4G4 < 4D. 

' 7>D^<< E?>\56<<4 75<]<LF4, >4> < G 6>4<, E5 <>7G =4_< 77?46>4D<. 

�4 >5D44<6<< ?>6DL<=4<4 < <5V4<4 <<4 <4^<E ?>?G?4F<\4 >DG?=<\<E E<E4D4, =4\G5L_5 

ED=5, 4 >4 E<F=<E E<E4D4 =4\74EFG?]5=<\< EG 7?>44D<. 

�4LF<_5=4 ?D<D>4=4 4>5D4 G >5GE64FG �������-4 

1. %?5F<\4?=< D575D64F ?D<D>45 >�ED544>=, ?D<D>4=> 4>5D> II (4DG75) >4F57>D<\5, E4 

?D>?<E4=<< D56<<>< 74LF<F5 4DG7>7 < FD5_57 EF5?5=4 < 

2. %?><5=<> ?D<D>45 >%F45?> ED4EF4 ?G6^4>4 �D4=5L<=, ?D<D>4=> 4>5D> III (FD5_5) 

>4F57>D<\5. 

�D4=<F5 �������-4 >5GE64F4\G 5>>?>L>< 7=4G4\=> ?>4DGG\5 >�ED544>=, 5>>?>L>5 <D565 

$%, >4> < ?>F5=F<\4?=> ?>4DGG\5 NATURA 2000 pSCls >�G6=4 �5?<>4 �>D464=, ?>F5=F<\4?=> 

?>4DGG\5 NATURA 2000 pSCls >�4?44=4 �>D464= < ?>F5=F<\4?=> ?>4DGG\5 NATURA 2000 pSPAs 

>�>D^5 �><>D46]5=. (�76>D: 'E?>6< �46>44 74 74LF<FG ?D<D>45, 5D. 021-2996/3, >4 

30.08.2023.) 

 

I/2.11 %&������,&�� 

�7 F455?5 E5 <>65 E47?544F< 5D>\ EF4=>6=<>4 G =4E5]<<4/7D44>6<<4 >>\< EG =4\5?<6< 

??4=<D4=>\ E4>5D4_4\=<F<, ?D5<4 ?>?<EG <7 30.06.2022. 

 

 �$�����/��%�
� �D>\ EF4=>6=<>4 

1 �$',���& 113 951 

2 ������& 7917 

3 ��$��$�� 14 314 

4 �$�
��� 110 545 

5 �$��'�� ���� 25 117 

6 &$%&���� 36055 

7 '�'�� 105 840 

&455?4 5D. 1  �D>\ EF4=>6=<>4 G 7D44>6<<4/=4E5]<<4 
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I/2.12 �'�&'$�� �%&�$��%�� ��,&��� 

�4 >E=>6G ?>44F4>4 4>5<\5=<E >4 �46>44 74 74LF<FG E?><5=<>4 >G?FGD5 =46>4<<> >G?FGD=4 

4>5D4 >>\4 E5 =4?475 G 7D4=<F4<4 �>D46E>>7 >>D<4>D4 (�>\4F5 3 �D4]56> 3 �D5]<=4): 

÷ �5EF> �4D64D<=E>5 5<F>5 E4 E?><5=<>>< 7D>DG �DGD>G (7=4<5=<F> <5EF>) 

÷ %F4?4_, ED54^>65>>6=< 7D44 (E?><5=<> >G?FGD5 >4 65?<>>7 7=4G4\4) 

÷ %F4?4_, FD>64 %6. �GE4 >4 %F4?4_4 (E?><5=<> >G?FGD5 >4 65?<>>7 7=4G4\4) 

÷ �4E>4D5, 4DE5>?>L>< ?>>4?<F5F 

÷ �4>D5L4=5, 4DE. ?>> >�D4=<F5=, >&5?5?<\4=, >%F4D> 7D>5]5=, >�475<=5= 

÷ ,4=4F, 65F5D<=4DE>4 EF4=<F4, >G_4 �?<_ �<6>F5, >G_4 $44>E46]56<_ �D4=>4, 4DE. ?>>. 

>�G_<LF5= 

÷ �4657, >G_4 �74F>=>6<_4 $44>E?464 

÷ �4E<>4, >G_4 ?46?>6<_ �<?<6>\4, 4DE. ?>>. >�DEF<_<<, >�_<=4F< 

÷ �DGL564F, �474D56 7D44, FD>64 �474D<F4, 77D444 �4D>4=>7 <G75\4, <5=7G?4=4 (E?><5=<> 

>G?FGD5 >4 <7G75F=>7 7=4G4\4) 

÷ �DGL564F, 4DE. ?>>. >$45D<>4 14. >>F>54D=, >$45D<>4 647>=4=, >,4=4F= 

÷ �474D<F4, >G_4 %4><_ �<D\4=5 

÷ '<F?G>, 4DE. ?>>. >�>=>?]4D4=, F5=F4D E5?4 E4 >G_>< �<D<_ �<>>?5, >G_4 �<F4=>6<_ 

�<?44<=4 

÷ �>L56<, >G_4 �75D<G 
G5>4D474 

÷ �G]<=, 6>45=<F4 <>D46>4, >G_4 �<?44<=>6<_ �<?<\5 

÷ �5?4 �>44, 4DE. ?>>. >�<=<=4 �G?4=, E?><5=<G>< >><??5>E < 4DE. ?>>. >�>4 G5E<5=, 4DE. 

?>>. >�G^<LF5= 

÷ �?>5>45D, 4DE. ?>>. >%5?<LF5=, 4DE. ?>>. >�6]5= 

÷ �>D^< $<5=<>, FD>64 %6. �DE4=V5?4 �46D<?4 

÷ &DEF5=<>, FD>64 %6. &D>\<F5 < �4F<_4 >G_4 

÷ �D45>64F, ED54^>65>>6=< 7D44 

÷ �D^46>D, <4=4EF<D 
G5>EF<^4 (E?><5=<> >G?FGD5 >4 <7G75F=>7 7=4G4\4) 

÷ %F4D< &DEF5=<>, 4DE. ?>>. 

÷ �>?<=E>4 D5>4, 4DE. ?>>. 

÷ ,FG?4F, 4DE. ?>>. >�5<D4>= 

÷ $GV<=F<, 4DE. ?>>. >>>4 ,4D4=4= 

÷ �D^F<, 4DE. ?>>. >�4V4D<LF5 3 �D4L>>6<_<=, 4DE. ?>>. >�4V4D<LF5=, 4DE. ?>>. >�G5>>< 

?>F>> 3 �5D564=, 4DE. ?>>. >�<>4D47>6<_<=, 4DE. ?>>. >%>5?4 &D=>7?464F4=, 4DE. ?>>. 

>�DG>4D4 <?< &D=4D4= 

÷ �>6> E5?>, 4DE. ?>>. >,<54G>5 >G_5=, 4DE. ?>>. >�5E5?<=>6<_<=, 4DE. ?>>. >%F564=>6<_<<, 

4DE. ?>>. >�<>4D47>6<_<= 

÷ '7]4D56>, =5?>7=4F> =4?47<LF5 

÷ �D4G4F, 4DE. ?>>. >�?445=>6<_4 6>_^4>= 

÷ �>4G=46F<, 4DE. ?>>. >$4>>6<F4= �D4=5L<, 4DE. ?>>. >&D=>64G4=, 4DE. ?>>. �5?>7=4F> 

=4?47<LF5 

÷ �D54, FD>64 5D6=4D4 (E?><5=<> >G?FGD5) 

÷ 'G>>\564F, 4DE. ?>>. >�4^564F=, FD>64 5D6=4D4 < 4DE. ?>>. 

÷ �<F4=>64F, 4DE. ?>>. >�>DG7?<F4= 

÷ $4F<=4, 4DE. ?>>. >�<6]5 ?>]5=, 4DE. ?>>. >$<<E>> 7D>5]5= 

÷ �D4]56>, %?><5= ?4D> (>G?FGD=> 4>5D> >4 <7G75F=>7 7=4G4\4) 

÷ �>64=?G>, 4DE. ?>>. 7D>5]5, >G_5 G 74E5>>G �4\44F< 

÷ �??4=<_<, 4DE. ?>>. >�DG>> 7D>5]5=, 4DE. ?>>. >�D>E<LF5= 

÷ �<?>G4\<, 4DE. ?>>. >�>D5>> ?>]5=, 4DE ?>>. >�>^5 7D>5]5= 
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÷ �DE4_, FD>64 5D6=4D4 < 4DE. ?>>. >�DG>> 7D>5]5= 

÷ �5D64, 4DE. ?>>. >�44=, 4DE. ?>>. >�D>5]5=, 4DE. ?>>. >&4D564F=, 4DE. ?>>. >�<F>6=<F4= 

÷ �4V56F<, 4DE. ?>>. >�4=4L^5 7D>5]5= 

÷ �4FD74, 4DE. ?>>. >�<=>6E>> 7D>5]5=, >�D>5]GL4= 

÷ �>D<G4=<, 4DE. ?>>. >&D>6<=4=, G4D44> &65F>>6<_ �5\4=4, G4D44> G F5=FDG E5?4 

÷ �DG4\56F<, 4DE. ?>>. >�<6445, �D^<=5=, 4DE. ?>>. >%FD==, 4DE. ?>>. >�D45L>4 54D4=, 4DE. 

?>>. >�GL564F=, 4DE. ?>>. >&D>6<=4= 

÷ �>\E<^5, 4DE. ?>>. >�>E>6< 3 �5=F= 

÷ �D5]<=4, 4DE. ?>>. >&DE<=5=, FD>64 %6. �>4><<4 < �=5 

÷ �>^56<_<, 4DE. ?>>. >$<<E>> 7D>5]5= 

÷ 
G5<_, 4DE. ?>>. >�GF4>6<=4= 

÷ %>>>?<_<, >G_4 �G>>6<_4 $44><<D4 

÷ �G?<=>6F<, 4DE. ?>>. >�DG>>, $<<E>> 7D>5]5= 

�4 =45D>\4=<< >G?FGD=<< 4>5D<<4 =5 <>65 E5 6DL<F< D4E>>?464^5, DGL5^5, 

?D5?D46]4^5 <?< 5<?> >4>6< D44>6< >>\< <>7G 44 =4DGL5 E6>\EF64 >G?FGD=>7 4>5D4 557 

?D5FE>4=> GF6DV5=<E GE?>64 < E47?4E=>EF<. 

 

I/2.13 ��$$�%&$'�&'$��, ���'%&$��%�� � �$'�� �����&� 

�4 ?>E<4FD4=>< ?D>EF>DG EG 74EFG?]5=< E?545_< >5?<F< 6>4>E=454564^4: 

- <=4<6<4G4?=< (>>?4=< < 5GL5=< 5G=4D<, >4?F465), 

- ?>>4?=< (<4^< 6>4=< E<EF5<< 74 E=454564^5 =5>>?<>> >G_4 <?< 45?4 =4E5]4) < 

- F5=FD4?=< (74 65_4 =4E5]4 < 7D44>65). 

�4 <76>D<LF4 F5=FD4?=<E 6>4>6>4=<E E<EF5<4 EG 45D<=<E4=5 7>=5 E4=<F4D=5 74LF<F5 

(=5?>ED54=4, G64 < L<D4): 

- �4D64D<= < �<_564F <7 4>G<G?4F<\5 �5?<\5, 

- �DGL564F <7 4>G<G?4F<\5 �5?<\5, 

- �D4]56> <7 ?D<>54]4 D5>5 �54D, 

- �D^4G>4 �4^4 <7 6<L5 5GL5=<E 5G=4D4, 

- &DEF5=<> <7 \575D4 �65744= < 

- '4G4> <7 D57<>=4?=>7 6>4>6>44 >$746=. 

�5_<=4 7D44>64 < =4E5]4 <<4\G ?D>5?5<4 75>7 =5EF4L<F5 6>45 G EGL=<< ?5D<>4<<4. 

%4>G?]4^5, >46>V5^5 < FD5F<4= >F?44=<E 6>44 G 7D44>6<<4 < =4E5]<<4 =4\5?<6<E 

??4=<D4=>\ E4>5D4_4\=<F<, >E<< G �DGL56FG, 745 ?>EF>\< ?>EFD>\5^5 74 FD5F<4= >F?44=<E 

6>44, =<\5 D5L5=> =4 >47>64D4\G_< =4G<=. 

$5>4?=5 < ><L=5 >F?44=5 <7 65_<E =4E5]4, E5 E4>G?]4\G >4=4?E>>< <D56>< ?> E5?4D4F=>< 

<?< >><5<=>64=>< E<EF5<G < 4<D5>F=> <E?GLF4\G G D5>5 �4?44=G �>D46G <?< �54D. ' 

<4^<< <5EF<<4 74 E4>G?]4^5 D5>4?=<E >F?44=<E 6>44 ?>EF>\5 =G6=<G>5 <?< E5?F<G>5 \4<5 

>>\5 E5 ?>6D5<5=> ?D47=5. 

' 7D4=<F4<4 >5GE64F4 �������-4 ?>EF>\5 <=4GEFD<\E>4 ?>EFD>\5^4, >>\< 75>7 <E?GLF4^4 

=5FD5F<D4=<E F5E=>?>L><E >F?44=<E 6>44, 5<<E<\5 ?>?GF4=4F4 6474GE4 < =5>47>64D4\G_57 

?>EFG?4^4 E4 >F?44>< <>7G 5<F< 7=4G4\=< <76>D< 7474V5^4 ED54<=5. ' >>6<DG ?D<>474 

?>EF>\5_<E <=4GEFD<\E><E ?D54G75_4 FD554 D5_< 44 E5 =4 G44]5=>EF< <4^>\ >4 1000 m >4 

??4=<D4=5 E4>5D4_4\=<F5 =4?47< $45D<>4 74 ?D><76>4^G EG=V5D4, �>^56<_4 55, G '4G>G, 

>>\4 ?D<?444 E565E> ?>EFD>\5^G >=<657 D544=, >>\5 ?D5<4 GE?>6<<4 �<=<EF4DEF64 74LF<F5 

6<6>F=5 ED54<=5 (5D. 532-02-02778/2023-03 >4 16.08.2023.), <>65 G E?GG4\G G45E4 <<4F< 

5D5>F5 =4 ?D54<5F=G E4>5D4_4\=<FG. 
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�>E554= 7=4G4\ E4 4E?5>F4 74LF<F5 <<4\G < 5D>\=< 45D>4D><<: 

- 45D>4D>< >$464==, '4G4> 

- 45D>4D>< >�>D464=, �D4]56> 

- 45D>4D>< >�D575=, �D4]56> 

- 45D>4D>< >&DEF5=<>=, &DEF5=<> < 

- 45D>4D>< >$>EG]5=, �DGL564F 

 

 

I/3 ��$��&�$�%&��� ����&�� %$����� ' ����%&��� �� ���� ��%&��� 

 ���'���%& �� �'�' �������� ���'����� '&�&��' 

�D5 ?D<>474 >4D4>F5D<EF<>4 6<6>D=5 ED54<=5 G >5?4EF<<4 74 >>\5 ?>EF>\< <>7G_=>EF 44 

5G4G <7?>65=< 7=4G4\=>< GF<F4\G, ?>FD55=> \5 <76DL<F< ?D5?<<<=4D=G <45=F<D<>4F<\G 

?>F5=F<\4?=<E <76>D4 7474V5^4 >>\< <>7G 5<F< >4 7=4G4\=>7 GF<F4\4. �45=F<D<>4F<\4 \5 

<=4G5 45> ?D>F5E4 ?D>F5=5 GF<F4\4 �������-4 =4 6<6>F=G ED54<=G >>\< \5 45F4]=<\5 44F G 

>>6<DG ?>E55=5 F4G>5 '765LF4\4 (III/2). 

�45=F<D<>>64=< <>7G_< 7=4G4\=< <76>D< 7474V5^4 6<6>F=5 ED54<=5 G >>6<DG D54?<74F<\5 II 

D475 �7<5=4 < 4>?G=4 �����-4: 

I) �77D44^4 45=<65?<E4=<E D4E>DE=<F4 

II) �>E??>4F4F<\4 45=<65?<E4=<E D4E>DE=<F4 

III) �>74\<<LF4 <4F5D<\4?4 74 <77D44^G E4>5D4_4\=<F5 

IV) �4?474?<LF4 =5<E>>D<L_5=>7 <4F5D<\4?4 

�4 ?>FD555 <7D445 SEIA 45D<=<E4=4 \5 >?LF4 L<D<=4 GF<F4\4 ?D54<5F=5 E4>5D4_4\=<F5 

(�>l), >>\4 E5 <>65 ?D<E64F<F< < 74 >6> EFG4<\E>> <EFD46<64^5: 

÷ �D<<4D=< �>l: �D<<4D=4 7>=4 GF<F4\4 >5GE64F4 >>D<4>D >4 500 m (250 m E4 E64>5 

EFD4=5 ED54<L^5 ?<=<\5 4GF>?GF4). �>F5=F<\4?=> E5 >G5>G\5 44 _5 >6a 7>=4 5<F< 

4><<=4=F=> ?>4 GF<F4\5< >F>>?4 75<]<LF4, ?>D54 4DG7<E 5>>?>L><E < 4DGLF65=<E 

GF<F4\4. 

÷ %5>G=44D=< �>l: �>=4 ?>F5=F<\4?=<E E>F<>5>>=><E><E GF<F4\4 4<D5>F=> ?>6574=<E E4 

4>F<6=>EF<<4 G >>6<DG �D>\5>F4 (=?D. GF<F4\ =4 74D46]5 G7D>>>64=> DD5>65=F=<< 

E4>5D4_4\5<, 7474V5^5 6474GE4 < 6>45 < GF<F4\ =4 D5EGDE5 6574=5 74 6<6>F =4 E5?G). 

÷ �5?4EF <=4<D5>F=<E GF<F4\4: �>=4 ?>F5=F<\4?=<E E>F<>5>>=><E><E GF<F4\4 <=4<D5>F=> 

<74764=<E 4>F<6=>EF<<4 �D>\5>F4, =574F<6=<E (<E5]464^5, E<4^5^5 ?>]>?D<6D54=5 

?D><76>4^5) < ?>7<F<6=<E (?>7<F<6=5 <<7D4F<\5, D4EF 74?>L]464^4 < 4D.). 

�46545=4 L<D<=4 GF<F4\4 \5 ?>E<4FD4=4 G >4=>EG =4 6D5<5 FD4\4^4 GF<F4\4: 

÷ �4<4E (<1 7>4<=4) 

÷ �D4F>>D>G=> (1-4 7>4<=5) 

÷ %D54^>D>G=> (5-15 7>4<=4) 

÷ �G7>D>G=< (GF<F4\ _5 ?D5EF4F< =4>>= >?5D4F<6=>7 6<6>F=>7 65>4 ?D>\5>F4) 

÷ &D4\=> (G7 ?D<<5=G >47>64D4\G_<E <5D4 74LF<F5 E5 <>65 >7D4=<G<F< FD4\4^5 GF<F4\ 

=4>>= <77D44^5). 

�4 >E=>6G <45=F<D<>4F<\5 7=4G4\=<E ?>F5=F<\4?=<E <76>D4 7474V5^4 6<6>F=5 ED54<=5, 

<746>\5=< EG >E5F]<6< >5\5>F< < G<=<>F< 6<6>F=5 ED54<=5 F76. D5F5?F>D< GF<F4\4 G >>6<DG 

>4D5V5=<E 7>=4 GF<F4\4. 

 

%&������,&�� 

�4 E?545_>\ F455?< E5 <>65 E47?544F< >>\4 =4E5]4 E5 =4?475 G 7>=< GF<F4\4 < >>?<>> EG 

G44]5=4 >4 E4>5D4_4\=<F5: 
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 ��%�
� 0 - 100 m 100 - 250 m 250 - 500 m 

1 ����&� X   

2 %&���� X  �>=4 

3 ��%��$�  X  

4 ��,����  X  

5 ���$�,��� X   

6 ����
� X   

7 ��%���  X  

8 '�&�'� X   

9 ��,��� X   

10 �'�
�� X   

11 ���� ����   X 

12 %���,&�  X  

13 ������ �$�����  X  

14 ������� X   

15 �O�����  X  

16 �$�����&   X 

17 ����� X   

18 ,&'��& X   

19 $'���&� X   

20 �$�&� X   

21 '�
�$���   X 

22 ���� %���  X  

23 %&'���   X 

24 ���'���&� X   

25 �$�'�&   X 

26 �$A�E,�  X  

27 �$�� X   

28 �������'� X   

29 $�&��� X   

30 ,'��$�&�  X  

31 %�$'� X   

32 �$��&� X   

33 ��$��� X   

34 �������� X   

35 ����'�� X   

36 ��$�� X   

37 ��$�'��� X   

38 ��&$��  X  

39 �$'����&�  X  

40 ���� ��$����&�   X 

41 %&��'���  X  

42 ���'�� X   

43 �������� X   

44 �$�
��� X   

45 $����� X   

46 %������� X   

47 �$����&� X   

&455?4 5D 2.  �4E5]4 ?>F<D4=4 G ?D<<4D=>\ 7>=< GF<F4\4 
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����� 

�4 ?>E<4FD4=>< ?>4DGG\G E5, 75>7 D54?<74F<\5 �D>\5>F4, =5 >G5>G\G ?D><5=5 >?LF<E 

>?<<4FE><E >4D4>F5D<EF<>4. �45V5=5 ?D><5=5 >D>7D4D<\5 F5D5=4 < E<4D>?>L><E 

>4D4>F5D<EF<>4 =5 <>7G 7=4G4\=> GF<F4F< =< =4 ?>EF>\5_5 EF4^5 <<>D>>?<<5. 

����'% 

�64?<F5F 6474GE4 =4 ?>E<4FD4=>< ?>4DGG\G \5 744>6>]464\G_< < <E?<F<64=< ?4D4<5FD< =5 

?D5?475 ��. �D< F><5 FD554 <<4F< G 6<4G 44 75>7 5D>\=>EF< < 4<EFD<5GF<\5 D5F5?F>D4 E64>4 

7=4G4\=<\4 4>44F=4 5<<E<\4 ?>?GF4=4F4 4F<>ED5D5 <?4> <>65 <<4F< =574F<64= GF<F4\ =4 

]G45 < 6<6>F=G ED54<=G. ' ?<F4^G \5 44<F<64= < >G<G?4F<64= 5D5>4F 7474V5^4 6474GE4. 

���
�,&� 

�>=F4<<=<D4=> 75<]<LF5 \5 <45=F<D<>>64=> =4 6<L5 <5EF4 G 7>=< GF<F4\4, ?D<<4D=> 75>7 

D476<\5=5 ?>]>?D<6D54=5 ?D><76>4^5 (=5445>64F=4 ?D<<5=4 VG5D<64 < ED54EF464 74 

74LF<FG 5<]4), ?>EF>\4^4 5D>\=<E <=4GEFD<\E><E ?>EFD>\5^4, 4?< < 7=4G4\=<E ?>??464 G 

?D54E>4=>< ?5D<>4G. %64>> 4>44F=> 7474V5^5 75<]<LF4 75>7 5<<E<\5 7474V5^4 E4 4GF>-

?GF4 5<, ?>D54 44<F<6=>7 < >G<G?4F<6=>7 5D5>F4 E4 ?>EF>\5_<< ?>?GF4=F<<4, <<4?> < 7=4G4\ 

75>7 G=>L5^4 =>6<E E?5F<D<G=<E 7474VG\G_<E <4F5D<\4 6574=<E 74 E4>5D4_4\. 

���$,��%�� ���� 

�64?<F5F 6>45 $5>5 �.�>D464 >4EFG?4 >4 ?D>?<E4=5 II >?4E5 75>7 ?>65_4=5 >>=F5=FD4F<\5 

65_57 5D>\4 <E?<F<64=<E ?4D4<5F4D4. %64>> 4>44F=> 7474V5^5 ?>6DL<=E><E 6>44, G E?GG4\G 

=5>>=FD>?<E4=>7 >F<F4^4 ?>F5=F<\4?=> 7474V5=<E ><L=<E 6>44 E4 E4>5D4_4\=<F4, 5< 

?>7>DL4?> <=4G5 ?>L >64?<F5F D5>4. ' 6>4< E5 <>7G, 75>7 5<<E<\5 7474V5^4 6574=>7 74 

E4>5D4_4\, >G5><64F< ?>65_4=5 >>=F5=FD4F<\5 EGE?5=4>64=<E G5EF<F4, F4?>6=<E <4F5D<\4 < 

<4EF< < G]4. 

���%�%&��� 

�>>E<EF5< >4> \54<=EF6> 5<>F5=>75 < 5<>F>?4 <>65 5<F< ?D<D>4=<, 45?<<<G=> 

4=FD>?>75=> <7<5^5= < ?>F?G=> <7<5^5= 5>>E<EF5<. �4 ?>E<4FD4=>< ?>4DGG\G EG 

74EFG?]5=5 E65 FD< 6DEF5 5>>E<EF5<4, EF<< 44 EG, 75>7 65?<>5 6G?=5D45<?=>EF<, 5<F=< 

?D<D>4=< 5>>E<EF5<<. 

�574F<6=< GF<F4\< =4 5>>E<EF5<5 EG =4\<7D465=<\< >>4 <77D44^5 < 5>E??>4F4F<\5 ?GF4 >4> 

?<=<\E>>7 >5\5>F4, \5D 74E64F4 65?<>5 ?>6DL<=5 < 45?< 5>>E<EF5<5, G<<5 E5 E<4^G\5 <?< 

?>F?G=> 7G5< ^57>64 EF45<?=>EF < <>_ E4<>D57G?4F<\5. 'F<F4\ \5 ?>E55=> <7D465= 75>7 

74G7<<4^4 ?>6DL<=4, LF> =4\6<L5 =574F<6=> GF<G5 =4 ?D<D>4=5 5>>E<EF5<5. 

�>F?G=< 7G5<F4> 5>>E<EF5<4 E5 <>65 >G5><64F< =4 < G >>>?<=< ?>6DL<=5 >>\4 \5 74G75F4 

>>?>6>7=>< >>=EFDG>F<\><, 54=><=4<4, 74LF<F=<< >7D444<4, ?>F?>D=<< >>=EFDG>F<\4<4 < 

>46>4=<< >4=4?<<4. 

%<4^5^5 4GF>D57G?4F<>=<E ?>F5=F<\4?4 5>>E<EF5<4 <?< ^<E>6G ?>F?G=G 457D444F<\G 

<>65<> >G5>G64F< G =4 <5EFG 745 E5 ??4=<D4\G ?>74\<<LF4 <4F5D<\4?4 74 <77D44^G 

E4>5D4_4\=<F5, >4> < =4 45?>=<\4<4 <4F5D<\4?4 >>\< E5 >4?465. 

�>E554= ?D>5?5< 74 5>>E<EF5<5 ?D54EF46]4 5<<E<\4 >>=F4<<=<D4=<E ><L=<E 6>44 >>\5 

E44D65 G]=5 <4F5D<\5 < E>?< >>\4 E5 >>D<EF< G 7<<E>>< ?5D<>4G. 
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I/4 $����&$��� ��&��� � �$������ ��,&�&� ����&�� %$����� 

 ' �������-4 � �$���� $������ �� ���%&��
��� ��$�����% ��&��� 

 � �$������ �� ��%&'��� �$�&��� 

�<4\G_< G 6<4G E?>65=>EF ?D>5?5<4F<>5 74LF<F5 6<6>F=5 ED54<=5 < 74D46]4 ]G4< G 

?>EFG?>G <7D445 <7<5=4 < 4>?G=4 45?4 ??4=E>5 4>>G<5=F4F<\5 74 65><4 >><??5>E4= 

<=DD4EFDG>FGD=< >5\5>4F, >4> LF> \5 >>D<4>D 4GF>-?GF4 �-761, 4GF>D< EFG4<\5 EG 74 

E47?54464^5 EF4^4 < <>7G_<E GF<F4\4 >>D<EF<?< <=D>D<4F<\5 < ?>44F>5 <7 5D>\=<E 

4>>G<5=4F4 >>\4 EG GD4V5=4 G ?D>F5EG D54?<74F<\5 ?D>\5>F4. &> E5 ?D5 E6574 >4=>E< =4 

GE?>65 =44?56=<E <=EF<FGF<\4 < >D74=<74F<\4, =4 4>>G<5=F4 GD4V5=4 G >>6<DG ?D5FE>4=<E 

D44>64 (%FG4<\4 GF<F4\4 =4 6<6>F=G ED54<=G < 4DGLF6> SEIA, 2020.; %<4D>F5E=<G>4 EFG4<\4, 

�=EF<FGF >�4D>E?46 '5D=<=, 2013. < 2016.), <7D445 ??4=E>5 4>>G<5=F4F<\5 (%FD4F5L>4 

?D>F5=4 GF<F4\4 =4 6<6>F=G ED54<=G �����-4, �'���'% 2013.) < F5E=<G>5 4>>G<5=F4F<\5 

(G5F<D< %FG4<\5 ?D>F5=5 GF<F4\4 =4 6<6>F=G ED54<=G, �=EF<FGF 74 ?GF565 < %4>5D4_4\=< 

<=EF<FGF >&��=, 2020.). 

$47<4FD4^5 \5 74?>G5F> G6<4>< G �4?G>G > <7D44< �7<5=4 < 4>?G=4 �����-4 

<=DD4EFDG>FGD=>7 >>D<4>D4 4GF>-?GF4 �-761, 44 5< 44]< D44 =4 ?D54<5F=>\ EFG4<\< 5<> 

547<D4= =4 ?>44F<<4 <7 �>?47=<E >E=>64 < ?D<?47>V5= F<]56><4 �������-4. �<4\G_< 

=46545=> G 6<4G, %FG4<\4 E5 ?D<<4D=> D>>GE<D4 =4 EF4^5 < <>7G_5 GF<F4\5 =4 6<6>F=G 

ED54<=G 45=<65?<E4=<E D4E>DE=<F4, >4> < E<4D>F5E=<G>4 D5L5^4 74 ?>74\<<LF4 < 

>4?474?<LF4 <4F5D<\4?4 74 <77D44^G E4>5D4_4\=<F5. �D< F><5, 4GF>D< EFG4<\5 EG 

D47<4FD4?< < GF<F4\5: 

- F>>>< <77D44^5 < >>D<L_5^4 ?D<6D5<5=<E ?>>4F<\4 (?>>4F<\5 D44=<E < ?><>_=<E 

>5\5>4F4 =4 D44<?<LF<<4, ?4D><D4?<LF4 < ?D>EF>D4 74 >4D6464^5) < 4DG7<E >5\5>4F4: 

E>?44<LF4 (?>E55=> >?4E=<E <4F5D<\4?4) < <474F<=E><E ?D>EF>D4, ?D<6D5<5=<E 

E4>5D4_4\=<F4 < 4D., 

- GF<F4\< 4ED4?F=<E < 5474 74 ?D<?D5<G ?>4?>74, 

- >4<5=>?><4 < 4D. 

�D<?<>>< D47<4FD4^4, G E>?44G E4 ?D>\5>F=<< 7444F>>< < GE6>\5=<< F<]56<<4 II D475 

�������-4, =<EG G >57<D G75F<: 

- GF<F4\< ?D<?<>>< <77D44^5 < 5>E??>4F4F<\5 4GF>-?GF4, >E<< 45?>64 6574=<E 74 <77D44^G 

< >>D<L_5^5 45=<65?<E4=<E D4E>DE=<F4 < 

- GF<F4\< E<4D>F5E=<G><E D5L5^4 >>\4 =<EG 4<D5>F=> 6574=4 74 GD5V5^5 ?>74\<<LF4 < 

45?>=<\4 <4F5D<\4?4 74 <77D44^G 4GF>-?GF4. 

 

 

I/5 �$���� �$��$��
���% ��$����&��% $�,��� ���� %� ����%� �� ��,&�&' 

 ����&�� %$����� ' �������-4, '�
'''�'�� ��$����&�� $�,��� 

 ��$���������� ����� � �������
���� $�,��� %� %&�����,&� ��,&�&� 

 ����&�� %$����� 

�5D4V<64G< �������-4 EG D47<4FD4?< =5>>?<>> 64D<\4=F=<E D5L5^4 E4 4E?5>F4 74LF<F5 

6<6>F=5 ED54<=5 < 74D46]4 ]G4<, 4?< < E4 4E?5>F4 E>F<\4?=>7 < 5>>=><E>>7 EF4FGE4 

EF4=>6=<LF64 < F>: 

- ���$������ ��%&������ %&��� � 

- ���$���� �'&�-�'&� � �$�&���% ������&� '� �$����' %��% ��&$����% ��$� 

��,&�&� ����&�� %$����� � ��$��
� 
'�� 
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��$����&�� $�,��� 

����&���� 

'&�&�� 

����&���� 

'&�&�� 
���� �� ���'��� 

1. ���$������ 

��%&������ %&��� 

÷ 5>>?>L>< GF<F4\ 

(GF<F4\ =4 

5>>E<EF5<5 < 

5<>4<65D7<F5F), 

÷ 6<7G5?=< GF<F4\ 

 

÷ 45?>?G?4F<\4 

E5>E><E ED54<=4, 

÷ >7D4=<G5=> 

74?>L]464^5 < 

5>>=><E>< D4EF, 

÷ 5>>?>L>< GF<F4\ G 

64=D54=<< 

E<FG4F<\4<4  

 

÷ GF<F4\ =4 

74LF<_5=4 

>G?FGD=4 4>5D4, 

÷ GF<F4\ =4 

E<4D>?>L>5 

>4D4>F5D<EFG>5 

�.�>D465 < 

?D<F>>4  

2. ���$���� �'&�-�'&� � 

�$�&���% ������&� '� 

�$����' %��% 

��&$����% ��$� 

��,&�&� ����&�� 

%$����� � ��$��
� 


'��, ��%���� ��$� 

�� ������ 

%��$�&�%��'�� 

��,&�&� 

÷ 5>>?>L>< GF<F4\ 

(GF<F4\ =4 

>GG64^5 < 

?D>L<D5^5 

5>>?>L><E 

>>D<4>D4 < 

5<>4<65D7<F5F4), 

÷ 74?>L]464^5 < 

5>>=><E>< D4EF, 

÷ ?>7<F<6=4 

<<7D4F<\4 

EF4=>6=<LF64, 

÷ >>D<L_5^5 6>44 

< 74LF<F4 >4 

LF5F=>7 45\EF64 

6>44, 

÷ 6<7G5?=< GF<F4\  

÷ <>7G_< GF<F4\ =4 

EF4^5 6474GE4 < 

5G>5,  

÷ 74G7<<4^5 

?D>EF>D4 

÷ GF<F4\ =4 

74LF<_5=4 

>G?FGD=4 4>5D4 

 

 

�D<>47 5D. 1:  �D<?D5<]5=4 64D<\4=F=4 D5L5^4 

 

�4 >E=>6G 6D54=>64^4 ?D<?D5<]5=<E 64D<\4=F=<E D5L5^4, 74>]GG5=> \5 44 \5 D5L5^5 ?>4 

5D. 2 =4\?>6>]=<\5, >4>> E4 5>>?>L>>7 4E?5>F4, F4>> < E4 4E?5>4F4 >>\< <=4<D5>F=> GF<GG =4 

5>>?>L>< EF4FGE ?>E<4FD4=>7 ?>4DGG\4. 

' >>6<DG D47<4FD4^4 64D<\4=F=<E D5L5^4, G >57<D EG G75F4 < <>7G_4 F5E=>?>L>4 D5L5^4 

5>E??>4F4F<\5 4GF>-?GF4. �?544\G_< =4 >D5F4^5 6>7<?4 >4> F5E=>?>L>< ?D>F5E, 4?F5D=4F<65 

EG 64D<\4F<\5 G D56<<G E4>5D4_4\4, G E<<E?G D57G?<E4^4 5D7<=5 >D5F4^4 GG5E=<>4 G 

E4>5D4_4\G < ^<E>6>7 GE<5D464^4 =4 ?>\54<=4G=5 FD4>5, LF> E65 GF<G5 =4 >5<< 5<<E<\5 

45D>7474V5^4. �46545=4 ?<F4^4 EG G7?46=>< D57G?<E4=4 �4>>=>< > 557554=>EF< E4>5D4_4\4 

< 65DF<>4?=>\ < E>D<7>=F4?=>\ E<7=4?<74F<\< < =<EG ?D54<5F >65 EFG4<\5. %65 4?F5D=4F<65 G 

?>7?54G >4D6464^4 ?GF564 < G?D46]4^4 ?>6574=<< E44D64\<<4 EG ?D54<5F >>=>D5F=<E 

?D>\5>4F4. ,F> E5 F<G5 G>G?=5 ?>FD>L^5 7>D<64 =4 4GF>-?GFG, >=4 ?D<<4D=> 746<E< >4 

E4>5D4_4\=>7 >?F5D5_5^4, 6DEF5 < EF4D>EF< 6>7<?4, GG5E=<>4 G E4>5D4_4\G < EF>E4EF<G>4 \5 

65?<G<=4. 

�4 4E?5>F F5E=>?>L>>7 FD5F<4=4 4D5=46=<E 6>44 E4 >>?>6>7=5 ?>6DL<=5 �GF>-?GF4, 

?D54?>65=< \5 =4\E46D5<5=<\< 74F6>D5=< E<EF5< E4 <D56>< ?>475<=<E 4D5=46=<E F56< 

?>6574=<E E4 E5?4D4F>D<<4 G]4 >D>7 E?<6=<>5 < L4EF>65. �65=FG4?=< 74EF56< 74 <77D44^G 

4?F5D=4F<6=<E 5>6<64?5=F=<E E<EF5<4 _5 5<F< D47<>FD4=< G D47< D476>\4 4<74\=4 ?D>\5>F4. 
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I/6 $��'�&�&� �$�&%����% ���%'�&�&��� %� ����&�$�%������ �$������ � 

 �$������&����� %� �%���&� &�
��� � �$�&��� ���'��% '&�&��� 

 %&$�&�,�� �$�&��� 

�5D4V<64G< �������-4 EG G646<?< <<L]5^4 < GE?>65 =44?56=<E >D74=4 < >D74=<74F<\4: 

����%&�$%&�� 

÷ �<=<EF4DEF6> G=GFD4L^<E ?>E?>64 $5?G5?<>5 %D5<\5 

÷ �<=<EF4DEF6> G=GFD4L^<E ?>E?>64 $5?G5?<>5 %D5<\5 

 %5>F>D 74 64=D54=5 E<FG4F<\5 

÷ �<=<EF4DEF6> >45D4=5 

 %5>F>D 74 <4F5D<\4?=5 D5EGDE5, G?D464 74 <=DD4EFDG>FGDG 

÷ �<=<EF4DEF6> G=GFD4L^5 < E?>]=5 FD7>6<=5 

÷ �<=<EF4DEF6> FGD<7<4 < ><?44<=5  

÷ �<=<EF4DEF6> 4D646=5 G?D465 < ?>>4?=5 E4<>G?D465 

÷ �<=<EF4DEF6> 74 D44, 74?>L]464^5, 5>D4G>4 < E>F<\4?=4 ?<F4^4 

÷ �<=<EF4DEF6> 74D46]4 

÷ �<=<EF4DEF6> >G?FGD5 

÷ �<=<EF4DEF6> ?>]>?D<6D545, LG<4DEF64 < 6>4>?D<6D545  

÷ �<=<EF4DEF6> ?>]>?D<6D545, LG<4DEF64 < 6>4>?D<6D545  

 $5?G5?<G>4 4<D5>F<\4 74 6>45 

÷ �<=<EF4DEF6> 74LF<F5 6<6>F=5 ED54<=5 

÷ �<=<EF4DEF6> 74LF<F5 6<6>F=5 ED54<=5  

 %5>F>D 74 G?D46]4^5 6<6>F=>< ED54<=o<, �4E5> 74 74LF<FG >4 65?<>>7 E5<<\E>>7 G45E4 

÷ �<=<EF4DEF6> ?D<6D545 

÷ �<=<EF4DEF6> E?>DF4 

÷ �<=<EF4DEF6> ?D>E65F5 

÷ �<=<EF4DEF6> =4G>5, F5E=>?>L>>7 D476>\4 < <=>64F<\4 

÷ �<=<EF4DEF6> 74 5D<7G > E5?G 

$��'���'�� (�����) �$��'���� 

÷ �.�. >�?5>FD>?D<6D544 %D5<\5= 

÷ �?5>FD>4<EFD<5GF<\4 %D5<\5 4.>.>., �5>7D44 

÷ �.� >�?5>FD><D564 %D5<\5= 

÷ �� >�GF56< %D5<\5= 

÷ >�=DD4EFDG>FGD4 6e?57=<F5 %D5<\5= 4.4. �5>7D44 

÷ �>=FD>?4 ?5F5^4 %D5<\5 < &D=5 �>D5 %��&%� 4.>.>. 

÷ �<D5>F>D4F F<6<?=>7 6474GE>??>6EF64 $5?G5?<>5 %D5<\5 

÷ �4DF=4 <=4GEFD<\4 %D5<\5 4.4. 

÷ �� >&D4=E=4DF4= 

÷ >�G7>D>E747= 4.4. 
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÷ >&D4=E?>DF74E= 

÷ $5?G5?<G>< E5<7<>?>L>< 746>4 

÷ $5?G5?<G>< E<4D><5F5>D>?>L>< 746>4 

÷ $5?G5?<G>< 746>4 74 74LF<FG E?><5=<>4 >G?FGD5 

÷ �46>4 74 74LF<FG E?><5=<>4 >G?FGD5 �D4]56> 

÷ �46>4 74 74LF<FG ?D<D>45 %D5<\5 

÷ �� >%D5<\4LG<5= 

÷ &5=F4D 74 D47<<=<D4^5 

÷ �� >�<<E<>=4 F5E=<>4 < 6575= 

÷ �� >�>LF4 %D5<\5= 

÷ >&5?5>>< %D5<\4= 4.4. 

÷ $44<> F5?56<7<\4 %D5<\5 

÷ $4F5? 3 $5?G5?<G>4 475=F<\4 74 5?5>FD>=E>5 >><G=<>4F<\5 < ?>LF4=E>5 GE?G75 

������� %���'�$��� 

÷ �D44E>4 G?D464 �D444 �D4]564 

÷ �D44 �DGL564F 3 7D44E>4 G?D464 

 �4E5> 74 GD54=<74< < 7D4V56<=4DEF6> 

÷ �D44 '4G4> 3 7D44E>4 G?D464 

 �D44E>4 G?D464 74 GD54=<74< 

÷ �?LF<=4 �<_564F 3 �?LF<=E>4 G?D464 

÷ �?LF<=4 &DEF5=<> 3 �?LF<=E>4 G?D464 

 �4Ee> 74 GD54=<74<, 7D4V56<=4DEF6>, >><G=4?=>-EF4<55=5 < 5>>?>L>5 ?>E?>65 

 

�4?><<^5<> 44 EG E64 <<L]5^4 < GE?>6< 44F< >4 EFD4=5 =44?56=<E >D74=4 < >D74=<74F<\4 

GE6>\5=< >4 EFD4=5 >5D4V<64G4 �?4=4, >4> < 44 EG <EF< 44F< G ?D<?>7G >6>7 �765LF4\4. 
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II ��,&� � ��%���� &�
��� � ����$ ������&�$� 

 

�?LF< F<]56< EG 45D<=<E4=< G E>?44G E4 74EF56<<4 < F<]56<<4 74LF<F5 6<6>F=5 ED54<=5 

G 4>>G<5=F<<4 $5?G5?<>5 %D5<\5, G ??4=>6<<4 < ?D>7D4<<<4 =4 =<6<< =<6><<4 >>\< EG >4 

7=4G4\4 74 ?D54<5F=< ?D>EF>D, >4> < =4 >E=>6G E44D64\4 < F<]564 �������-4. �>E55=< 

F<]56< <<4\G 7444F4> 44 4>?D<=5EG >EF64D5^G >?LF<E F<]564 F4>> LF> >4D5VG\G >>6<D 74 

45D<=<E4^5 <5D4 < D5L5^4 G 4><5=G 74LF<F5 < >GG64^4 6<6>F=5 ED54<=5. �>E55=< 

F<]56< EG 547<D4=< =4 D57G?F4F<<4 <E?<F<64^4 < ?D>F5=< EF4^4 6<6>F=5 ED54<=5. 

�?LF< F<]56< 

ø �<=<<<7<D4^5 < ?<<<F<D4^5 E6<E >5?<>4 5<<E<\5 ?>?GF4=4F4 6<6>F=5 ED54<=5 G F<]G 

>GG64^4 >64?<F5F4 G<=<?4F4 6<6>F=5 ED54<=5 (6>45, 6474GE4, 75<]<LF4, 5G>5); 

ø �?4=<D4^5 74LF<F5 <45=F<D<>>64=<E ?>6D54<6<E G<=<>F4 6<6>F=5 ED54<=5; 

ø �GG64^5 < G=4?D5V5^5 5>>?>L><E, >G?FGD>?>L><E < 4DG7<E 6D54=>EF< G =4E5]<<4; 

ø �<>7G_464^5 >EF64D5^4 >4D6<6>7 D476>\4 ?>]>?D<6D54=5 ?D><76>4^5 G 

>>DG65^G >>D<4>D4 < <4>E<<4?=> >GG64^5 ?>EF>\5_57 >64?<F5F4 ?>]>?D<6D54=>7 

75<]<LF4; 

ø 'E47?4L464^5 < D5L464^5 ?>F5=F<\4?=<E >>=D?<>4F4 6574=<E 74 ?D>?474> >>D<4>D4 

>D>7 LG<E>> 75<]<LF5; 

ø �GG64^5 ?D<D>4=<E 5>>E<EF5<4; 

ø �GG64^5 ?>EF>\5_57 5<>4<65D7<F5F4 < 

ø %<4D>F5E=<G>> < ?5\746=> GD5V5^5 E4 D5>G?F<64F<\>< ?D>EF>D4 ?>74\<<LF4 < 

>4?474?<LF4 <4F5D<\4?4 74 <77D44^G 4GF>-?GF4. 

�>E55=< F<]56< 

1. �GG64^5 >64?<F5F4 6474GE4 

2. '=4?D5V5^5 >64?<F5F4 ?>475<=<E 6>44 

3. '=4?D5V5^5 < >GG64^5 >64?<F5F4 75<]<LF4 

4. '=4?D5V5^5 >64?<F5F4 < D56<<4 ?>6DL<=E><E 6>44 

5. �4LF<F4 >4 5G>5 

6. �GG64^5 5<>4<65D7<F5F4 

7. �GG64^5 ?>EF>\5_<E 5>>E<EF5<4 

8. 'E?>EF46]4^5 E<EF5<4 G?D46]4^4 G6DEF<< >F?44>< 

9. �77D44^4 E<EF5<4 74 E4>G?]4^5 < FD5F<4= >F?44=<E 6>44 < EF45<?=>7 6>4>E=454564^4 

74 E65 ?>FD>L4G5 

10. %<4D>F5E=<G>> < ?5\746=> GD5V5^5 E4 D5>G?F<64F<\>< ?>74\<<LF4 ?5E>>6<F>-

L]G=>>6<F>7 <4F5D<\4?4 74 <77D44^G 4GF>-?GF4 

11. %<4D>F5E=<G>> < ?5\746=> GD5V5^5 E4 D5>G?F<64F<\>< >4?474?<LF4 <4F5D<\4?4 

74>EF4?>7 F>>><  <77D44^5 4GF>-?GF4 

12. '?D46]4^5 64=D54=<< E<FG4F<\4<4 

�=4<>4F>D< 

�=4<>4F>D< ?D54EF46]4\G D5?D575=F4F<6=G 6D54=>EF ?>E<4FD4=>7 5?5<5=F4 3 G<=<>F4 <?< 

EF4^4 < ?>7>44= EG <=EFDG<5=F 74 <45=F<D<>4F<\G, ?D4_5^5 < G?>D5V<64^5 ?D><5=4 < 

>EF64D<64^5 F<]564 E5>F>DE><E ?>?<F<>4 < EFD4F57<\4. �=< EG 547=5 <=D>D<4F<\5 G ?D>F5EG 

E6<E >4F57>D<\4 ??4=<D4^4, >4> < G ?D>F5EG <45=F<D<>4F<\5, ?D4_5^4 EF4^4 < G=4?D5V5^4 

>64?<F5F4 6<6>F=5 ED54<=5. 
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�D>\=< EG >D<F5D<\G<< =4 >E=>6G >>\<E E5 6DL< <75>D <=4<>4F>D4, 4 G =4\65_5< 5D>\G 

E?GG4\564, >E=>6=< >D<F5D<\G<< EG: 

÷ 7=4G4\ ?D>5?5<4 E4 7?54<LF4 =574F<6=>7 GF<F4\4 =4 6<6>F=G ED54<=G. 

÷ <>7G_=>EF <5D5^4 74F5G5=>7 EF4^4 6<6>F=5 ED54<=5 < >4E=<\57 <>=<F>D<=74, 

÷ <>7G_=>EF ?D<<5=5 <>45?4 G ?D>F5=< GF<F4\4 ??4=<D4=<E 4>F<6=>EF<. 

 

OECD \5 <45=F<D<>>64> < 45D<=<E4> \577D5=< E5F >4 72 <=4<>4F>D4 6<6>F=5 ED54<=5 

74E=>64=<E =4 D5?564=F=>EF<, 4=4?<F<G>>\ 64]4=>EF< < <5D]<6>EF<, >4 >>\<E E5 ?D4F< 30. 

�6D>?E>4 475=F<\4 74 6<6>F=G ED54<=G (EEA), \5 D476<?4 E>?EF65=5 >>>D= E5F>65 <=4<>4F>D4 

6<6>F=5 ED54<=5, ?D5<4 <>45?G (<>F<6, ?D<F<E4>, EF4^5, GF<F4\, >47>6>D). 

%65FE>4 74D46EF65=4 >D74=<74F<\4 (WHO), ?D5?>DGGG\5 E5F >>>D= <=4<>4F>D4 >>\< G>]GGG\5 < 

5D5>F5 =4 ]G4E>> 74D46]5, >>\< 5< E5 L5<4FE>< <>74> ?D<>474F< =4 E?545_< =4G<=: 

 

 

 

 

 

�445D4=< EG >>>D= <=4<>4F>D< >>\< EG G >57<D G75?< G<^5=<FG 44 E5 =5 ??4=<D4\G 

4>F<6=>EF< >>\5 =5 E<5\G 7=4G4\=> G7D>6464F< 6<6>F=G ED54<=G, 4 >>\< FD554 44 >5575545 

<=D>D<4F<\5 > ?>EF>\5_5< EF4^G 6<6>F=5 ED54<=5 74 >4E=<\< 5D<>4E4= <>=<F>D<=7. 

�4 >64\ �765LF4\ 45D<=<E4=< EG <=4<>4F>D< <7 >5?4EF< ?D<F<E>4, EF4^4, <7?>65=>EF< < 

5D5>4F4. �5?4EF <=F5D5E4 < <>F<64 \5 >5GE64_5= >?LF<< F<]56<<4, 4>> _5 <=4<>4F>D< 

>47>6>D4 5<F< 45D<=<E4=< >D>7 <5D5 74LF<F5. 

 
 

�D. �>E55=< F<]56< � = 4 < > 4 F > D < 

1. �GG64^5 >64?<F5F4 6474GE4 - �=4<>4F>D ?D54EF46]4 5D>\ 44=4 G F>>G 7>4<=5 E 

?D5>>D4G5^5< �� >64?<F5F4 6474GE4 G >4=>EG =4 

7474V5^5 6474GE4 E4 SO2, NO2, PM10 < O3. 

�=4<>4F>D E5 D4GG=4 =4 >E=>6G ?>44F4>4 4D646=5 

< ?>>4?=5 <D565 E4 <5D=<E <5EF4 =4\5?<6<E 

?D54<5F=<< ??4=G 74 ?D4_5^5 >64?<F5F4 6474GE4 

<7 <7<5D5=<E G4E>6=<E, 24-G4E>6=<E 6D54=>EF< 

>>=F5=FD4F<\4 SO2, NO2, PM10 < <4>E<<4?=<E 

>E<>E4F=<E 6D54=>EF< �3. 

2. '=4?D5V5^5 >64?<F5F4 

?>475<=<E 6>44 

- �=4<>4F>D EG >>=F5=FD4F<\5 <E?<F<64=<E 

=GFD<\5=4F4, ED54EF464 74 74LF<FG 5<]4 < F5L><E, 

F>>E<G=<E <5F4?4 < <5F4?><44 (As, Cd, Se, Cr, Pb < 

Ni), G >4=>EG =4 >=G?F> EF4^5=. 

3. '=4?D5V5^5 < >GG64^5 

>64?<F5F4 75<]<LF4 

- �=4<>4F>D ?D<>47G\5 FD5=4>65 G ?D><5=< 

?>]>?D<6D54=>7, LG<E>>7 < 4DG7>7 ?>?G-

?D<D>4=>7 < ?D<D>4=>7 75<]<LF4 G GD54=> 

75<]<LF5. �=4<>4F>D E5 <7D4GG=464 4=4?<7>< 

>4D4F4 74E=>64=<E =4 E=<<F<<4 �4=4E4F E4F5?<F4 

<7 CLC 5475 74 1900., 2000. < 2006. 7>4. 

�5?4EF 
<=F5D5E4 �>F<6 �D<F<E4> %F4^5 �7?>65=>EF �D5>F< �47>6>D 
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�D. �>E55=< F<]56< � = 4 < > 4 F > D < 

4. '=4?D5V5^5 >64?<F5F4 < 

D56<<4 ?>6DL<=E><E 6>44 

- �=4<>4F>D ?>FD>L^5 ><E5>=<>4 ?D4F< 

>>=F5=FD4F<\5 ���5 < 4<>=<\G<4 (NH4-N) G 

?>6DL<=E><< 6>44<4 < >55755VG\5 <5DG EF4^4 

?>6DL<=E><E 6>44 G E<<E?G 5<>D477D44<6>7 

>D74=E>>7 >?F5D5_5^4 < 4<>=<\G<4. 

- Serbian Water Quality Index (SWQI) >4> >><?>7<F=< 

<=4<>4F>D >64?<F5F4 ?>6DL<=E><E 6>44 ?D4F< 

4565F ?4D4<5F4D4 D<7<G>>-E5<<\E>>7 < \544= 

?4D4<5F4D <<>D>5<>?>L>>7 >64?<F5F4 6>45 (pH, 

5?5>FD>?D>6>4]<6>EF, G>G?=< >>E<4>64=< 47>F, 

G>G?=< 4<>=<\G< G ���-G. 

- �=4<>4F>D \5 % E<4^5^4 ?>6DL<=4 75<]<LF4 

G7D>65=<E ?>??464<4 < 5G\<G=<< 6>44<4. 

5. �4LF<F4 >4 5G>5 - �=4<>4F>D \5 % <76545=<E >5\5>4F4 74LF<F5 >4 

5G>5 G >4=>EG =4 ?D>F5^5= ?>FD554= >5<< 

74LF<F5 5>E?>=<D4=5 ?>?G?4F<\5 G 7>=< 

45=<65?<E4=<E D4E>DE=<F4. 

6. �GG64^5 5<>4<65D7<F5F4 - �=4<>4F>D< EG: 

- 5D>\ >GG64=<E 74LF<_5=<E 5<]=<E < 

6<6>F<^E><E 6DEF4 G =4D54=>< ?5D<>4G G >4=>EG 

=4 5D>\ ?D5 <77D44^5 4GF>-?GF4, 

- 5D>\ >GG64=<E <45=F<D<>>64=<E 74LF<_5=<E 

?D<D>4=<E 4>54D4 < ?D545>=<E F5?<=4 G >4=>EG 

=4 F4\ 5D>\ ?D5 <77D44^5 4GF>-?GF4. 

7. �GG64^5 ?>EF>\5_<E 

5>>E<EF5<4 

- �=4<>4F>D \5 ?D><5=4 G 5D>\G <45=F<D<>>64=<E 

5>>E<EF5<4, 

- �=4<>4F>D \5 5D>\ <77D4V5=<E < DG=>F<>=4?=<E 

>><G=<>4F<\4 < 6574 <7<5VG 6<6>F<^E><E 

74\54=<F4 G ?D<>54]G �.�>D465 < 4>64F>D<\4 =4 

?>>4F<\4<4 ?>74\<<LF4. 

8. 'E?>EF46]4^5 E<EF5<4 

EF45<?=>7 6>4>E=454564^4 

< G?D46]4^4 G6DEF<< 

>F?44>< 

- �5GE64F E=454564^4 (?>>4?=> <?< F5=FD4?=>), 

E<7<\5=E>< <E?D46=>< 6>4>< 74 E65 74?>E?5=5 

?D5<4 EF4=44D4<<4, >4> < 6>4>< 74 E65 

F5E=>?>L>5 ?>FD555 < ?D>F<6?>64D=G 74LF<FG \5 

<=4<>4F>D >47>64D4\G_5 5><?<D4=>EF< ?>FD55=<< 

<=DD4EFDG>FGD=<< >5\5>F<<4 < <=EF4?4F<\4<4. 

- �=4<>4F>D \5 G>G?=4 >>?<G<=4 >F?444 >>\<< E5 

G?D46]4 =4 >47>64D4\G_< =4G<= G >4=>EG =4 E46 

?D>F5^5=< ?D><76545=< >F?44, ?> 6DEF4<4 < 

45?4F=>EF<<4 G >>\<<4 =4EF4\5. 

- �>4<=4<>4F>D< EG: 

- G>G?=4 >>?<G<=4 ?D><76545=>7 >F?444, 

- G>G?=4 >>?<G<=4 <E?<F4=>7 >F?444, 

- G>G?=4 >>?<G<=4 D5F<>?<D4=>7 >F?444.  
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�D. �>E55=< F<]56< � = 4 < > 4 F > D < 

9. �77D44^4 E<EF5<4 74 

E4>G?]4^5, >46>V5^5 < 

FD5F<4= >F?44=<E 6>44 

- �=4<>4F>D \5 ?>>474F5] G>G?=5 >>?<G<=5 

E4>G?]5=<E < FD5F<D4=<E >F?44=<E 6>44 (?>>4?=> 

<?< F5=FD4?=>) G >4=>EG =4 G>G?=G ?>FD>L^G 

6>45. 

10. %<4D>F5E=<G>> < ?5\746=> 

GD5V5^5 E4 D5>G?F<64F<\>< 

?>74\<<LF4 ?5E>>6<F>-

L]G=>>6<F>7 <4F5D<\4?4 74 

<77D44^G 4GF>-?GF4, 

G>]GGG\G_< < >>>?=< 

?D>EF>D 

- �=4<>4F>D \5 5D>\ GD5V5=<E < D5>G?F<6<E4=<E 

?>74\<<LF4 ?5E>>6<F>-L]G=>>6<F>7 <4F5D<\4?4 G 

>4=>EG =4 G>G?4= 5D>\ ?>74\<<LF4, 

- �=4<>4F>D \5 % ?>74\<<LF4 G >4=>EG =4 G>G?4= 

5D>\ GD5V5=<E < D5>G?F<6<E4=<E ?>74\<<LF4, >>\4 

EG ?>6574=4 E4 >E=>6=<< D5G=<< F>>>< 

DG=>F<>=4?=>< 657><, F4>> 44 E4 �.�>D46>< 

D>D<<D4\G \54<=EF65= >>D<4>D. 

11. %<4D>F5E=<G>> < ?5\746=> 

GD5V5^5 E4 D5>G?F<64F<\>< 

>4?474?<LF4 <4F5D<\4?4 

74>EF4?>7 F>>>< <77D44^5 

4GF>-?GF4, G>]GGG\G_< < 

>>>?=< ?D>EF>D 

- �=4<>4F>D \5 5D>\ GD5V5=<E < D5>G?F<6<E4=<E 

>4?474?<LF4 <4F5D<\4?4, G >4=>EG =4 G>G?4= 5D>\ 

>4?474?<LF4, 

- �=4<>4F>D \5 % >4?474?<LF4 >>\4 EG G F<]G 

E<4^5^4 =574F<6=>7 GF<F4\4 D5?>F<D4=4 G 

557554=<\5 7>=5 < >>\4 EG =4>=44=> GD5V5=4 < 

D5>G?F<6<E4=4. 

12. '?D46]4^5 64=D54=<< 

E<FG4F<\4<4 

- �=4<>4F>D \5 >4=>E ?>6DL<=5 < EF5?5=4 74LF<F5 

??46=<E ?>4DGG\4, ?D5 < =4>>= <77D44^5 4GF>-?GF4, 

- �=4<>4F>D \5 >4=>E 5D>\a 4>=5E5=<E < 

<<??5<5=F<D4=<E >�>EF5D=<E ??4=>64 74LF<F5 >4 

65?<><E G45E4= < =54>=5E5=<E < 

=5<<??5<5=F<D4=<E ??4=>64 >4 EFD4=5 ?>>4?=<E 

74\54=<F4 ?>F<D4=<E G >>>?<=< 4GF>-?GF4, =4 G<\>\ 

E5 F5D<F>D<\< =4?475 E565E> >><??5>E< >6<L57 

D544=. 

&455?4 5D 3.  &<]56< < <=4<>4F>D< �������-4 
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III �$�&��� ���'��% '&�&��� 

III/1 �$���� �$�&�����% '&�&��� ��$����&��% $�,���, %� ��$������ 

 ��$����&��% $�,��� � �$���� $������ �� ����$ �������
����� $�,��� 

�4D<\4=F=4 D5L5^4 EG G?>D5V<64=4 G >4=>EG =4 65?<G<=G < 6DEFG GF<F4\4 >>\< <<4\G =4 

D54?<74F<\G ?>E55=<E F<]564 �������-4. �D>F5=4 GF<F4\4 \5 >7=4G5=4 =4 E?545_< =4G<=: 

>?>7<F<64= GF<F4\=, >=574F<64= GF<F4\= < >557 GF<F4\4=, E F<< 44 \5 =54>EF4F4> ?>44F4>4 74 

?D>F5=G GF<F4\4 >7=4G5= >4> >=5?>7=4F GF<F4\=. 

 

&<]56< <7<5=4 < 4>?G=4 �����-4 
��$����&�� $�,��� 

1 2 

1. �GG64^5 >64?<F5F4 6474GE4   

2. '=4?D5V5^5 >64?<F5F4 ?>475<=<E 6>44   

3. '=4?D5V5^5 < >GG64^5 >64?<F5F4 75<]<LF4   

4. '=4?D5V5^5 >64?<F5F4 < D56<<4 ?>6DL<=E><E 6>44   

5. �4LF<F4 >4 5G>5   

6. �GG64^5 5<>4<65D7<F5F4   

7. �GG64^5 ?>EF>\5_<E 5>>E<EF5<4   

8. 'E?>EF46]4^5 E<EF5<4 EF45<?=>7 6>4>E=454564^4 < 

G?D46]4^4 G6DEF<< >F?44>< 
  

9. �77D44^4 E<EF5<4 74 E4>G?]4^5, >46>V5^5 < FD5F<4= 

>F?44=<E 6>44 
  

10. %<4D>F5E=<G>> < ?5\746=> GD5V5^5 E4 D5>G?F<64F<\>< 

?>74\<<LF4 ?5E>>6<F>-L]G=>>6<F>7 <4F5D<\4?4 74 

<77D44^G 4GF>-?GF4, G>]GGG\G_< < >>>?=< ?D>EF>D 

  

11. %<4D>F5E=<G>> < ?5\746=> GD5V5^5 E4 D5>G?F<64F<\>< 

>4?474?<LF4 <4F5D<\4?4 74>EF4?>7 F>>>< <77D44^5 

4GF>-?GF4, G>]GGG\G_< < >>>?=< ?D>EF>D 

  

12. '?D46]4^5 64=D54=<< E<FG4F<\4<4   

 

�575=44: ?>7<F<64= GF<F4\               =574F<64= GF<F4\               557 GF<F4\4               =5?>7=4F GF<F4\  

 

�D<>47 5D. 2:  �4FD<F4 GF<F4\4 64D<\4=F=<E D5L5^4 =4 D54?<74F<\G >?LF<E F<]564 



 

45 

�4 E?545_5< ?D<>47G \5 44F >?<E D5L5^4 < D47?>7< 74 <75>D =4\?>6>]=<\57 D5L5^4 E4 

=4G<=>< =4 >>\< EG ?<F4^4 74LF<F5 6<6>F=5 ED54<=5 G>]GG5=4 G >4?G>G. 
 

��$����&�� 

$�,��� 
�$���� $�,��� 

$47?>7 74 <75>D/ 

=5<75>D D5L5^4 

�4G<= =4 >>\< EG ?<F4^4 

74LF<F5 6<6>F=5 

ED54<=5 < 4DG74 ?<F4^4 

G>]GG5=4 G >4?G>G 

1 

$5L5^5 ?>4D47G<564 

44 E5 =4 ?>>4F<\< 

=<LF4 >4 >5\5>4F4 

??4=<D4=<E G >>6<DG 

�������-4 =5 

D54?<7G\5 < 44 E5 

744D6< ?>EF>\5_5 

EF4^5 (>status quo=). 

$47?>7 74LF> D5L5^5 =<\5 

<745D4=>: 

- \5D =<\5 G E>?44G E4 

?>EF>\5_<< ??4=>6<<4, 

?D>7D4<<<4 < F<]56<<4 

74LF<F5 6<6>F=5 ED54<=5 =4 

D5?G5?<G>>< < ?>>4?=>< 

=<6>G, 

- \5D \5 4=4?<7>< ?>EF>\5_57 

EF4^4 6<6>F=5 ED54<=5 

>>=EF4F>64=> 

=5744>6>]464\G_5 EF4^5 

?>6DL<=E><E < ?>475<=<E 

6>44 < 75<]<LF4, 

- \5D \5 EF4^5 

<=DD4EFDG>FGD=<E >5\5>4F4 < 

<=EF4?4F<\4 >>\5 EG >4 

7=4G4\4 74 74LF<FG 6<6>F=5 

ED54<=5 < 74D46]5 ]G4< 

=5744>6>]464\G_5, < 

- \5D =5 ?>EF>\5 >47>64D4\G_< 

GE?>6< 74 >>=FD>?G 

64=D54=<E E<FG4F<\4. 

�D<?<>>< 4>=>L5^4 

>4?G>5 G >57<D EG G75F<: 

- ?>EF>\5_4 ??4=E>4 < 

?D>7D4<E>4 4>>G<5=F4, 

- D57G?F4F< ?D5FE>4=<E 

<EFD46<64^4 ?D>EF>D4, 

- <45=F<D<>>64=< 

<76>D< 7474V5^4, 

- ?>EF>\5_< 5>>=><E>< < 

E>F<\4?=< EF4FGE 

EF4=>6=<LF64 < 

- 5><?<D4=>EF 

?>E<4FD4=>7 ?>4DGG\4 

<=DD4EFDG>FGD=<< 

>5\5>F<<4 < 

<=EF4?4F<\4<4 >4 

7=4G4\4 74 6<6>F=G 

ED54<=G.  

2 

$5L5^5 ?>4D47G<564 

44 E5 =4 ?>>4F<\< 

??4=<D4 7D44^4 

45=<65?<E4=<E 

D4E>DE=<F4,  G7 

E?D>6>V5^5 E6<E 

?>FD55=<E <5D4 

74LF<F5 6<6>F=5 

ED54<=5, G>]GGG\G_< 

< E<4D>F5E=<G>4 

D5L5^4 E4 GD5V5^5< 

< D5>G?F<64F<\>< 

?>74\<<LF4 < 

>4?474?<LF4 

<4F5D<\4?4. 

$5L5^5 \5 >445D4=>: 

- \5D \5 G E>?44G E4 

?>EF>\5_<< ??4=>6<<4, 

?D>7D4<<<4 < F<]56<<4 

74LF<F5 6<6>F=5 ED54<=5 =4 

D5?G5?<G>>< < ?>>4?=>< 

=<6>G, 

- \5D >=> ?>4D47G<564 

G=4?D5V5^5: >64?<F5F4 

75<]<LF4 < 6>44, 

E>F<\4?=<E GE?>64 < 

5>>=><E>>7 EF4FGE4 

7D46<F<D4\G_57 

EF4=>6=<LF64, E<7<\5=E><E 

GE?>64 G =4E5]<<4 < 4D., < 

- \5D E5 <7 <4FD<F5 GF<F4\4 

64D<\4=F=<E D5L5^4 <>7G 

\4E=> E47?544F< ?D54=>EF< 

D5L5^4 5D. 2. 

�D<?<>>< 4>=>L5^4 

>4?G>5 G >57<D EG G75F<: 

- ?>EF>\5_4 ??4=E>4 < 

?D>7D4<E>4 4>>G<5=F4, 

- D57G?F4F< ?D5FE>4=<E 

<EFD46<64^4 ?D>EF>D4, 

- ?>EF>\5_< < ??4=<D4=< 

>5\5>F< < <=EF4?4F<\5 

>><G=4?=5 

<=DD4EFDG>FGD5 >4 

7=4G4\4 74 6<6>F=G 

ED54<=G < 74D46]5 

]G4<, < 

- ?>F5=F<\4?< 

5>>=><E>>7 D476>\4. 

 

�D<>47 5D. 3:  �4D<\4=F=4 D5L5^4 < D47?>7< 74 <75>D =4\?>6>]=<\57 
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III/2 �$���� �$�&�����% '&�&��� �������-4 �� ����&�' %$����' 

�D>F5=4 GF<F4\4 ??4=<D4=<E >5\5>4F4 < 4>F<6=>EF< =4 6<6>F=G ED54<=G \5 GD4V5=4 ?D5<4 

L5<< >>\4 ?>4D47G<564: 

 

 

 
 

 

,5<4 \5 ?D5G75F4 <7 6>4<G4/G?GFEF64 >>\< EG GD44<?5 ?D<7=4F5 <5VG=4D>4=5 < =4F<>=4?=5 

<=EF<FGF<\5 >>\5 E5 5465 74LF<F>< 6<6>F=5 ED54<=5: Environmental Risk Assessment Guidance 

Manual-for industrial chemicals (Australian Environmental Agency), Guidelines for Environmental 

Risk Assessment and Management (Green Leaves III, Cranfield University, UK), Environmental risk 

assessment (USA EPA), Human health risk assessment (WHO) < 4D. 

�D54=>64^5 GF<F4\4 5D5>4F4/?>E?54<F4 \5 GD4V5=> >>D<L_5^5< ?>E55=5 <4FD<F5 

6D54=>64^4 >>\4 \5 45D<=<E4=4 �5VG=4D>4=<< EF4=44D4>< 14001 (Environmental 

management System 3 Requirements with Guidance for use, ISO 14001:2004/E). 

�45=F<D<>4F<\4 ?>F5=F<\4?=<E <76>D4 7474V5^4 6<6>F=5 ED54<=5 \5 ?D<>474=4 D4=<\5 G 

F5>EFG (&4G>4 I/3). ' >>6<DG >65 F4G>5 ?D<>47G\5<> 5<F=5 >4D4>F5D<EF<>5 ?>F5=F<\4?=5 

5<<E<\5 ?>?GF4=4F4, ^<E>6G <>7G_G FD4=ED>D<4F<\G G ?D>F5EG FD4=E?>DF4 < <>7G_5 

5D5>F5/?>E?54<F5 =4 ?>6D54<65 >5\5>F5 < G<=<>F5 6<6>F=5 ED54<=5. 

E��%��� ���'&���&� �&��%$�$� 

 

&>>E<G=< <E?GEF G 

<74G6=<< 74E>6<<4 

�<<E<\4 F>>E<G=<E <4F5D<\4, g/km 

55=7<= TNG �>76>]5=5 6D54=>EF< (ADR 27) 

CO 16,6 1,3 24,2 

G7]>6>4>=<F< 1,4 0,9 2,1 

NOx 1,6 1,3 1,9 

&455?4 5D. 4:  '?>D54=5 6D54=>EF< 5<<E<\5 F>>E<G=<E <4F5D<\4 G <74G6=<< 74E>6<<4 ?D< 

E47>D564^G 55=7<=4 < &��-4 G F>>G 6>6^5 

 

&>>E<G=< <E?GEF G <74G6=<< 74E>6<<4 
�<<E<\4 F>>E<G=<E <4F5D<\4, % 

55=7<= TNG 

CO (?D474= E>4) 1,8 0,1 

&455?4 5D. 5:  '?>D54=5 6D54=>EF< 5<<E<\5 F>>E<G=<E <4F5D<\4 G <74G6=<< 74E>6<<4 ?D< 

E47>D564^G 55=7<=4 < &��-4 ?D< ?D47=>< E>4G 6>7<?4 (=4 EF4\4?<LFG) 

 

&>>E<G=< <E?GEF G 

<74G6=<< 74E>6<<4 

�<<E<\4 F>>E<G=<E <4F5D<\4, g/km 

55=7<= TNG �>76>]5=5 6D54=>EF< (ADR 27) 

CO 0,55 1,39 6,2 

G7]>6>4>=<F< 0,059 0,047 0,5 

NOx 0,069 0,009 1,4 

CO2 328 292  

&455?4 5D. 6:  '?>D54=5 6D54=>EF< 5<<E<\5 F>>E<G=<E <4F5D<\4 G <74G6=<< 74E>6<<4 ?D< 

E47>D564^G 55=7<=4 < &��-4 G F>>G 6>6^5 >>4 6>7<?4 E4 5?5>FD>=E>< G?D46]4=<< E<EF5<>< 74 

G5D<77464^5 7>D<64 

�45=F<D<>4F<\4 

<76>D4 

�<<E<\4 &D4=E<<E<\4/E5<<74< 

?>?GF4=4F4 

�D5>F< 

(?>E?54<F5) 
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�5> 45D>7474V5^4 _5 5<F< FD4=E?>DF>64= < E4 >>>?=<E E4>5D4_4\=<F4 < <7 <=4GEFD<\E><E 

>5\5>4F4 G >>DG65^G, F4>> 44 E5 G =5?>6>]=<< <5F5>. GE?>6<<4 <>7G ?>6D5<5=> >G5><64F< 

?D5>>D4G5^4 ��-4, 75>7 44<F<6=>7 5D5>F4 ?>>4?=<E <76>D4 64= 7>=5 �������-4. &D5=GF=> 

F4\ GF<F4\ =<\5 >4 7=4G4\4, E >57<D>< =4 D57G?F4F5 4>5<\5=5 <E?<F<64^5< 6474GE4 74 ?>FD555 

<7D44e SEIA. 

�>E554= <76>D 7474V5^4 <>7G 5<F< ?>]>?D<6D54=5 4>F<6=>EF<, ?>E55=> 75>7 5<4=4F<\5 

<<D<E=<E <4F5D<\4 >>4 ?D<<5=5 ?D<D>4=<E VG5D<64. % >57<D>< 44 G =4L>\ 75<]< =<EG 

D57G?<E4=5 7D4=<G=5 6D54=>EF< 74 <<D<E=5 <4F5D<\5, >64\ 6<4 7474V5^4 =5_5 5<F< 

45F4]=<\5 4=4?<7<D4=. 

' E?GG4\G >4?474?<LF4 <4F5D<\4?4 >>\< \5 74>EF4> >4 <77D44^5 4GF>-?GF4, ?>65_4=> 

45D>7474V5^5 E5 <>65 >G5><64F< E4 =5GD5V5=<E ?>6DL<=4 >>\5 5<<FG\G G5EF<G=> 7474V5^5: 

F4?>6=5 <4F5D<\5 65_5 >4 10 µm < EGE?5=4>64=5 <4F5D<\5 PM10. �65 G5EF<F5 <>7G 

E44D6464F< 44E>D5>64=5 F5L>5 <5F4?5 < >D74=E>4 \54<^5^4. 

E��%��� ' ���' � ���
�,&� 

�D>5?5<4F<>4 7474V5^4 6>45 < 75<]<LF4 ?D65=EF65=> \5 ?D<EGF=4 >4> ?>E?54<F4 

5>E??>4F4F<\5 E4>5D4_4\=<E ?>6DL<=4 (E4>5D4_4\=<F4, ?4D><=7 ?D>EF>D4, <4=<?G?4F<6=<E 

?>6DL<=4 < E?.), =5>>=FD>?<E4=5 5<<E<\5 >F?44=<E 6>44 < =5>47>64D4\G_5 >4?474^5 G6DEF>7 

>F?444, ?>E55=> >?4E=>7. 

�474V5^4 >>\4 EG ?>E?54<F4 5>E??>4F4F<\5 EG >>=EF4=F=4 < 6D5<5=E>< < ?D>EF>D=> 

D5?4F<6=> >4D5V5=4 < D57G?F4F EG ?D5 E6574: 

- F4?>65^4 <74G6=<E 74E>64, 

- E454^4 7G<4 < ?>4?>75, 

- 45EFDG>F<\5 >4D>E5D<\5 < ?D>F5V<64^4 F5D5F4, 

- ?D>E<?4^4 F5D5F4, 

- >454F<64^4 >D74=E><E < =5>D74=E><E >F?444>4, 

- D4765\464^4 GE?54 ?D>?4E>4 6>7<?4. 

�>E?54<F4 >46<\4^4 E4>5D4_4\4 =4 <4=<?G?4F<6=<< ?>6DL<=4<4 \5 ?5D<4=5=F=> F4?>65^5 

LF5F=<E <4F5D<\4 =4 >>?>6>7=>\ ?>6DL<=< < ?D4F5_<< 5?5<5=F<<4, >>\5 E5 >>4 ?>\465 

?4446<=4 E?<D4\G. $44< E5 ?D5 E6574 > F4?>65^G G5EF<F4, G]4 < <47<64, E454^G 7G<4 < 

>>?>6>74, E454^G >4D>E5D<\4 < E?. 

�> 7474V5^4 75<]<LF4 < 6>45 <>65 4>_< G>>?<>> E5 =4 ?>>4F<\< =5 <77D44< E5?4D4F=< 

>4=4?<74F<>=< E<EF5<, F4>> LF> 5< E5 E65 ?>F5=F<\4?=> >>=F4<<=<D4=5 6>45 >D74=<7>64=> 

E4>G?]4?5, FD5F<D4?5 < >46>4<?5 G D5F<?<\5=F. &> E5 ?>E55=> >4=>E< =4 D5>4?=5 >F?44=5 

6>45, G>>?<>> E5 =4 D4E>DE=<F4<4 7D445 =4??4F=5 D4<?5 < ?D4F5_< >5\5>F<. 

 

�DEF4 <4F5D<\4 <<=5D4?=5 >D74=E>5 G>G?=5 BPK5 (20>C) 

%GE?5=4>64=5 25 65 90 92 

4) F4?>6<65 15 39 54 19 

5) =5F4?>6<65 10 20 36 23 

$4EF6>D5=5 80 80 160 12 

'>G?=5 105 145 250 54 

&455?4 5D. 7: �D>E5G=< E4EF46 >F?44=5 6>45 (7D/EF/24h) 
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�F?44=4 6>44 E44D6< G E55< < D4EF6>D5=5 74E>65 D47?<G<F<E >>=F5=FD4F<\4. �5VG 

=4\646=<\<< EG: ><E5>=<> >>\< E5 =4?47< D4EF6>D5= G 6>4>6>4E>>\ 6>4< < F4>46 4>E?564 G 

>4=4?E>G 6>4G, E F<< 44 E5 <765E=4 >>?<G<=4 >6>7 74E4 4>5<\4 <7 6474GE4 G 4>4<DG 6474GE4 E4 

?>6DL<=>< >4=4?E>5 6>45. 

�>D54 D4EF6>D5=>7 ><E5>=<>4, >4=4?E>4 6>44 <>65 E44D64F< < 4DG75 74E>65: G7]5=-

<>=>>E<4, >>\< =4EF4\5 D47?474^5< >D74=E><E <4F5D<\4 G >4=4?E>>\ 6>4<, 74F<< 47>F <7 

4F<>ED5D5, EG<?>6>4>=<>, >>\< =4EF4\5 D47?474^5< >D74=E><E < =5><E =5>D74=E><E 

EG<?>D=<E \54<^5^4. �6< 74E>6<, <444 E5 =4?475 G <4?<< >>?<G<=4<4, <7D4\G 65><4 646=G 

G?>7G G D47?474^G < FD5F<D4^G G6DEF<E <4F5D<\4 G >4=4?E>>\ 6>4<. 

�F?44=4 6>44 F4>>V5 E44D6< 65?<>< 5D>\ 6<6<E <<>D>>D74=<74<4. �D<EGEF6> >6<E 

>D74=<74<4 >4> ?D<D>4=< 6<6< 45> >D74=E><E <4F5D<\4 G 6>4<, <7D4 =4\646=<\G G?>7G \5D \5 

F> \544= >4 D47?>74 ?D5G<L_464^4 >F?44=<E 6>44. %5< F>74 >4 ^<E>6<E 4>F<6=>EF< 

(D47?474^4) 746<E< < GE?5E ?D5G<L_464^4. 

 

%57>=4 

�<?<\4D45 54>F5D<\4 ?> EF4=>6=<>G 4=56=> 

=4 65?4F<=G, ?D< 20>C 

?>E?5 48 G4E>64 

=4 474DG, ?D< 37>C 

?>E?5 24 G4E4 

>>?<D>D<=5 

>?<F5 

�5F> 17.058 21.350 380 

�<<4 4.100 2.600 125 

%D54^4 7>4<L^4 

6D54=>EF 
12.240 12.680 249 

&455?4 5D. 8:  �D>\ 54>F5D<\4 G >4=4?E>>\ 6>4< 

 

�>D54 D5>4?=<E >F?44=<E 6>44, G >>DG65^G E5 75=5D<LG < F5E=>?>L>5 >F?44=5 6>45, 

?>E55=> 7=4G4\=5 74 >GG64^5 >64?<F5F4 6>45 G ?>74\<<LF<<4 <4F5D<\4?4 74 <77D44^G 4GF>-

?GF4, EF<< 44 E5 >4D4>F5D<EF<>5 >6<E >F?44=<E 6>44, >4> < >>?<G<=5, <>7G ?D>F5=<F< F5> G 

>>6<DG %FG4<\4 ?D>F5=5 GF<F4\4 =4 6<6>F=G ED54<=G. �4> >?LF4 <5D4 74LF<F5, >444 EG 

F5E=>?>L>5 >F?44=5 6>45 G ?<F4^G, E5 74EF564 ?D54FD5F<4= <EF<E, 4> =<6>4 >>\< E5 74EF564 

74 G?GLF4^5 G D5>4?=G >4=4?<74F<\G >>\4 ?>E54G\5 ?>EFD>\5^5 74 FD5F<4= (����). 

����$�%��� �&���� 

' 75<]4<4 G >>\<<4 G?D46]4^5 >F?44>< =<\5 D57G?<E4=> =4 445>64F4= =4G<=, >F?44 

?D54EF46]4 \544= >4 =465_<E 7474V<64G4 ED54<=5. �5>7 F>74 E6< F>>>6< >F?444 =4 ?D>EF>DG 

>>\< \5 >5GE64_5= �������->< <>D4\G 44 5G4G >>=FD>?<E4=<, F4>> 44 E5 >>=F4<<=4F<\4 

6474GE4, 75<]<LF4 < 6>45 E6545 =4 <<=<<G<. 

' 7>=< 4GF>-?GF4 E5 75=5D<L5 >><G=4?=<, >><5DF<\4?=< < <=4GEFD<\E>< >F?44, >>\< <>65 

5<F< =5>?4E4=, >?4E4= < <=5DF4=. 

�<4\G_< G 6<4G 44 E5 6DEF5 < >>?<G<=5 >F?444 =5 <>7G ?D>F5=<F< =4 >6>< =<6>G ??4=E>5 

4>>G<5=F4F<\5, E4EF46=< 45> >6>7 �765LF4\4 EG <5D5 74LF<F5 G?D46]4^4 >F?44><, G<\< \5 

F<] E6>V5^5 =574F<6=<E GF<F4\4 G 7D4=<F5 ?D<E64F]<6>EF<. &> E5 ?>E55=> >4=>E< =4 F>>>65 

>?4E=>7 >F?444, >>\< <>D4\G 5<F< <45=F<D<>>64=< >D>7 %FG4<\5 ?D>F5=5 GF<F4\4 =4 6<6>F=G 

ED54<=G < ?>E55=5 �?4=>65 G?D46]4^4 >F?44><, =4 >>\5 \5 >546574= E64>< 75=5D4F>D >>\< 

EF64D4 6<L5 >4 200 kg/7>4. >?4E=>7 >F?444, >4=>E=> 6<L5 >4 100 t/7>4. =5>?4E=>7 >F?444. 

�>E55=> \5 7=4G4\=> 44 5G4G_4 ?>74\<<LF4 < >4?474?<LF4 =5<E>>D<L_5=>7 <4F5D<\4?4 

F>>>< <77D44^5 4GF>-?GF4 =5 ?>EF4=G <5EF4 =5>>=FD>?<E4=>7 >4?474^4 >F?444, >4=>E=> 

D>D<<D4^4 E<5F?<LF4. 
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III/3 ��'�� �� ���� %' �$� �$�&��� '&�&��� ' ����$ '��&� '����&� ����&�� 

 %$����� 

' >>6<DG F4G>5 I/3. (�4D4>F5D<EF<>5 6<6>F=5 ED54<=5 G >5?4EF<<4 74 >>\5 ?>EF>\< <>7G_=>EF 

44 5G4G <7?>65=5 7=4G4\=>< GF<F4\G), EG D47<4FD4=< >E=>6=< G<=<>F< 6<6>F=5 ED54<=5 >4 

7=4G4\4 74 ?D54<5F=> ?>4DGG\5. 

�4\65_< 5D>\ G<=<?4F4, G>]GGG\G_< 6474GE, 6>4G < 75<]<LF5, >4> < ?>\46G 5G>5, 4?< < 5<]=< 

< 6<6>F<^E>< E65F, EG 5<F=< 5?5<5=F< >>\< GF<GG =4 >4D6464^5 EF45<?=>EF< 5>>E<EF5<4, 

557 >57<D4 44 ?< EG G ?<F4^G 4=FD>?>75=> <7<5^5=< <?< ?D<D>4=<. &< 5<F=< 5?5<5=F< <>7G 

FD?5F< 4<D5>F=5 < <=4<D5>F=5 GF<F4\5, 4?< G E?GG4\G >>=F4<<=4F<\5 <?< ?D><5=5 EF4^4 < 

E4<< <>7G ?>EF4F< <76>D< 7474V5^4. �4> <76>D< >=< =<EG <EF>7 EF5?5=4 7=4G4\=>EF<, \5D E5 

>D>7 >4D5V5=5 EG?EFD4F5 6DL< G7?46=>< FD4=E<<E<\4 7474V5^4, 4 E4<< =5 FD?5 FD4\=5 

?D><5=5. &> E5 ?D5 E6574 >4=>E< =4 6474GE. �>45 EG 7=4G4\4= FD4=E<<F5D ?>?GF4=4F4, 4?< < 

E4<5 FD?5 ?D><5=5 >>\5, G >>=>D5F=>< E?GG4\G, <<4\G D565D7<5<?=< >4D4>F5D. %<FG4F<\4 E4 

75<]<LF5< \5 =4\E?>65=<\4, F4>> 44 =574F<6=< GF<F4\< <>7G 4>65EF< < 4> <D565D7<5<?=<E 

?D><5=4, <?< 4564EF4F<\5 FD4\=>7 >4D4>F5D4. 

�<4\G_< =46545=> G 6<4G, 4GF>D< EG ?D>F5^<64?< GF<F4\5 >4>> 5< 45D<=<E4?< <5D5 

G?D46]4^4 D<7<F<<4 >>\< E5 <>7G >G5><64F<. �D< F><5, D<7<F< E4 <>7G_<< 65?<><< 

?>E?54<F4<4 EG <7557=GF< ??4=<D4^5< 7D44^5 >5\5>4F4 G<\< GF<F4\, G7 ?D<<5=G 

>47>64D4\G_<E <5D4 74LF<F5, E5 <>65 ?D<E64F<F<. ' >57<D \5 G75F4 < G<^5=<F4 >>\4 \5 

E4EF46=< 45> E64>5 ?D>F5=5, 4 >4=>E< E5 =4 <=4<D5>F=5 55=5D<F5 ?> 6<6>F=G ED54<=G 

(E>F<\4?=5 < 5>>=><E>5), >>\< E5 <>7G >G5><64F< D54?<74F<\>< �������-4. �6< 4E?5>F< EG 

=574>5<?47=<, ?>E55=> >444 E5 <<4 G 6<4G <>7G_=>EF 44 65?<>< 5D>\ ]G4< <>65 <<4F< 

>>D<EF<, F4>> LF> >D>7 \4G4^5 4DGLF64 G F5?<=<, \4G4\G >4?4F<F5F< < E65EF G >5?4EF< 74LF<F5 

6<6>F=5 ED54<=5. 

 

�$�&��� '&�&��� �� ����&�' %$����' 

��� �$����� �����$���% ��$� ��,&�&� ����&�� %$����� 

�45=F<D<>4F<\4 

<76>D4 
�<<E<\4 

&D4=ED>D<4F<\4 

/E5<<74< 

?>?GF4=4F4 

�D5>F< 

(?>E?54<F5) 

�77D44^4, 

5>E??>4F4F<\4, 

74F64D4^5 

45=<65?<E4=<E 

D4E>DE=<F4 

- ?>?GF4=4F4 

4F<>ED5D5, 

- ?>?GF4=4F4 

?>6DL<=E><E < 

?>475<=<E 6>44, 

- ?>?GF4=4F4 

75<]<LF4 < 

- 5<<E<\4 5G>5. 

- 5<>E5<<\E>< 

F<>?GE 47>F4, 

- EF64D4^5 �3 G 

=<6<< E?>\56<<4 

4F<>ED5D5, 

- 74><E5]464^5 

ED54<=5 ?>4 

GF<F4\5< S�2, 

- <<7D4F<\4 

D4EF6>D<6<E 

\54<^5^4 F5L><E 

<5F4?4 < 4D.  

- =4 74D46]5 

]G4<, ?>E55=> 

6G?=5D45<?=5 

?>?G?4F<\5, 

- =4 5<]=< < 

6<6>F<^E>< 

E65F, 

- =4 >5\5>F5. 
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�$�&��� '&�&��� �� ����&�' %$����' 

��� �$����� �����$���% ��$� ��,&�&� ����&�� %$����� 

�45=F<D<>4F<\4 

<76>D4 
�<<E<\4 

&D4=ED>D<4F<\4 

/E5<<74< 

?>?GF4=4F4 

�D5>F< 

(?>E?54<F5) 

�7>EF4\4^5 

E<4D>F5E=<G>>7 < 

?5\746=>7 GD5V5^4 

E4 D5>G?F<64F<\>< 

?>74\<<LF4 

?5E>>6<F>-

L]G=>>6<F>7 

<4F5D<\4?4 74 

<77D44^G 4GF>-?GF4, 

G>]GGG\G_< < 

>>>?=< ?D>EF>D 

- ?>?GF4=4F4 

?>6DL<=E>GE < 

?>475<=<7 6>44, 

- ?>?GF4=4F4 

75<]<LF4, 

- <4F5D<\4 >>\5 

=574F<6=> GF<GG 

=4 6<65 

>D74=<7<5. 

- 5<>E5<<\E>< 

F<>?GE 47>F4, 

- EF64D4^5 �3 G 

=<6<< E?>\56<<4 

4F<>ED5D5, 

- 74><E5]464^5 

ED54<=5 ?>4 

GF<F4\5< S�2, 

- <<7D4F<\4 

D4EF6>D<6<E 

\54<^5^4 F5L><E 

<5F4?4 < 4D. 

- =4 4>64F<G=5 

5>>E<EF5<5, 

- 5<>4<65D7<F5F, 

- 74D46]5 ]G4<. 

�7>EF4\4^5 

E<4D>F5E=<G>>7 < 

?5\746=>7 GD5V5^4 

E4 D5>G?F<64F<\>< 

>4?474?<LF4 

<4F5D<\4?4 

74>EF4?>7 F>>>< 

<77D44^5 4GF>-?GF4, 

G>]GGG\G_< < 

>>>?=< ?D>EF>D 

- ?>?GF4=4F4 

6474GE4, 

- ?>?GF4=4F4 

75<]<LF4 < 

?>475<=<E 6>44 

< 

- <4F5D<\4 >>\5 

=574F<6=> GF<GG 

=4 >>?=5=5 

5>>E<EF5<5. 

- 5<>E5<<\E>< 

F<>?GE 47>F4, 

- EF64D4^5 �3 G 

=<6<< E?>\56<<4 

4F<>ED5D5, 

- 74><E5]464^5 

ED54<=5 ?>4 

GF<F4\5< S�2, 

- <<7D4F<\4 

D4EF6>D<6<E 

\54<^5^4 F5L><E 

<5F4?4 < 4D. 

- =4 >>?=5=5 

5>>E<EF5<5, 

- 5<>4<65D7<F5F, 

- 74D46]5 ]G4<, 

- 6<7G5?=> 

7474V5^5. 

�D<>47 5D. 4:  �D>F5=4 GF<F4\4 =4 6<6>F=G ED54<=G 557 ?D<<5=5 ??4=<D4=<E <5D4 74LF<F5 

6<6>F=5 ED54<=5 
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III/4 ��'�� �� ���� %' �$� �$�&��� '&�&��� ' ����$ '��&� ��$��&�$�%&��� 

 '&�&��� 

�4>> \5 65_ D5G5=>, ?D<<5^5=4 \5 <4FD<F4 6D54=>64^4 G >>6<DG ISO 14001/2004(E). 

�D54=>64^5 GF<F4\4 E5 D44< G >4=>EG =4 <76>D5 7474V5^4 6<6>F=5 ED54<=5, G7 ?D<<5=G 

??4=<D4=<E <5D4 74LF<F5. 

�D54=>64^5 GF<F4\4 (E>F<\4?=>-4DGLF65=< < 5>>=><E>< 4E?5>F<) 

�D<F5D<\G<< 
� F 5 = 4 

0 1 2 3 

�4>>=< < 

?D>?<E< (R1) 

�<\5 ?D>?<E4= 

74>>=>< 

�D54=>EF 

GF<F4\4 =<>444 

=5 ?D5?47< 

?D>?<E4=5 

7D4=<F5 

�D54=>EF GF<F4\4 

?>6D5<5=> 

?D5?47< 

?D>?<E4=5 

7D4=<F5 

�D54=>EF GF<F4\4 

G5EF> ?D5?47< 

?D>?<E4=5 

7D4=<F5 

�4EF56< 

>?<\5=4F4 (R2) 
�5<4 74EF564 �4?< GF<F4\ �ED54^< GF<F4\ �=4G4\4= GF<F4\ 

�4EF56< 

74<=F5D5E>64=<E 

EFD4=4 (R3) 

�E?5>F =<\5 

G>]GG5= G 

?>?<F<>G 

�E?5>F =<\5 

G>]GG5= D44< 

=47=4>5 

EFD4F57<\5 

�E?5>F 

?D54EF46]4 

?<=<\G 6>4<]G, 

<?< EF4=44D4 

G?D46]4^4 

�E?5>F \5 

G>]GG5= E4 

?>7=4F<< D>>>< 

74 GE47?4L464^5 

%<4^5^5 

FD>L>>64 (R4) 
�5<4 GF<F4\4 �4?< GF<F4\ �ED54^< GF<F4\ �=4G4\4= GF<F4\ 

 

�D54=>64^5 GF<F4\4 (<4FD<F4 GF<F4\4 =4 6<6>F=G ED54<=G) 

�D<F5D<\G<< 
� F 5 = 4 

0 1 2 3 

�5<< GF<F4\4 

(R5) 

�5<4 GF<F4\4 =4 

>>>?<=G 

'F<F4\ =4 

?>6DL<=G >>\G 

74G7<<4 ?>7>= 3 

>><??5>E 

'F<F4\ <764= 

>><??5>E4 

�?LF<=E><, 

D57<>=4?=< < 

L<D< =<6> 

�4G<=4 GF<F4\4 

(R6) 
�57=4F4= GF<F4\ 

�4^< >4 

?D>?<E4=>7 

$5F>> <7=44 

4>76>]5=>7 

'5EF> <7=44 

4>76>]5=>7 

�5D>64F=>_4 

?>\465 GF<F4\4 

(R7) 

ó 10 % 10-40% 40-70% þ 70% 

&D4\4^5 GF<F4\4 

(R8) 
ó 0,5 E 4=56=> 0,5 3 2 E 4=56=> 2 3 4 E 4=56=> þ 4 E 4=56=> 

 

�4FD<F4 3 $4=7<D4^5 GF<F4\4 

R = (R1+R2+R3+R4) + 2 (R5+R6+R7+R8) 



 

52 

%6< GF<F4\< E5 45?5 G G5F<D< >?4E5: 

�4F57>D<\4 GF<F4\4 '>G?=4 >F5=4 �?4E4 

�5<4 GF<F4\4 0 3 9 I 

�4?< GF<F4\ 10 3 19 II 

%D54^< GF<F4\ 20 3 28 III 

�5?<>< GF<F4\ > 28 IV 

 

�765LF4\ > 6D54=>64^G 3 D4=7<D4^G GF<F4\4 

 
�76>D< 7474V5^4 

�F5=4 GF<F4\4 (R) 
�?4E4 

1 2 3 4 5 6 7 8 R 

1 

%<4D>F5E=<G>> < ?5\746=> 

GD5V5^5 E4 D5>G?F<64F<\>< 

?>74\<<LF4 ?5E>>6<F>-

L]G=>>6<F>7 <4F5D<\4?4 74 

<77D44^G 4GF>-?GF4, 

G>]GGG\G_< < >>>?=< 

?D>EF>D 

2 1 2 1 1 1 1 1 14 II 

2 

%<4D>F5E=<G>> < ?5\746=> 

GD5V5^5 E4 D5>G?F<64F<\>< 

>4?474?<LF4 <4F5D<\4?4 

74>EF4?>7 F>>>< <77D44^5 

4GF>-?GF4, G>]GGG\G_< < 

>>>?=< ?D>EF>D 

2 1 2 1 1 1 1 1 14 II 

3 
�77D44^4 < 5>E??>4F4F<\4 

45=<65?<E4=<E D4E>DE=<F4 
2 1 1 1 2 2 1 3 21 III 

 

'F<F4\ >5\5>4F4 < 4>F<6=>EF< ?>4 5D. 1 < 2 \5 >7=4G5= >4> ><4?<=, 4>> \5 GF<F4\ >5\5>4F4 < 

4>F<6=>EF< 5D. 3 >F5^5= >4> >ED54^<=. �46545=< GF<F4\< E5 <>7G >7=4G<F< >4> 

>?D<E64F]<6<=. 

 

�G<G?4F<6=<, ?>E55=> E<=5D7<EF<G>< GF<F4\< EG F4>>V5 G75F< G >57<D. ' GD54=<< 

(65LF4G><<) 5>>E<EF5<<<4 <5D<?> E<=5D7<7<4 < >G<G?4F<6=>EF \5 >4=>E < >><5<=4F<\4 

7D4=<G=<E <?< ��� 6D54=>EF<, ?D< G5<G E5 G >57<D G7<<4 ?>\464 E45<D4^4 <?< ?>\4G464^4 

GF<F4\4 ?>\54<=<E ?>?GF4=4F4 G >><5<=4F<\<. &<] \5 44 >>=F5=F4F<\5 ?>\54<=<E ?>?GF4=4F4 

<?< ^<E>6<E <5L46<=4 (<<>E 5D5>F<), G >><5<=4F<\< =5 ?D5?475 7D4=<G=5 6D54=>EF<, 44 

74\54=> =5 <747<64\G 65_< 5D5>4F >4 >=>7 >>\< E5 <>65 ?D<E64F<F< 74 E64>G ?>\54<=4G=G 

<4F5D<\G < 44 E5 =5 >G<G?<D4\G G 6<6>F=>\ ED54<=< < >D74=<7<G 4> =<6>4 >444 <>7G 

45?>64F< LF5F=>. 

' ?D<D>4=<< 5>>E<EF5<<<4, >E=>6=< ?>>474F5] >G<G?4F<6=>EF< < E<=5D7<7<4 \5 ?>=4L4^5 

E<EF5<4 G F5?<=< < ^57>64 <>_ 44 >?EF4=5 ?>4 <7<5^5=<< GE?>6<<4, >4=>E=> 44 ?>EF>\5 

4>F<6=< 4GF>D57G?4F<>=< ?D>F5E<. �4>>= ?D54?>65=>7 E<4D>F5E=<G>>7 GD5V5^4 E4 

GD5V5^5< < D5>G?F<64F<\>< ??4=<D4=<E ?>74\<<LF4 < >4?474?<LF4, >G5>G\5 E5 44 _5 

??4=<D4=<< <5D4<4 74LF<F5 5<F< >55755V5=< GE?>6< 74 >GG64^5 5<>4<65D7<F5F4 G 7>=< 

?>4 GF<F4\5< 4GF>-?GF4 < >?EF4=4> 5>>E<EF5<4, >>\< _5 <>_< 44 >><G=<F<D4\G ?D5>> 

DG=>F<>=4?=<E >>D<4>D4. 
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III/5 ���% ��$� �� %�$�'����� � ��$���'����� ����&����%, ����%�� 

 '������ ����&����% '&�&��� �� ����&�' %$����' 

�5D5 74 E?D5G464^5 < >7D4=<G464^5 =574F<6=<E GF<F4\4 < G=4?D5V5^4 6<6>F=5 ED54<=5 EG 

?D><74L?5 <7 4=4?<75 EF4^4 6<6>F=5 ED54<=5, ?D>F5E4 6D54=>64^4 64D<\4=F=<E D5L5^4 < 

?D>F5=5 GF<F4\4 <45=F<D<>>64=<E <76>D4 7474V5^4. �D< F><5 EG 4GF>D< %FD4F5L>5 ?D>F5=5 

?>E55=> <<4?< G 6<4G <5D5 74LF<F5 D5?564=F=5 74 ?D54<5F=> ?>4DGG\5, 45D<=<E4=5 

?>EF>\5_<< ?D>?<E<<4 < 4DG7<< 4>>G<5=F<<4 $5?G5?<>5 %D5<\5 < ?>>4?=<E E4<>G?D464, 

>4> < GE?>65 >>\< EG 4>5<\5=< >4 =44?56=<E >D74=4 < >D74=<74F<\4. % >57<D>< 44 E64>< 

<45=F<D<>>64=< <76>D 7474V5^4 <<4 ?>F5=F<\4? 44 G7D>7< 6<6>F=G ED54<=G < 74D46]5 

]G4<, G>>?<>> =5?>ED54=> >>DG65^5 4GF>-?GF4 =5 5G45 5><?<D4=> =5>?E>4=<< 

<=DD4EFDG>FGD=<< >5\5>F<<4 < <=EF4?4F<\4<4, <5D4<4 EG ?>E55=> >5GE64_5=5 < =5>?E>4=5 

4>F<6=>EF< =4 >55755V<64^G E<7<\5=E>5 <E?D46=5 6>45 < <77D44^< E<EF5<4 74 E4>G?]4^5, 

>46>V5^5 < FD5F<4= >F?44=<E 6>44 < G?D46]4^4 >F?44><. 

 

III/5.1 ��$� ��$���%��� ��%&������ �$���%��� 

�5D4V<64G< �������-4 EG G >54657< 44 <E?>LFG\G E65 <5D5 45D<=<E4=5 ?>EF>\5_<< 

?D>?<E<<4, ?>E55=> >=5 >>\< GD5VG\G >5?4EF< 74LF<F5 6<6>F=5 ED54<=5 < 74D46]4 ]G4<, 

G>]GGG\G_<: 

 

�4>>= > 74LF<F< 6<6>F=5 ED54<=5 (>%?. 7?4E=<> $%=, 5D. 135/04, 36/09, 36/09-4D.74>>=, 

72/09-4D.74>>=, 43/11->4?G>4 '%, 14/16, 76/18 < 95/18-4D.74>>=), G >><5 G >>6<DG 7=4G5^4 

<7D474 EF>\< G G?.5.: 

>' >EF64D<64^G E<EF5<4 74LF<F5 6<6>F=5 ED54<=5 $5?G5?<>4 %D5<\4, 4GF>=><=4 ?>>D4\<=4, 

\54<=<F4 ?>>4?=5 E4<>G?D465, ?D46=4 < D<7<G>4 ?<F4 >47>6>D=4 EG 74 E64>G 4>F<6=>EF >>\>< 

<5^4\G <?< <>7G ?D><5=<F< EF4^5 < GE?>65 G 6<6>F=>\ ED54<=<, >4=>E=> 74 =5?D54G7<<4^5 

<5D4 74LF<F5 6<6>F=5 ED54<=5, G E>?44G E4 74>>=><. 

�D46=4 < D<7<G>4 ?<F4 4G6=4 EG 44 G >546]4^G E6>\<E 45?4F=>EF< >5575545: D4F<>=4?=> 

>>D<L_5^5 ?D<D>4=<E 5>74FEF464; GD4GG=464^5 FD>L>>64 74LF<F5 6<6>F=5 ED54<=5 G 

>>6<DG <=65EF<F<>=<E < ?D><76>4=<E FD>L>>64, ?D<<5=G ?D>?<E4, >4=>E=> ?D54G7<<4^5 

<5D4 74LF<F5 6<6>F=5 ED54<=5, G E>?44G E4 74>>=><=. 

 

�4>>= > 6>44<4 (>%?. 7?4E=<> $%=, 5D. 30/10, 93/12, 101/16, 95/18 < 95/18-4D.74>>=), G >><5 

6>45 < 6>4=< ?GF56<, >4> < 4>5D4 >4 >?LF57 <=F5D5E4, ?>4?56G ?>E55=>\ 74LF<F< < <>7G E5 

>>D<EF<F< ?>4 GE?>6<<4 ?D546<V5=<< G?. 74>>=a. ' F>< E<<E?G, 74>>= 4>76>]464 

>>D<L_5^5 ?>??46=<E D46=<F4 D5G=>7 E<EF5<4 G7<<4\G_< G >57<D 7?46=5 D4>F>D5 44F5 G 

=4EF46>G; 

- 557 <747<64^4 LF5F=>7 GF<F4\4 =4 6>45=< >54?=< 5>>E<EF5<; 

- 557 GF<F4\4 =4 ?>EF>\5_< >64?<F5F < >>?<G<=G ?>475<=<E 6>44; 

- <77D44^4 6>4=<E >5\5>4F4 < ?>EF46]4^5 GD5V4\4 74 D57G?4F<\G 6>4>F>>4; 

- >GG64^5 D5G=<E F>>>64 < 6>4=<E >5\5>4F4; 

- E?D>6>V5^5 <5D4 74LF<F5 6>44 < 

- E?D>6>V5^5 74LF<F5 >4 >>=F4<<=4F<\5. 
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�4>>= > 74LF<F< ?D<D>45 (>%?. 7?4E=<> $%=, 5D. 36/09, 88/10, 91/10-<E?D., 14/16, 95/18-

4D.74>>= < 71/21), G >><5 G G?4=G 2. EF>\< 44 E5 74>>=>< >EF64DG\G E?545_< F<]56<: 

1) 74LF<F4, >GG64^5 < G=4?D5V5^5 5<>?>L>5 (75=5F<G>5, E?5F<\E>5 < 5>>E<EF5<E>5), 

75>?>L>5 < ?D545>=5 D47=>6DE=>EF<; 

2) GE>?4V<64^5 ]G4E><E 4>F<6=>EF<, 5>>=><E><E < 4DGLF65=<E D476>\=<E ??4=>64, 

?D>7D4<4, >E=>64 < ?D>\5>4F4 E4 >4D6<6<< >>D<L_5^5< >5=>6]<6<E < =5>5=>6]<6<E 

?D<D>4=<E D5EGDE4 < 4G7>D>G=<< >GG64^5< ?D<D>4=<E 5>>E<EF5<4 < ?D<D>4=5 

D46=>F565; 

3) >4D6<6> >>D<L_5^5 </<?< G?D46]4^5 ?D<D>4=<< D5EGDE<<4 < 4>5D<<4, >55755V<64^5 

^<E>65 DG=>F<\5 G7 >GG64^5 ?D<D>4=<E 6D54=>EF< < D46=>F565 ?D<D>4=<E 5>>E<EF5<4; 

4) 5?47>6D5<5=> E?D5G464^5 ]G4E><E 4>F<6=>EF< < 45?4F=>EF< >>\5 <>7G 4>65EF< 4> FD4\=>7 

>E<D><4L5^4 5<>?>L>5, 75>?>L>5 < ?D545>=5 D47=>6DE=>EF<, >4> < ?>D5<5_4\4 E4 

=574F<6=<< ?>E?54<F4<4 G ?D<D>4<; 

5) GF6DV<64^5 < ?D4_5^5 EF4^4 G ?D<D>4<; 

6) G=4?D5V5^5 EF4^4 =4DGL5=<E 45?>64 ?D<D>45 < ?D545?4. 

 

�4>>= > \46=>< 74D46]G (>%?. 7?4E=<> $%=, 5D. 15/16), <7<5VG >EF4?>7, GD5VG\5 ?D><>F<\G 

74D46]4 < ?D565=F<\G 5>?5EF< G >>6<DG G?4=4 8 (�<6>F=4 ED54<=4 < 74D46]5 

EF4=>6=<LF64), EF>\< 44 E?D>6>V5^5 \46=>7 74D46]4 >5GE64F4 <: 

- 4464^5 <<L]5^4 > 4>>G<5=F<<4 ?D>EF>D=>7 < GD54=<EF<G>>7 ??4=<D4^4, G>]GGG\G_< < 

F5E=<G>G 4>>G<5=F4F<\G, G E<<E?G 74>>=4 >>\<< E5 GD5VG\5 ??4=<D4^5 < <77D44^4 G 45?G 

>>\< E5 >4=>E< =4 74D46]5 EF4=>6=<LF64, 

- ?D>F5=G D<7<>4 ?> 74D46]5 EF4=>6=<LF64 =4 >E=>6G D57<EFD4 <76>D4 (>4F4EFD4) 

7474V<64^4, 

- ?D4_5^5 < 4=4?<7G 74D46EF65=>7 EF4^4 EF4=>6=<LF64 < ?D>F5=G D<7<>4 ?> 74D46]5 G 

657< E4 GF<F4\<<4 <7 6<6>F=5 ED54<=5, G>]GGG\G_< < ?D>F5=G 5?<45<<>?>L>5 E<FG4F<\5. 

 

�4>>= > 6474GL=>< E4>5D4_4\G (>%?G655=< 7?4E=<> $%=, 5D. 73/10, 57/11, 93/12, 45/15, 

66/15-4D.74>>=, 83/18, 9/20 < 62/23) G >><5 EF>\< 44 \5 >4D5455 >6>7 �4>>=4 ?>FD5=> 

?>LF>64F< ?D<?<>>< ??4=<D4^4 < <77D44^5 >5\5>4F4 G 7>=< ?D>EF>D=5 74LF<F5 >>> 

45D>4D><4. 

 

III/5.2 ��$� ��&� ' ����$' '%���� ��������% �$���� � �$������&��� 

 (<76>4 <7 'E?>64) 

�<=<EF4DEF6> ?>]>?D<6D545, LG<4DEF64 < 6>4>?D<6D545: 

>�D<?<>>< <7D445 =46545=>7 ??4=4 ?>FD55=> \5 ?>LF>64F< >4D5455 �4>>=4 > 

?>]>?D<6D54=>< 75<]<LFG, < >>\< E5 >4=>E< =4 74LF<FG, GD5V5^5 < >>D<L_5^5 

?>]>?D<6D54=>7 75<]<LF4 74 75<]<LF5 >>\5 _5 G 7D4=<F4<4 �?4=4 ?> 6DEF4<4 < =4<5=< 

>EF4F< ?>]>?D<6D54=> 75<]<LF5=. 

�<=<EF4DEF6> ?>]>?D<6D545, LG<4DEF64 < 6>4>?D<6D545 

$5?G5?<G>4 4<D5>F<\4 74 6>45: 

>�4D5VG\G E5 F5E=<G>< < 4DG7< 74EF56< >>\< <>D4\G 44 E5 <E?G=5 G ?>EFG?>G ?D<?D5<5 < 

<7D445 �7<5=4 < 4>?G=4 �D>EF>D=>7 ??4=4 ?>4DGG\4 ?>E55=5 =4<5=5 <=DD4EFDG>FGD=>7 

>>D<4>D4 4GF>?GF4 �-761, 45>=<F5 �>\4F5 3 �D5]<=4, 4DG74 D474......=. 
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�<=<EF4DEF6> 74LF<F5 6<6>F=5 ED54<=5 

�45]5^5 74 74LF<FG >4 G45E4: 

>�4 >E=>6G 4>EFG?=<E ?>44F4>4, >>\5 EG >6>< >D74=G 4>EF46<?< >?5D4F5D< E565E> 

?>EFD>\5^4/>><??5>E4, >5465LF464<> �4E 44 \5 <>7G_5 5D5>F5 65?<>>7 E5<<\E>>7 G45E4 =4 

?D54?>65=G FD4EG 4GF>?GF4 �-761, 45>=<F4 �>\4F5 3 �D5]<=4, =>D<4?=> >46<\4^5 

E4>5D4_4\4, F5 6<6>F < 74D46]5 ]G4< >>\< E5 G FD5=GF>G G45E4 =4?475 =4 F>\ FD4E<, <>65 

<<4F< E?545_5 E565E> ?>EFD>\5^5/>><??5>E >=<657 D544=: >$45D<>4 74 ?D><76>4^G 

EG=V5D4=; �>^56<_4 55, '4G4>; �?5D4F5D >�4?5>E=, 4.>.>. �>^56<_<=. 

>%F5=4D<> <>7G_57 G45E4 =4 ?>>4F<\< $45D<>5 74 ?D><76>4^G EG=V5D4 G �>^56<_<<4 

?>4D47G<564 D>D<<D4^5 F>>E<G=>7 >5?4>4 ?D< ?>64DG <474F<=4 7>F>6<E ?D><76>44 >>\< 

<>65 E44D64F< D47?<G<F5 ?D>4G>F5 E47>D564^4, =4D>G<F> G GE?>6<<4 >7D4=<G5=>7 4>EFG?4 

6474GE4, ?D< G5<G <>7G =4EF4F< ?D>4G>F< >4> LF> EG G7]5=-<>=>>E<4 (CO), G4V < F<\4=>-

6>4>=<> (HCN). % >57<D>< 44 E5 D44< > >><??5>EG =<657 D544, 74 7>=G G7D>65=G 5D5>F<<4 

=46545=>7 G45E4, G7<<4 E5 7>=4 >4 1.000 m >4 ?>>4F<\5 G45E4, ?D< G5<G FD554 <<4F< G 6<4G 

44 ?D>EF<D4^5 ?><5=GF>7 F>>E<G=>7 >5?4>4 746<E< >4 \4G<=5 4G64^4 65FD4 G FD5=GF>G 

45L464^4 G45E4=. 

�� %D5<\4LG<5 

�D< ??4=<D4^G =4<5=4 ?>6DL<=4 =4 �?4=E>>< ?>4DGG\G F>>>< ^<E>6>7 >>D<L_5^4, 

GD5V5^4 < 74LF<F5, <>D4\G E5 G75F< G >57<D < ?>LF>64F< >4D5455 �4>>=4 > LG<4<4, 

>4=>E=> �?4=>< FD554 ?D546<45F< =4<5=5 F4>> 44 E5 >GG64\G LG<5 < LG<E>> 75<]<LF5, 

>4> 4>5D> >4 >?LF57 <=F5D5E4, >4> < �D46<?=<>4 > E?5F<\4?=<< F5E=<G>>-F5E=>?>L><< 

D5L5^<<4 >>\4 ><>7G_464\G =5E<5F4=G < E<7GD=G >><G=<>4F<\G 4<6]<E 6<6>F<^4. 

$5?G5?<G>< 746>4 74 74LF<FG E?><5=<>4 >G?FGD5 

>' E>?44G E4 �4>>=>< > >G?FGD=<< 4>5D<<4, E4EF46=< 45> >G?FGD=>7 4>5D4 \5 < ^57>64 

74LF<_5=4 >>>?<=4, >>\4, G ?>7?54G ?D54G7<<4^4 <5D4 74LF<F5 < 4DG7<E <=F5D65=F<\4, <<4 

<EF< FD5F<4= >4> < 74LF<_5=> >G?FGD=> 4>5D>=. 

' 4>?<EG E5 =46>45 =5?>>D5F=4 >G?FGD=4 4>5D4 G >5GE64FG �������-4 < GF6DVG\G GE?>6< 

GG64^4, >4D6464^4 < <5D5 74LF<F5 >G?FGD=<E 4>54D4. 

$5?G5?<G>< E5<7<>?>L>< 746>4 

�5D4V<64GG �������-4 EG 4>EF46]5=< GE?>6< < ?>44F< <7 =44?56=>EF< $%�-4. 

�46>4 74 74LF<FG ?D<D>45 %D5<\5 

�4LF<_5=4 ?D<D>4=4 4>5D4 G >5GE64FG �������-4: 

%?5F<\4?=< D575D64F ?D<D>45 >�ED544>=, ?D<D>4=> 4>5D> II (4DG75) >4F57>D<\5, E4 

?D>?<E4=<< D56<<>< 74LF<F5 4DG7>7 < FD5_57 EF5?5=4 < 

%?><5=<> ?D<D>45 >%F45?> ED4EF4 ?G6^4>4 �D4=5L<=, ?D<D>4=> 4>5D> III (FD5_5) 

>4F57>D<\5. 

�D4=<F5 �������-4 >5GE64F4\G 5>>?>L>< 7=4G4\=> ?>4DGG\5 >�ED544>=, 5>>?>L>5 <D565 

$%, >4> < ?>F5=F<\4?=> ?>4DGG\5 NATURA 2000 pSCls >�G6=4 �5?<>4 �>D464=, ?>F5=F<\4?=> 

?>4DGG\5 NATURA 2000 pSCls >�4?44=4 �>D464= < ?>F5=F<\4?=> ?>4DGG\5 NATURA 2000 pSPAs 

>�>D^5 �><>D46]5=. 
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III/5.3 �%&��� ��$� ��,&�&� ����&�� %$����� 

�5D5 74LF<F5 6474GE4 

1. ' F>>G <77D44^5 D4E>DE=<F4 < E<4D>F5E=<G>>7 GD5V5^4 ?>74\<<LF4 < >4?474?<LF4, 

4>F<6=>EF< =4 D44<?<LFG >D74=<7>64F< F4>> 44 E5 E6545 =4 <<=<<G< ?D474= E>4 < 

=5?>FD55=4 D>DE<D4^4 <4L<=4 < >?D5<5. 

2. �4 D44<?<LFG 4=746>64F< <E?D46=G < 4F5EF<D4=G >?D5<G, <4L<=5 < FD4=E?>DF=4 

ED54EF64, F4>> 44 5<<E<\4 ?>?GF4=4F4 4D<>ED5D5 =5 ?D5?47< 7D4=<G=5 6D54=>EF<. 

3. ' 4><5=G G?D46]4^4 E4>5D4_4\5< ?D54G75F< <5D5 >>\5 _5 E65EF< 5<<E<\G <74G6=<E 

74E>64 =4 <<=<<G<. 

4. %4 75<]4=<E ?>6DL<=4 =4 >><??5>EG D44<?<LF4, ?D<6D5<5=<E E4>5D4_4\=<F4 < 

?D<6D5<5=<E >4?474?<LF4 D4EGF<E <4F5D<\4?4 E?D5G<F< ?D5>><5=G 5<<E<\G G5EF<G=>7 

7474V5^4 >64L5^5< ?>6DL<=4. 

5. $44>65 =4 GD5V5^G < D5>G?F<64F<\< >4?474?<LF4 >D74=<7>64F< D47=>, >4>> 5< E5 

E?D5G<?4 5<<E<\4 G5EF<G=>7 7474V5^4 <EF>6D5<5=> E4 G<F465 ?>6DL<=5 >>\4 E5 GD5VG\5. 

6. �4 74LF<FG >>>?<=5 >4 >4<<>=4 >>\< FD4=E?>DFG\G D4EGF< <4F5D<\4? ?D<<5=<F<: 

?>>D<64G5 D44< E?D5G464^4 D4E<?4^4, >64L5^5 <4F5D<\4?4 ?> ?>FD55<, ?D46<?=> 

?G^5^5 >4<<>=4, >>D<L_5^5 ?D<6D5<5=<E 54D<\5D4 < 4464^5 6>74G<<4 ?>FD55=<E 

G?GFEF464. 

7. �>4<_< 74LF<F=< 75?5=< ?>\4E ?>D54 D4E>DE=<F4 < G >>>?<=< ?>74\<<LF4 < >4?474?<LF4 

<4F5D<\4?4. 

8. �77D44<F<  4>6>]4= 5D>\ EF4=<F4 74 5-6>7<?4. 

�5D5 74LF<F5 6>44 

9. ' F>>G <76>V5^4 ?D<?D5<=<E D44>64 < D44>64 =4 <77D44^< ??4=<D4=<E E44D64\4 

?D<<5^<64F< E65 ?D565=F<6=5 <5D5 74LF<F5, >4>> =5 5< 4>L?> 4> G7D>6464^4 6<6>F=5 

ED54<=5, ?>E55=> >>=F4<<=4F<\5 ?>6DL<=E><E < ?>475<=<E 6>44. '>>?<>> 4>V5 4> 

F4>6>7 G7D>6464^4, <76>V4G D44>64 \5 G >54657< 44 E?D5G< L<D5^5 7474V5^4 < 

?D54G7<5 E<F=5 <5D5 E4=4F<\5. 

10. &>>>< <77D44^5 45=<65?<E4=<E E4>5D4_4\=<F4 < ^<E>65 5>E??>4F4F<\5, >4> < GD5V5^4 

?>74\<<LF4 < >4?474?<LF4, E6< ?D<6D5<5=< < FD4\=< GD5V4\<, <4L<=5 < 5?5>FD>o?D5<4 

>>\4 E44D6< G]=5 <4F5D<\5 <>D4 44 5G4G 74LF<_5=4 >4 4>F<45=F4?=>7 FGD5^4. 

11. ' ?D<>54]G �.�>D465 < ^5=<E ?D<F>>4, >4> < G 7>=< GD5V5=<E < D5>G?F<6<E4=<E 

?>74\<<LF4 < >4?474?<LF4, =4\EFD>6<\5 745D4=<F< 45?>=>64^5 5<?> >4>6>7 >F?444 < 

<E?GLF4^5 >F?44=<E 6>44. 

12. &D4=ED>D<4F>D< =5 E<5\G E44D6464F< ?>?<E?>D>64=5 5<D5=<?5, >4=>E=> PCB G]4. 

13. �4 <5EF<<4 745 E5 75=5D<LG >F?44=5 6>45: >>=F4<<=<D4=5 ><L=5 6>45 (E4 

E4>5D4_4\=<F4, <4=<?G?4F<6=<E ?>6DL<=4 < EF4\4?<LF4), < D5>4?=5 >F?44=5 6>45 

<77D44<F< E<EF5<5 74 E4>G?]4^5, >46>V5^5 < FD5F<4= <EF<E. 

14. &D5F<D4=5 >F?44=5 6>45 ?D5 G?GLF4^4 G D5F<?<\5=F (�.�>D46G <?< ?D<F>>5), <>D4 

>64?<F5F>< 44 >47>64D4\G II >?4E< D5G=<E 6>44 < 'D545< > 7D4=<G=<< 6D54=>EF<<4 

5<<E<\5 7474VG\G_<E <4F5D<\4 G 6>45 < D>>>6<<4 74 ^<E>6> 4>EF<74^5 (>%?G655=< 

7?4E=<> $%=, 5D. 67/2011, 48/2012 < 1/2016). �?4=<D4F< G7D44^G >47>64D4\G_<E 

?D<>]GG4>4 < 4D<4FGD5 74 G7>D>>64^5 =5?D5G<L_5=5/?D5G<L_5=5 >F?44=5 6>45, 

>4=>E=> >546]4^5 >>=F<=G4?=>7 < 4<E>>=F<=G4?=>7 ?D4_5^4 >64?<F5F4 6>45 =4 

G?47G/<7?47G <7 GD5V4\4 74 ?D5G<L_464^5. 
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15. �?4=<D4F< < ?D54G7<<4F< E65 =5>?E>4=5 <5D5 G ?D<>54]G �.�>D465 < ?D<F>>4, >4>> 5< 

?>6DL<=E>5 6>45 >47>64D4?5 74EF564=>\ >?4E< >64?<F5F4. 

16. &5E=>?>L>5 >F?44=5 6>45 E5 <>D4\G G?GLF4F< G D5>4?=G >4=4?<74F<\G ?>E?5 

?D54FD5F<4=4, F4>> 44 >64?<F5F>< >47>64D4\G GE?>6<<4 >>\5 74EF564 ?D54G75_5 >>\5 

7474G\5 >4=4?<74F<>=<< E<EF5<>< < ����-><. 

17. �4 ?D>EF>D<<4 745 =5 ?>EF>\5 <>7G_=>EF< ?D<>]GG5^4 =4 F5=FD4?=5 >4=4?<74F<>=5 

E<EF5<5, <>7G E5 74 E4>G?]4^5 D5>4?=<E >F?44=<E 6>44 7D44<F< ?D<6D5<5=< >5\5>F< 

>4> LF> EG =5?D>?GE=5 \4<5, >>\5 >54657=> FD554 44 ?D47=5 =44?56=4 ?D54G75_4, >>\4 _5 

>F?44=G 6>4G FD4=E?>DF>64F< =4 ����. 

18. �D< <7D44< ??4=E>5 < F5E=<G>5 4>>G<5=F4F<\5 6>4<F< D4GG=4 > ?>EF>\5_<< 6>4=<< 

>5\5>F<<4 =4 =4G<= >>\< _5 >557554<F< EF45<?=>EF 6>4>E=454564^4 < 74LF<FG D56<<4 

?>475<=<E 6>44. 

19. �?4=<D4=5 4>F<6=>EF< < >5\5>F< =5 E<5\G =574F<6=> 44 GF<GG =4 ?>EF>\5_4 <76>D<LF4 

6>4>E=454564^4, >4=>E=> =4 <744L=>EF <76>D<LF4, >64?<F5F 74E64_5=<E 6>44 < =4 

74D46EF65=G <E?D46=>EF 6>45, G 7>=< =5?>ED54=5, G65 < L<D5 7>=5 74LF<F5, G E>?44G E4 

�D46<?=<>>< > >4D5V<64^G < >4D6464^G 7>=4 E4=<F4D=5 74LF<F5 <76>D<LF4 

6>4>E=454564^4 (>%?. 7?4E=<> $%=, 5D. 92/08). 

20. �?4=<D4F< G6>V5^5 >>=FD>?5 4<EFD<5GF<\5 < >>D<L_5^4 D5DF<?<74F4 < ED54EF464 74 

74LF<FG 5<]4 =4 ?>]>?D<6D54=<< ?>6DL<=4<4 >>\4 EG G 7>=< G7<F4\4 �.�>D465 < 

?D<F>>4. 

21. ' ?D4F5_<< >5\5>F<<4 =4 45=<65?<E4=<< D4E>DE=<F4<4 (=4??4F=<< D4<?4<4, 

>>=FD>?=<< ?G=>F>6<<4 < E?.), 7D5\4^5 FD554 44 5G45 =4 5?5>FD<G=G 5=5D7<\G, 4<D5F=> 

<?< ?D5>> F>??>F=<E ?G<?<. 

�5D5 74LF<F5 75<]<LF4 

22. �������->< E65EF< =4 =4\<4^G <5DG >>D<L_5^5 >64?<F5F=>7 75<]<LF4 74 

=5?>]>?D<6D54=5 =4<5=5. 

23. �?4=<D4F< E4=4F<\G < D5>G?F<64F<\G E6<E ?D>EF>D4 >>\< FD5=GF=> 74G7<<4\G 4<6]5 

45?>=<\5 G ?D<>54]G �.�>D465 < ?D<F>>4. 

24. �4 ?D>EF>D G 7>=< GF<F4\4 4GF>-?GF4 < G >>>?<=< ?>74\<<LF4 < >4?474?<LF4 74>EF4?>7 

<4F5D<\4?4 >4 <77D44^5 4GF>-?GF4, GD44<F< �?4= >75?5^464^4, G F<]G ?>5>]L4^4 

<<>D>>?<<4FE><E, E4=<F4D=>-E<7<\5=E><E < 4<5<\5=F4?=<E GE?>64. 

25. �D<?<>>< D>D<<D4^4 =>6<E 75?5=<E ?>6DL<=4, 74E444, 4D6>D544, 74LF<F=>7 < 

45>>D4F<6=>7 75?5=<?4, ?D65=EF65=> >>D<EF<F< 4GF>EF>=5 6DEF5, >>\5 EG >F?>D=5 =4 

=574F<6=5 GE?>65 6<6>F=5 ED54<=5 < >>\5 EG ?D<?47>V5=5 ?>>4?=<< >?<<4FE><< 

GE?>6<<4. 

26. �5D5 D4=<\5 =46545=5 74 74LF<FG 6>44 G F>>G <77D44^5 ??4=<D4=<E E44D64\4 E5 

?D<<5^G\G < 74 74LF<FG 75<]<LF4. 

27. '?D46]4^5 G6DEF<< >F?44>< >D74=<7>64F< G E>?44G E4 �4>>=>< > G?D46]4^G >F?44>< 

(>%?. 7?4E=<> $%=, 5D. 36/09 < 14/16): 

- G F>>G <76>V5^4 D44>64 =4 <77D44^< ??4=<D4=<E E44D64\4 <76>V4G D44>64 \5 G 

>54657< 44 7D4V56<=E>< < >EF4?< >F?44=< <4F5D<\4?, >>\< =4EF4=5 G F>>G <77D44^5 

E4>G?<, D476DEF4 < ?D<6D5<5=> E>?44<LF<, =4 >47>64D4\G_<< >46>\5=<< <5EF<<4 

?D546<V5=<< 74 >6G =4<5=G, <E>]GG<6> G >>6<DG 7D44<?<LF4, 4> ?D544\5 ?<FG >>\5 

<<4 4>76>?G 74 G?D46]4^5 >6>< 6DEF>< >F?444 (FD4=E?>DF, E>?44<LF5^5, ?>=>6=> 

<E>>D<L_5^5, >4?474^5 >F?444); 
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- 75=5D4F>D >F?444 \5 G >54657< 44 E?D>6545 ?>EFG?>5 74 E<4^5^5 >>?<G<=5 >F?444 74 

>4?474^5, >4=>E=> >464\4 >F?44 G<\5 E5 <E>>D<L_5^5 <>65 6DL<F< G >>6<DG 

7D44<?<LF4 <?< G ?>EFD>\5^<<4 74 G?D46]4^5 >F?44>< < 

- 75=5D4F>D >F?444 \5 G >54657< 44 ?D<?<>>< E>?44<LF5^4 =4EF4?>7 >F?444 ?D<<5=< 

<5D5 74LF<F5 >4 ?>64D4 < 5>E??>7<\4. 

28. �4 ?D>EF>DG >5GE64_5=>< �������-4 =<\5 4>76>]5=4 <77D44^4: 

- ?D><76>4=<E < 4DG7<E >5\5>4F4 < E>?44<LF=<E ?D>EF>D4 >>\< <>7G <<4F< =574F<64= 

GF<F4\ =4 6<6>F=G ED54<=G, 

- <77D44^4 G?>\=<E 5G=4D4 74 >46>V5^5 >F?44=<E 6>44, 

- <77D44^G >5\5>4F4 </<?< ?4D><=7 ?>6DL<=4 =4 GD5V5=<< 75?5=<< ?>6DL<=4<4. 

29. '>>?<>> E5 ?D<?<>>< <76>V5^4 75<]4=<E D44>64 =4<V5 =4 4DE5>?>L>5 >EF4F>5, 

<76>V4G D44>64 \5 4G64= 44 >4<4E, 557 >4?474^4, ?D5><=5 D44>65 < >5465EF< =44?56=< 

�46>4 74 74LF<FG E?><5=<>4 >G?FGD5 < 44 ?D54G7<5 <5D5 44 E5 =4?47 =5 G=<LF< < =5 

>LF5F< < 44 E5 E4GG64 =4 <5EFG < ?>?>64\G G >><5 \5 >F>D<65= (G?. 109 �4>>=4 > 

>G?FGD=<< 4>5D<<4). 

�5D5 74LF<F5 >4 5G>5 

30. �7D4=<G<F< 5G>G >>\G 5<<FG\G <4L<=5, >?D5<4 < GD5V4\< G F>>G <76>V5^4 D44>64 =4 

<77D44^< ??4=<D4=<E E44D64\4 >>D<L_5^5< <4L<=4, >?D5<5 < GD5V4\4 >>\5 =5 5<<FG\G 

5G>G <7=44 4>76>]5=<E 7D4=<F4. 

31. �?4=<D4F< ?D<<5=G >F<E>7= >>?>6>7=>7 74EF>D4 ?D<?<>>< <77D44^5 4GF>-?GF4 < 

45=<65?<E4=<E D4E>DE=<F4 (G7D44^G E?5F<\4?=<E 6DEF4 6<L5E?>\=>7 4ED4?F4 >>\< <>65 

D54G>>64F< 5G>G >>\4 =4EF4\5 G <=F5D4>F<\< ?=5G<4F<>-?>4?>74). 

32. �G>4 =4 7D4=<F< �������-4 =5 E<5 44 ?D5V5 7D4=<G=5 6D54=>EF< G 7>=< E4 >>\>< E5 

7D4=<G< (>%?.7?4E=<> $%=, 5D. 75/2010). 

33. �4 >E=>6G >F5=5 > >G5><64=>< =<6>G 5G>5 =4 <5EF<<4 745 >=4 ?D5?47< 7D4=<G=5 

6D54=>EF<, ??4=<D4F< <5D5 74LF<F5 >4 5G>5. 

34. �4 EF4<55=5 >5\5>F5 >>\< E5 =4?475 =5?>ED54=> ?>D54 4GF>-?GF4 ??4=<D4F< 74LF<FG >4 

6<5D4F<\4. 

�5D5 74LF<F5 5<>4<65D7<F5F4 < 5>>E<EF5<4 

35. �?4=<D4F< >GG64^5 7DG?4 EF454?4, ?>\54<=4G=4 EF45?4, 6<6<F5, <5V5, >>L4=<F5 < 

FD46=5 ?>6DL<=5, >4> < 4DG7<E 5>>E<EF5<4 E4 >GG64=>< <?< 45?<<<G=> <7<5^5=>< 

4D65=4EF><, 65G=4EF>< <?< ?<644E>>< 6575F4F<\><. 

36. �D>EF>D5 <E?>4 <>EF>6=<E >>=EFDG>F<\4 < 45=<65?<E4=<E D4E>DE=<F4 ??4=<D4F< G 

DG=>F<\< 5>>?>L><E ?D5?474 74 6<6>F<^5, ?D5<4 �D46<?=<>G > E?5F<\4?=<< F5E=<G>>-

F5E=>?>L><< D5L5^<<4 >>\4 ><>7G_464\G =5E<5F4=G < E<7GD=G >><G=<>4F<\G 4<6]<E 

6<6>F<^4 (>%?. 7?4E=<> $%=, 5D. 72/10). 

37. ' F<]G >GG64^4 ?D<D>4=5 D>D<5 �.�>D465 E4 6D54=<< EF4=<LF<<4 G ?D<>54]G, >4> < 

DG=>F<>=4?=>EF< >EF4?<E D5G=<E 5>>?>L><E >>D<4>D4, =4 =4\<4^G <5DG E65EF< ?>FD555 

4D5=<D4^4 F5D5=4 <?< <E?D46]4^5 <54=44D4 �. �>D465 < >EF4?<E 6>4>F>>4 4G6 FD4E5 < 

G >5GE64FG �������-4. 

38. $57G?4F<\G D5G=>7 >>D<F4 �.�>D465 < ?D<F>>4 ??4=<D4F< G E>?44G E4 5<>F5E=<G><< 

<5D4<4 74LF<F5. 

39. ' F<]G >GG64^4 < 74LF<F5 5<>4<65D7<F5F4 < 5>>E<EF5<4, ??4=<D4F< GD5V5^5 < 

D5>G?F<64F<\G ?>74\<<LF4 <4F5D<\4?4 < >4?474?<LF4 <4F5D<\4?4 74>EF4?>7 >4 <77D44^5 

4GF>-?GF4. 
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40. �?4=>< ?D>?<E4F< 44 G>>?<>> E5 F>>>< D44>64 =4<V5 =4 75>?>L>>-?4?5>=F>?>L>4 

4>>G<5=F4 <?< <<=5D4?>L>>-?5FD>?>L>5 >5\5>F5, 74 >>\5 E5 ?D5F?>EF46]4 44 <<4\G 

E6>\EF6> ?D<D>4=>7 4>5D4, <76>V4G D44>64 \5 4G64= 44 G D>>G >4 >E4< 44=4 >5465EF< 

<<=<EF4DEF6> =44?56=> 74 ?>E?>65 74LF<F5 6<6>F=5 ED54<=5, >4> < 44 ?D54G7<5 E65 

<5D5 74LF<F5 >4 G=<LF5^4, >LF5_5^4 <?< >D4V5, 4> 4>?4E>4 >6?4L_5=>7 ?<F4. 

�5D5 E<4D>F5E=<G>>7 GD5V5^4 < D5>G?F<64F<\5 ?>74\<<LF4 < >4?474?<LF41 

41. �5D5 E<4D>F5E=<G>>7 GD5V5^5 ?>74\<<LF4 ?>4D47G<564\G ?>FD55G 45D<=<E4^4 

>D<F5D<\G<4 >>\<<4 E5 4=4?<7<D4\G <=F5DD54>F<\5 ?>74\<<LF4 E4 E<4F>F5E=<G><< 

GD5V5^5< �.�>D465 G F>>G D54?<74F<\5 ??4=<D4=<E >5\5>4F4. 

42. �5D5 ?>4D47G<564\G >4D5V<64^5 >D<F5D<\G<4 74 D>D<<D4^5 74LF<F=5 7>=5 <7<5VG 

?>74\<<LF4 < 4GF>-?GF4, D57G?4F<>=<E >5\5>4F4, ?>EF>\5_57 < EF4D>7 >>D<F4 �.�>D465. 

43. �5D5 >5GE64F4\G >4D5V<64^5 >D<F5D<\G<4 74 ?>657<64^5 4>64F>D<\4 ?>74\<<LF4 < 

EF4D>7 >>D<F4 D5>5 (<54=4D4). 

44. �5D5 E<4D>F5E=<G>>7 GD5V5^4 >4?474?<LF4 G ??46=<< 7>=4<4 E5 547<D4\G =4 

D5L5^<<4 >>\4 ?D546<V4\G =5GFD4?=> GD5V5^5 ?D>EF>D4, ?D65=EF65=> =4 F5E=<>4<4 

EG<GE<D4^4, 74FD?464^4 < ?>LG<]464^4. 

45. �5D5 ?>4D47G<564\G >4D5V<64^5 <>7G_5 =4<5=5 ?>74\<<LF4, 745 E5 ?>E55=> <=E<EF<D4 

=4 >GG64^G 4>64F<G=>7 5<>4<65D7<F5F4, G7 <>7G_=>EF G6>V5^4 < 4DG7<E =4<5=4: FGD<74< 

< D5>D54F<\4, 6>4>E=454564^5, 74LF<F4 >4 ?>??464, ??GF4\G_5 E>?4D=5 5?5>FD4=5, 

74\5^5 FDE>5, G77>\ D<55 < 4D. 

46. �5D5 ?>4D47G<564\G >4D5V<64^5 <>7G_5 =4<5=5 >4?474?<LF4 >4> LF> \5 

?>]>?D<6D54=> 75<]<LF5, LG<E>> 75<]<LF5 <?< 7D4V56<=E>> 75<]<LF5. 

47. �5D5 >>\5 45D<=<LG >D<F5D<\G<5 74 <75>D 5<]=>7 <4F5D<\4?4: 5EF5FE><, D<7<G><, 

6<7G5?=< < D<7<G>< >4> ?D5?D5>4, D44< ><>7G_464^4 F<D>G?4F<\5 < >D5F4^4 < 

5>>?>L>< >4> EF4=<LF5 < <76>D ED4=5 74 4<6]5 6<6>F<^5. 

�5D5 74LF<F5 >4 G45E4 

48. �>FD55=> \5 G �������-4 \4E=> =47=4G<F< E565E> ?>EFD>\5^5 ($45D<>G 74 ?D><76>4^G 

EG=V5D4 G �>^56<_<<4, '4G4>), >4=>E=> >><??5>E, G7 G7D>65=G 7>=G <>7G_<< E5<<\E><< 

G45E<<4, 

49. �>FD55=> \5 ?D546<45F< F5E=<G>>-F5E=>?>L>5 < >D74=<74F<>=5 <5D5 ?>F?G=5 >5GEF465 

E4>5D4_4\4 G E?GG4\G E5<<\E>>7 G45E4 =4 >><??5>EG G �>^56<_<<4, =4 D4744]<=< >4 

1000m >4 ?>>4F<\5 >><??5>E4. 

50. �>FD5=> \5 G E4D44^< E4 ?>>4?=<< >D74=<<4 %5>F>D4 74 64=D54=5 E<FG4F<\5 �'�-4 $% 

?D546<45F< < <5D5 564>G4F<\5 >>D<E=<>4 4GF>-?GF4 <7 7>=4 G7D>65=<< 5D5>F<<4 

E5<<\E>>7 G45E4. 

 

 

 

 

 
1 �5=5D4?=< ?D>\5>4F �GF>-?GF4 �-761, >�4D>E?46 '5D=<=, �5>7D44, 2023. 
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IV %��$��&� �� ���� %���$�$%��%�� ����� 

 

�D54<5F=5 �������-4, >4> < %FD4F5L>4 EFG4<\4 <>D4\G 44 >5575545 4>6>]=> 5?5<5=4F4 74 

<7D44G F5E=<G>5 4>>G<5=F4F<\5 (�45\=<E ?D>\5>4F4 < �D>\5>F4 74 7D4V56<=E>G 4>76>?G), 4 E4 

4E?5>F4 74LF<F5 6<6>F=5 ED54<=5. 

% >57<D>< 44 _5 E5 74 ?>\54<=5 >5\5>F5 < 4>F<6=>EF< =4 ?>E<4FD4=>< ?D>EF>DG D44<F< 

%FG4<\5 ?D>F5=5 GF<F4\4 =4 6<6>F=G ED54<=G, 7444F4> >6>7 4>>G<5=F4 \5 44 >557554< 

>E=>6=5 ?>44F>5 < 45D<=<L5 >?LF5 GE?>65 74LF<F5, >>\< _5 5<F< D47<4FD4=< G >>6<DG E64>5 

%FG4<\5 GF<F4\4 ?>E55=>. 

�>EFG?4> ?D>F5=5 GF<F4\4, <7<5VG >EF4?>7 >5GE64F4 D47G: 

- >4?GG<64^4 > ?>FD55< ?D>F5=5 GF<F4\4 < 

- >4D5V<64^5 >5<<4 < E44D64\4 EFG4<\5. 

 

%44D64\ %FG4<\5 \5 >4D5V5= $5L5^5< > >5<<G < E44D64\G < ?D>?<E<<4 >>\< D57G?<LG >6G 

<4F5D<\G, E F<< 44 E4<4 %FG4<\4 ?D54EF46]4 >D<F<G>G 4=4?<7G >=>74 LF> \5 44F> G F5E=<G>>\ 

4>>G<5=F4F<\< (�45\=>< ?D>\5>FG), 4 E4 4E?5>F4 74LF<F5 6<6>F=5 ED54<=5. 

�5D4V<64G< %FG4<\5 ?D>F5=5 GF<F4\4 =4 6<6>F=G ED54<=G <>D4\G ?>E55=> 44 >5D445 

?>7?46]4 >>\4 E5 >4=>E5 =4: 

- >?<E ?D>\5>F4; 

- ?D<>47 EF4^4 6<6>F=5 ED54<=5 =4 ?>>4F<\< < 5?<6>\ >>>?<=<, G7 ?>FD55G 4>44F=<E 

<E?<F<64^4 < <EFD46<64^4 G >>6<DG ?D5FE>4=<E D44>64 =4 <7D44< F5E=<G>5 

4>>G<5=F4F<\5; 

- >?<E <>7G_<E 7=4G4\=<E GF<F4\4 =4 6<6>F=G ED54<=G, ?>E55=> =4 5>>E<EF5<5, >>\< EG 

74EFG?]5=< =4 ?>E<4FD4=>< ?>4DGG\G, 4?< < =4 ?>\54<=5 EG?EFD4F5 ED54<=5 >>\< EG 

>7=4G5=< >4> ?>E55=> >E5F]<6<; 

- ?D>F5=G GF<F4\4 G F>>G <77D44^5 < G 4>F<45=F4?=<< E<FG4F<\4<4; 

- 45F4]4= >?<E <5D4 74LF<F5 >4>> >=<E >>\5 EG ??4=<D4=5 < ?D>\5>F>64=5 F5E=<G>>< 

4>>G<5=F4F<\><, F4>> < >=5 >>\<<4 FD554 4>D44<F< < 4>?G=<F< FG 4>>G<5=F4F<\G < 

- ?D>7D4< ?D4_5^4 GF<F4\4 =4 6<6>F=G ED54<=G. 

 

'>>?<>> E5, G E>?44G E4 �<EF>< >?4E=<E <4F5D<\4 < ^<E>6<< 7D4=<G=<< 6D54=>EF<<4 < 

?<EF>< >4F57>D<\4 >?4E=<E <4F5D<\4 < ^<E>6<E 7D4=<G=<E >>?<G<=4 ?D>F5=< 44 ?>EF>\< 

>?4E=>EF >4 E5<<\E>>7 G45E4 G =5>>< >4 <45=F<D<>>64=<E ?>EFD>\5^4/>><??5>E4, ?>EFG?4 

E5 G E>?44G E4 >4D5454<4 �D46<?=<>4 > E44D6<=< �>?<F<>5 ?D565=F<\5 G45E4 < E44D6<=< < 

<5F>4>?>7<\< <7D445 �765LF4\4 > 557554=>EF< < �?4=4 74LF<F5 >4 G45E4 (>%?. 7?4E=<> $%=, 

5D. 41/10). 
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V �$��$�� �$����� %&��� ����&�� %$����� 

 

�?<E F<]564 �������-4 (>?LF<E < ?>E55=<E) \5 44F G >>6<DG F4G>5 >>\4 >?<EG\5 F<]565 

%FD4F5L>5 ?D>F5=5 GF<F4\4. &<]56< ??4=4 < F<]56< %FD4F5L>5 EG, E4 4E?5>F4 74LF<F5 < 

G=4?D5V5^4 6<6>F=5 ED54<=5, GE>?4V5=<. 

V/1 ������&�$� �� �$����� %&��� ����&�� %$����� 

�75>D <=4<>4F>D4 547<D4= \5 =4 ?>44F<<4 4>5<\5=<< <45=F<D<>4F<\>< ?>EF>\5_<E < 

5G4G_<E <76>D4 7474V<64^4 G 7D4=<F4<4 �������-a < =5?>ED54=>< >>DG65^G, < 4=4?<7>< 

EF5G5=<E < EF6>D5=<E GE?>64 6<6>F=5 ED54<=5. 

1. �=4<>4F>D< ?D<F<E>4 

�. �=4<>4F>D< ?D<F<E>4 6474GE4 G 4<5<\5=F4?=>< 6474GEG 

- BTX, HxCy, HCHO, %�, NOx, PM2,5 < 10 < F5L>< < F>>E<G=< <5F4?< 

- F4?>6=5 <4F5D<\5 

�. �=4<>4F>D< 5<<E<\5 >F?44=<E 6>44 

�4D4<5FD< D5>4?=<E >F?44=<E < ?>F5=F<\4?=> >>=F4<<=<D4=<E 4F<>ED5DE><E 6>44 

G 6>4>F>F<<4 < 4>G<G?4F<\4<4 

----------------------------------------------------------------------------------------------------------------------------------------- 

$<7<G>>-E5<<\E>< ?4D4<5FD< �<>D>5<>?>L>< ?4D4<5FD< 

----------------------------------------------------------------------------------------------------------------------------------------- 

- pH 6D54=>EF - G>G?4= 5D>\ 54>F5D<\4 

- 5?5>FD>?D>6>4]<6>EF - >>?<D>D<=5 54>F5D<\5 D5>4?=>7 ?>D5>?4 

- EG6< >EF4F4>  

- <4EF< < G]4  

- EGE?5=4>64=5 <4F5D<\5  

- %�K  

- ��K5  

- 45F5D_5=F<  

- 4<>=<\G< \>=  

- =<FD<F< < =<FD4F<  

----------------------------------------------------------------------------------------------------------------------------------------- 

�. �=4<>4F>D< ?D<F<E>4 =4 75<]<LF5 

- ?5EF<F<4< 

- F5L>< <5F4?< (Pb, Ni, Cd, Cr) < As,  

- G7]>6>4>=<F< (C10-40)  

- NPK VG5D<64, \54<^5^4 4<>=<\4>4 < =<FD4F< 

�. �=4<>4F>D< ?D<F<E>4 ?>D5>?>< >4 >F?444 

- >>?<G<=4 >F?444, 

- >>?<G<=4 >F?444 >>\4 E5 E5?5>F<>=<L5, 

- >>?<G<=4 D5F<>?45<?=>7 >F?444, 

- >>?<G<=5 < >4D4>F5D >?4E=>7 >F?444. 

�. �=4<>4F>D< 5G>5 

- =<6> 5G>5 ?>D54 5<<F5D4 (Leq(A)) < =4 7D4=<F< E4 7>=>< EF4=>64^4. 
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2. �=4<>4F>D< 5>E?>7<F<\5 

�6< <=4<>4F>D< FD554 44 5G4G 45D<=<E4=< G >>6<DG 4=4?<75 >=G?F>7 EF4^4= 6<6>F=5 

ED54<=5, >4> < 74 ?>FD555 <7D445 ?>\54<=4G=<E %FG4<\4 GF<F4\4 =4 6<6>F=G ED54<=G. 

�>E?>7<F<\4 \5 <=4G5 >4D5V5=4 EF4^5< 5?5<5=4F4 6<6>F=5 ED54<=5, >4=>E=> 

>>=F5=FD4F<\>< 7474VG\G_<E <4F5D<\4 E4 >>\<<4 4>?47<<> G >>=F4>F. �4 GD54=5 5>>E<EF5<5 

F> EF4^5 E5 G?>D5VG\5 E4 7D4=<G=<< 6D54=>EF<<4, G7<<4\G_< G >57<D <<>E.,>G<G?4F<6=5 < 

E<=5D7<EF<G>5 5D5>F5. 

 

3. �=4<>4F>D< 5D5>4F4 

�64 7DG?4 <=4<>4F>D4 \5 ?>6574=4 E4 ?>E55=<< F<]56<<4 ??4=4 < ?D<>474=4 \5 G &455?< 

5D.3. 

 

 

V/2 �$��� � ������� ��������% �$���� 

�Da6a < >5a6575 D5?G5?<G><E >D7a=a, >D74=4 ?>>a?=5 E4<>G?D465 G 7D44>6<<4 < >?LF<=4<4, 

G 4><5=G ?D4_5^4 EF4^4 6<6>F=5 ED54<=5 GD5V5=4 EG 5D>\=<< ?D>?<E<<4, ?>E55=> 

�4>>=>< > ?D>F5=< GF<F4\4 =4 6<6>F=G ED54<=G (>%?. 7?4E=<> $%=, 5D. 135/04 < 36/09), 

�a>>=>< > 7aLF<F< 6<6>F=5 ED54<=5 (>%?. 7?4E=<> $%=, 5D. 135/04, 36/09, 36/09-4D.74>>=, 

72/09-4D.74>>=, 43/11->4?G>4 '%, 14/16, 76/18 < 95/18-4D.74>>=), �a>o=>< o G?D46]4^G 

>F?44>< (>%?. 7?4E=<> $%=, 5D. 36/09, 88/10, 14/16, 95/18-4D.74>>= < 35/23), �4>>=>< > 

74LF<F< ?D<D>45 (>%?. 7?4E=<> $%=, 5D. 36/09, 88/10, 91/10-<E?D., 14/16, 95/18-4D.74>>= < 

71/21), �4>>=>< > 74LF<F< 6474GE4 (>%?. 7?4E=<> $%=, 5D. 36/09, 10/13 < 26/21-4D.74>>=), 

�4>>=>< > 74LF<F< >4 5G>5 G 6<6>F=>\ ED54<=< (>%?. 7?4E=<> $%=, 5D. 96/21) < �4>>=>< > 

6>44<4 (>%?. 7?4E=<> $%=, 5D. 30/10, 93/12, 101/16, 95/18 < 95/18-4D.74>>=). 

�a6545=< �a>>=<, 4?< < 4DG7< ?D>?<E< 45D<=<LG >5a6575, =5 E4<> >D74=5 G?D465, 65_ < 

>=<E EG5\5>4F4 >>\< ?>F5=F<\4?=> <>7G 44 G7D>75 6<6>F=G ED54<=G, 44 ?D4F5 EF4^5 6<6>F=5 

ED54<=5, ?>E55=> <=4<>4F>D5 ?D<F<E>4, >4>> 5< E5 <>7?5 ?D54G75F< >47>64D4\G_5 <5D5 G 

4><5=G 74LF<F5. 

�>E55=> FD554 =465EF< >546575 �75=F<\5 74 74LF<FG 6<6>F=5 ED54<=5 $% < >6?4L_5=<E < 

4>D54<F>64=<E GEFa=>6a >>\5 E5 5a65 >>=FD>?>< >6a?<F5Fa 6<6>F=5 ED54<=5. 

 

 

V/3 ��%&'���� ' %�''��' ������ ���'�������% ����&����% '&�&��� 

�4 ?D>EF>DG >5GE64_5=>< �������-4 =5 >G5>G\G E5 7=4G4\=< =574F<6=< GF<F4\< G D54>6=<< 

GE?>6<<4. �>\464 7=4G4\=<\<E =574F<6=<E GF<F4\4 =4 =5?>ED54=> >>DG65^5 <>65 =4EF4F< G 

64=D54=<< E?GG4\56<<4, EF<< 44 \5 65D>64F=>_4 ?>\465 >6<E 4>74V4\4 <4?4. �7 >65 

>>=EF4F4F<\5 FD554 <746>\<F< ?>??46=5 F4?4E5 �.�>D465. 

�>7G_< 64=D54=< 4>74V4\<: 

- 75<]>FD5E <4>E<<4?=>7 <=F5=7<F5F4 74 >6> ?>4DGG\5, 

- ?>??465 

- ?>64D< < 

- E5<<\E>< G45E< =4 E565E> ?>EFD>\5^G. 
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�5D>64F=>_4 =4EF4=>4 =5?D546<V5=>7 4>74V4\4, G7 ?D>F5=G <>7G_<E ?>E?54<F4, >4D5VG\5 

=<6> =5>?E>4=<E ?D565=F<6=<E <5D4, ?>E55=> 7D4V56<=E>>-F5E=<G><E < >D74=<74F<>=<E. 

' E?GG4\G 75<]>FD5E4 <4>E<<4?=>7 <=F5=7<F5F4 74 >6> ?>4DGG\5, <>65 4>_< 4> >LF5_5^4 

>5\5>4F4, G>]GGG\G_< < >5\5>F5 <=DD4EFDG>FGD5, >>\5 <>65 D57G?F<D4F< G7D>6464^5< 

6<6>F=5 ED54<=5 < 74D46]4 ]G4<. 

�<E>>< 6>4>EF4\< �.�>D465 < 5G\<G=5 ?>??465 EG G5EF4 ?>\464, >>\< ?>6D5<5=> >LF5_G\G 

7D4V56<=E>5 >5\5>F5, ?>E55=> <>EF>65 < =4=>E5 7=4G4\=G LF5FG ?>]>?D<6D54=>\ 

?D><76>4^<. 

�>64D< E5 <>7G >G5><64F< G <=4GEF<\E><< < EF4<55=<< >5\5>F<<4, 4?< < =4 

?>]>?D<6D54=<< ?>6DL<=4<4 ?D<?<>>< ?4]5^4 E5F65=<E >EF4F4>4. �5D5 74LF<F5 >4 

?>64D4 FD554 ?>E55=> ?46]<6> < 45F4]=> ??4=<D4F<, 4 ?D< GD5V5^G ?D>EF>D4 \5 ?>FD55=> 

6>4<F< D4GG=4 > <>7G_=>EF< ?D<EFG?4 64FD>74E=<E 5><?4, F\. ?>EF>\4^G < >4D6464^G 

?D>F<6?>64D=<E ?GF564, >4> < >55755V5^G 4>6>]=<E >>?<G<=4 6>45, E?>]^>\ < 

G=GFD4L^>\ E<4D4=FE>>\ <D56<, 6DEF< < D4E?>D54G ?D<DGG=<E < EF45<?=<E 4?4D4F4 < 

E<EF5<4 74 74L5^5 ?>64D4, =4G<=G E<7=4?<74F<\5 < >5465LF464^4 G E?GG4\G ?>64D4, ?<G=<< 

74LF<F=<< ED54EF6<<4 < E?. 

�4E=> \5 44 E5 ?D<D>4=5 >4F4EFD>D5 =5 <>7G ?D546<45F<, 4?< E5 ?D>\5>FG\G ?D565=F<6=5 <5D5 

=4 >E=>6G <>7G_<E =5?>6>]=<E EF5=4D<\4, ?D< G5<G FD554 <<4F< G 6<4G E?545_5: 

- E5<7<<G=>EF F?4, 

- EF45<?=>EF F?4, 

- 75>F5E=<G>5 >4D4>F5D<EF<>5 F?4, 

- <5D>446=5 ?4446<=5 6<L5 45F5=<\E>>7 ?>6D4F=>7 ?5D<>44 < 

- GE?>65 ?D>F<6?>64D=5 74LF<F5. 

'45E< 6574=< 74 E565E> ?>EFD>\5^4 =5 E?444\G G 7DG?G ?D<D>4=<E >4F4EFD>D4, 4?< ?> 

?>E?54<F4<4 <>7G 5<F< 65><4 7=4G4\=5. �5>7 F>74 \5 G >6>< �765LF4\G 45F4]=<\5 44F 

?D54?>7 ?>FD55=<E <5D4 74LF<F5. 

�5D5 ?D565=F<\5 =4EF4=>4 < E4=4F<\5 ?>E?54<F4 <>D4\G E5 ?46]<6> 4=4?<7<D4F< < 

D54?<7>64F< G E6<< D474<4 ??4=<D4^4, ?D>\5>F>64^4 < <77D44^5 >5\5>4F4, LF> \5 F4>>V5 

\544= >4 7444F4>4 < %FG4<\5 ?D>F5=5 GF<F4\4 =4 6<6>F=G ED54<=G. 
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VI �$���� ��'��� ���''����� 

 

�4G<= >4?GG<64^4 > �765LF4\G > EFD4F5L>>\ ?D>F5=< GF<F4\4 =4 6<6>F=G ED54<=G < 

D54>E?54 4>F<6=>EF< 45D<=<E4= \5 �4>>=>< > EFD4F5L>>\ ?D>F5=< GF<F4\4 =4 6<6>F=G 

ED54<=G (>%?. 7?4E=<> $%=, 5D. 135/2004 < 88/2010). 

'G5L_5 74<=F5D5E>64=<E >D74=4 < >D74=<74F<\4, >>\< <>7G 44 44\G E6>\5 <<L]5^5 > 

�765LF4\G > EFD4F5L>>\ ?D>F5=< GF<F4\4 =4 6<6>F=G ED54<=G G D>>G >4 30 44=4,  45D<=<E4=> 

\5 G?4=>< 18, =46545=>7 �4>>=4. �D74= =44?564= 74 ?D<?D5<G �������-4 >55755VG\5 

GG5L_5 \46=>EF< G D47<4FD4^G �765LF4\4 > EFD4F5L>>\ ?D>F5=< (G?4= 19 �4>>=4), ?D5 

G?G_<64^4 74EF564 74 4>5<\4^5 E47?4E=>EF< =4 ?D54<5F=< �765LF4\. ' E>?44G E4 �4>>=>< 

>>\<< E5 GD5VG\5 ?>EFG?4> 4>=>L5^4 �������-4, >D74= =44?564= 74 ?D<?D5<G ??4=4 

>5465LF464 \46=>EF > =4G<=G < D>>>6<<4 74 G6<4 G E44D6<=G �765LF4\4 < 4>EF46]4^5 

<<L]5^4, >4> < 6D5<5=G < <5EFG >4D6464^4 \46=5 D4E?D465. 

�>7<F<6=> \5 44 =4 ?D>EF>DG >5GE64_5=>< �������-4 =<\5 56<45=F<D4= 65_< 5D>\ 

?D<D>4=<E < >G?FGD=<E 4>54D4, 65_<E <=4GEFD<\E><E < DG44DE><E >5\5>4F4, >4> =< 

>>?5>F<6=>7 EF4=>64^4, >>\< 5< 74EF564?< ?>E55=4 >7D4=<G5^4. 

�D< >4?GG<64^G G75F< EG G >57<D 65?<G<=4 < 7=4G4\ <>7G_<E =574F<6=<E < ?>7<F<6=<E 

GF<F4\4 ?D54?>65=<E ??4=E><E D5L5^4, G>]GGG\G_< 65D>64F=>_G =4EF4=>4, ?D>EF>D=< 

>5GE64F, 4G6<=G FD4\4^4, GG5EF4=>EF ?>=46]4^4, <=F5=7<F5F < 565=FG4?=5 >G<G?4F<6=5 < 

E<=5D75FE>5 5D5>F5. 

�4 ?>E55=5 \5 646=>EF< 445>64F=> < >FD4=E?4D5=F=>= G>]GG<64^5 E6<E 74<=F5D5E>64=<E 

EFD4=4 (<=65EF<F>D4, =44?56=<E 4D646=<E >D74=4, ?>>4?=<E G?D464, =56?44<=<E 

>D74=<74F<\4 < EF4=>6=<LF64) G ?D>F5E 4>=>L5^4 >4?G>4 > ?<F4^<<4 < ?D54?>65=<< 

<5D4<4 74LF<F5 6<6>F=5 ED54<=5 < 74D46]4 5>E?>=<D4=5 ?>?G?4F<\5. 

�D>7 <74464^5 GE?>64 < <<L]5^4, >4> < >>=EG?F4F<\4 < ?GF5< ?D575=F4F<\4 G E6<< D474<4 

<7D445 < D47<4FD4^4 %FD4F5L>5 ?D>F5=5, >55755VG\5 E5 GG5L_5 =44?56=<E >D74=4 < 

>D74=<74F<\4. 'G5L_5 74<=F5D5E>64=5 \46=>EF< < =56?44<=<E >D74=<74F<\4 >55755VG\5 E5 

?GF5< ED54EF464 \46=>7 <=D>D<<E^4 < G >>6<DG \46=>7 <7?474^4 �������-4. 

�D74= =44?564= 74 ?D<?D5<G �?4=4 <7D4VG\5 �765LF4\ > GG5L_G 74<=F5D5E>64=<E >D74=4 < 

>D74=<74F<\4 < \46=>EF< >>\< E44D6< E64 <<L]5^4 > %FD4F5L>>\ ?D>F5=< GF<F4\4, >4> < 

<<L]5^4 44F<E G F>>G \46=>7 G6<44 < \46=5 D4E?D465 > �������-4. �765LF4\ > %FD4F5L>>\ 

?D>F5=< GF<F4\4 =4 6<6>F=G ED54<=G (%�') 4>EF46]4 E5, 74\54=> E4 <765LF4\5< > EFDGG=<< 

<<L]5^<<4 < \46=>\ D4E?D46<, >D74=G =44?56=>< 74 74LF<FG 6<6>F=5 ED54<=5 =4 

>F5^<64^5. �4 >E=>6G >F5=5 >D74= =44?564= 74 74LF<FG 6<6>F=5 ED54<=5 44\5 E6>\G 

E47?4E=>EF =4 �765LF4\ > %�' G D>>G >4 30 44=4 >4 44=4 ?D<\5<4 74EF564 74 >F5^<64^5. 

�>E?5 ?D<>G?]4^4 < >5D445 E6<E <<L]5^4, >D74= =44?564= 74 ?D<?D5<G �?4=4 4>EF46]4 

�4FDF �?4=4 74\54=> E4 �765LF4\5< > EFD4F5L>>\ ?D>F5=< GF<F4\4 =4 6<6>F=G ED54<=G, 

=44?56=>< >D74=G =4 >4?GG<64^5. 
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�E=>6=< <5F>4>?>L>< ?D<EFG? 74 <7D44G >6>7 �765LF4\4 \5 ?D5G75F <7 �4>>=4 > EFD4F5L>>\ 

?D>F5=< GF<F4\4 =4 6<6>F=G ED54<=G (>%?. 7?4E=<> $%=, 5D. 135/2004 < 88/2010), 4?< < 4DG7<E 

?D>?<E4 <7 >5?4EF< 74LF<F5 6<6>F=5 ED54<=5. 

' <7D44< %FD4F5L>5 ?D>F5=5, ?>D54 =46545=>7 �������-4, >>D<L_5=< EG ?>44F< <7 

D4E?>?>6<65 4>>G<5=F4F<\5 ?D<546]5=5 G E4D44^< E4 D5?564=F=<< <=EF<FGF<\4<4, EFDGG=5 

?<F5D4FGD5, >4> < ?>7=4F4 EFD4=4 < 4><4_4 <E>GEF64. �4 >64\ =4G<= ?D<>G?]e=< EG ?>44FF< > 

>?<<<, ?D<D>4=<< < EF6>D5=<< >4D4>F5D<EF<>4<4, EF4=>6=<LF6G, EF4^G ?D<D>4=<E < 

>G?FGD=<E 4>54D4, >4> < 4DG75 ?>44F>5 <7 D4E?>?>6<65 4>>G<5=F4F<>=5 >E=>65. �>E55=> 

>>D<E=< EG 5<?< ?>44F< >5\46^5=< G >>6<DG %>F<\4?=5 < 5>>?>L>5 EFG4<\5 GF<F4\4 (SEIA), 74 

?>FD555 <77D44^5 4GF>-?GF4 �-761. 

�>E55=5 <5F>45 >>D<L_5=5 74 ?D>F5=G D<7<>4 ?> 6<6>F=G ED54<=G, >4> < 74 6D54=>64^5 

GF<F4\4 EG ?D5G75F5 >4 =4F<>=4?=<E < <5VG=4D>4=> ?D<7=4F<E <=EF<FGF<\4, >>\5 E5 5465 

?D54<5F=>< >5?4L_G (=46545=5 D4=<\5 G F5>EFG). 

 

 

VII/1 &�,���� ' ��$��� %&$�&�,�� �$�&��� '&�&��� 

�E=>6=5 F5L>>_5 G <7D44< %FD4F5L>5 ?D>F5=5 EG ?D><74L?5 <7 G<^5=<F4: 

- 44 =<EG 4>EFG?=< E6< D5?564=F=< ?>44F< > >=G?F><= EF4^G 6<6>F=5 ED54<=5, E F<< 44 E5 

>=< <>D4\G >557554<F< 74 D47G <7D445 %FG4<\4 ?D>F5=5 GF<F4\4; 

- 44 E5 D44< > ?D>EF>DG =4 >><5 EG 74EFG?]5=< >E5F]<6< 5>>E<EF5<<; 

- 44 \5 5><?<D4=>EF >E=>6=<< <=DD4EFDG>FGD=<< >5\5>F<<4 < <=EF4?4F<\4<4 =4 

?>E<4FD4=>< ?>4DGG\G =5744>6>]464\G_5, <  

- 44 E5 <>D4 G646<F< ?>EF>\5^5 65><4 7=4G4\=<E >5\5>4F4 G =5?>ED54=>< >>DG65^G 

(>5\5>F< 45D>4D><4, >5\5>F< 6>4>E=454564^4). 

���
''�� 
 

�4 >D4\G E5 <>65 74>]GG<F< 44 \5 D44< >EF64D<64^4 F<]564 �������-4, G?>65= 

>4D5V5=< =4?>D >4>> 5< E5 GE>?44<?< 74EF56< 74 74LF<F>< 6<6>F=5 ED54<=5 < ?>FD555 

5>>=><E>>7 < E>F<\4?=>7 D476>\4 =4 ?>E<4FD4=>< ?>4DGG\G. �>65 E5 74>]GG<F< < 44 \5 

>64\ �765LF4\ GD4V5= G E>?44G E4 �4>>=>< < G E>?44G E4 E46D5<5=<< ?D<EFG?>< 

?D>5?e<4F<F< 74LF<F5 6<6>F=5 ED54<=5, F5 ?D54EF46]4 4>5DG >E=>6G 74 <7D44G >EF4?<E 

4>>G<5=4F4 <7 >5?4EF< 74LF<F5 6<6>F=5 ED54<=5 G ?D>F5EG D54?<74F<\5 ??4=<D4=<E 

E44D64\4. 

 

 

 

 

 

 

 

 

 


